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[CSP-2]2 [Contd.

001.	 «ÄkLk{tºke ykËþo økúk{ ÞkusLkk (PMAGY) ytøku Lke[uLkk Ãkife fÞkt rðÄkLkku Mkk[kt Au ?

	 1. yk ÞkusLkkLkku WÆu~Þ yuðk økk{zkykuLkku yufef]ík rðfkMk fhðkLkku Au su{kt yLkwMkqr[ík òríkLke ðMíke 50% Úke ðÄw Au.

	 2. yk ÞkusLkk nuX¤ 10 zku{uLk nuX¤ 50 {kurLkxhuçk÷ Mkq[fkuLke rðøkíkku Mkqr[çkæÄ Au.

	 3. �yk ÞkusLkk nuX¤ økk{zkyku{kt ykðe ík{k{ yktíkh{k¤¾kfeÞ MkwrðÄkyku nþu yLku íkuLkk hnuðkMkeykuLku yuðe ík{k{ 
ÃkkÞkLke MkuðkykuLke «kÃÞíkk nþu su økkihðÃkqýo SðLk Sððk {kxu sYhe Au.

	 4. yk ÞkusLkk Ëhuf ÃkMktË fhu÷ økk{ {kxu fw÷ YrÃkÞk yuf fhkuzLke òuøkðkE fhu Au.

	 (A) 1, 2, 3 yLku 4		  (B) Võík 1, 2 yLku 3

	 (C) Võík 1 yLku 2		  (D) Võík 1

002.	 ònuh ¾[o ytøku Lke[uLkk Ãkife fÞk rðÄkLkku Mkk[kt Au ?

	 1. {nuMkq÷ ¾[o ÃkwLkhkðŠíkík «fkhLkku nkuÞ Au su Ëh ð»kuo fhðk{kt ykðu Au.

	 2. Wå[ {nuMkq÷ ¾[o yÚkoíktºkLke økheçke yLku ÃkAkíkÃkýwt Ëþkoðu Au.

	 3. Wå[ {qze ¾[o ftÃkLkeLkk Wå[ ¾kLkøke hkufkýLku Ëþkoðu Au.

	 4. {qze ¾[o {qíko yÚkðk y{qíko MktÃkr¥k yÚkðk [qfðýe sðkçkËkheykuLkk MktÃkkËLk{kt Ãkrhý{u Au.

	 (A) 1, 2, 3 yLku 4		  (B) Võík 1, 2 yLku 3

	 (C) Võík 1, 2 yLku 4		  (D) Võík 2, 3 yLku 4

003.	 Lke[uLkk Ãkife fÞwt / fÞkt rðÄkLk / rðÄkLkku hk»xÙeÞ ykðfLke økýíkhe ÃkæÄríkyku MktçktrÄík Mkk[wt / Mkk[kt Au ?

	 1. WíÃkkËLk ÃkæÄríkLku ykWxÃkwx ÃkæÄrík yÚkðk {qÕÞðŠÄík ÃkæÄrík íkhefu Ãký yku¤¾ðk{kt ykðu Au.

	 2. ¾[o ÃkæÄríkLku rðíkhý ÃkæÄrík Ãký fnuðkÞ Au.

	 3. ykðf ÃkæÄríkLku fw÷ ¾[o ÃkæÄrík íkhefu Ãký yku¤¾ðk{kt ykðu Au.

	 4. zuxkLke Mkh¤ WÃk÷çÄíkkLku fkhýu ¾[o ÃkæÄrík MkkiÚke ðÄw WÃkÞkuøk{kt ÷uðkíke ÃkæÄrík Au.

	 (A) Võík 1		  (B) Võík 1 yLku 4

	 (C) Võík 2, 3 yLku 4		  (D) 1, 2, 3 yLku 4

004.	 çknwÃkrh{kýeÞ økheçke Mkq[fktfLkk MktË¼o{kt Lke[uLkk Ãkife fE òuzeyku Mkk[e heíku òuzkÞu÷e Au ?

	 økheçkeLkwt Ãkrh{ký		  Mkq[fktfku

	 1. rþûký		  – þk¤kLkk ð»kkuo, þk¤k{kt nkshe

	 2. ykhkuøÞ		  – {kíkk {]íÞw Ëh, çkk¤ {]íÞw Ëh yLku yÃkurûkík ykÞw»Þ Ëh

	 3. SðLk Äkuhý		  – ÃkeðkLkwt Ãkkýe, hnuXký, hMkkuE çk¤íký, yMfÞk{íkku

	 (A) 1, 2, yLku 3		  (B) Võík 1 yLku 2

	 (C) Võík 2 yLku 3		  (D) Võík 1 yLku 3
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001.	� Which of the following statements is/are correct regarding Pradhan Mantri Aadarsh Gram Yojana 
(PMAGY)?

	 1. �The Scheme aims at integrated development of villages in which the population of Scheduled 
Castes is above 50%.

	 2. The particulars of the 50 Monitorable Indicators under 10 domains are listed under this scheme

	 3. �Under the scheme the villages would have all such infrastructure and its residents will have 
access to all such basic services that are necessary for a dignified living.

	 4. For each selected village the Scheme provides for a total of Rs. 1 crore.

	 (A) 1, 2, 3 and 4		  (B) 1, 2 and 3 only

	 (C) 1 and 2 only		  (D) 1 only

002.	 Which of the following statements are correct regarding Public Expenditure?

	 1. Revenue Expenditure is of recurring type which is incurred year after year

	 2. High revenue expenditure indicates poverty and backwardness of the economy

	 3. High capital expenditure indicates high private investment of company

	 4. �Capital expenditure results in the acquisition of a tangible or intangible asset or payment 
liabilities

	 (A) 1, 2, 3 and 4		  (B) 1, 2 and 3 only

	 (C) 1, 2 and 4 only		  (D) 2, 3 and 4 only

003.	� Which of the following statements is/are correct regarding computing methods of National 
Income?

	 1. Product method is also called as Output Method or Value added method

	 2. Expenditure Method is also called Distribution Method

	 3. Income method is also called as Total Outlay method

	 4. Expenditure method is the most used method due to the easy availability of data

	 (A) 1 only		  (B) 1 and 4 only

	 (C) 2, 3 and 4 only		  (D) 1, 2, 3 and 4

004.	 Which of the following pairs are correctly matched regarding Multi Dimensional Poverty Index?

	 Dimension of Poverty	 – Indicators

	 1. Education	 – Years of schooling, School Attendance

	 2. Health	 – Maternal Mortality rate, Infant Mortality rate and life expectancy rate

	 3. Standard of Living	 – Drinking Water, Housing, Cooking Fuel, Assets

	 (A) 1, 2 and 3		  (B) 1 and 2 only

	 (C) 2 and 3 only		  (D) 1 and 3 only
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005.	 Lke[uLkk Ãkife fE òuzeyku Mkk[e heíku òuzkÞu÷e Au ?

	 Mkr{ríkyku		  ytËkrsík økheçke

	 1. ze.xe. ÷kfzkðk÷k Mkr{rík		  54.9%

	 2. Mkwhuþ íkUzw÷fh Mkr{rík		  37.2%

	 3. htøkhksLk Mkr{rík		  29.5%

	 (A) 1, 2 yLku 3		  (B) Võík 2 yLku 3

	 (C) Võík 1 yLku 3		  (D) Võík 1 yLku 2

006.	 fh MktçktrÄík Lke[uLkk Ãkife fÞwt / fÞk rðÄkLk / rðÄkLkku Mkk[wt / Mkk[kt Au ?

	 (A) «íÞûk fhðuhk – Vwøkkðku ½xkzðk{kt {ËË fhe þfu Au.

	 (B) Ãkhkuûk fhðuhk – VwøkkðkLku «kuíMkknLk ykÃke þfu Au.

	 (C) Ãkhkuûk fh – [qfðýeLkku çkkus fkuE çkeò Ãkh ¾Mkuze þfkÞ Au.

	 (D) WÃkhkuõík ík{k{

007.	 GST nuX¤ Mk{krðü fh rðþu Lke[uLkk{ktÚke fÞwt / fÞkt rðÄkLk / rðÄkLkku ¾kuxwt / ¾kuxkt Au ?

	 (A) MkŠðMk xuõMk, MkuLxÙ÷ yuõMkkEÍ zâwxe yu GST nuX¤ Mk{krðü fuLÿeÞ fh Au.

	 (B) Ãkh[uMk xuõMk, ÷õÍhe xuõMk yu GST nuX¤ Mk{krðü hkßÞ fh Au.

	 (C) ðMíkw yLku MkuðkykuLkk ÃkwhðXkLku ÷økíkk fuLÿeÞ WÃkfh yLku MkuMk GST nuX¤ Mk{krðü LkÚke.

	 (D) WÃkhkuõík Ãkife fkuE Lknª

008.	 ¼khíkeÞ çksux ÃkæÄríkLke rðrðÄ ¾kÄ ytøku Lke[uLkk Ãkife fÞwt / fÞkt rðÄkLk / rðÄkLkku Mkk[wt / Mkk[kt Au ?

	 (A) {nuMkq÷ ¾kÄLku ònuh Ëuðwt fheLku yÚkðk rð{qzefhý îkhk yÚkðk {nuMkq÷e ¾[o{kt ½xkzku fheLku ÃknkU[e þfkÞ Au.

	 (B) �«kÚkr{f ¾kÄ ¼qíkfk¤Lke ÷kuLk Ãkh ÔÞksLke [qfðýeLkku ¼kh ðnLk fhíke LkÚke, íku Võík fw÷ Ëuðwt Mkq[ðu Au yLku fw÷ 
sðkçkËkheyku Lknª.

	 (C) (A) yLku (B) çktLku

	 (D) (A) yLku (B) çktLku Ãkife yufÃký Lknª

009.	 Lke[uLke ÞkËe-I Lku ÞkËe-II MkkÚku òuzku.

	 ÞkËe-I		  ÞkËe-II

	 1. çkkuBçku ÞkusLkk		  a) ykiãkurøkfefhý Ãkh ¼kh {qõÞku

	 2. yu{. rðïuïhiÞk ÞkusLkk		  b) 10 ð»ko{kt hk»xÙeÞ ykðf çk{ýe fhðkLkku ÷ûÞktf

	 3. MkðkuoËÞ ÞkusLkk		  c) sÞ«fkþ LkkhkÞý îkhk íkiÞkh fhðk{kt ykðe

	 4. økktÄeðkËe ÞkusLkk		  d) yuMk. yuLk. yøkhðk÷ îkhk íkiÞkh fhðk{kt ykðe
	 (A) 1 - a, 2 - b, 3 - c, 4 - d	 (B) 1 - b, 2 - c, 3 - d, 4 - a
	 (C) 1 - c, 2 - d, 3 - a, 4 - b	 (D) 1 - d, 2 - a, 3 - b, 4 - c
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[CSP-2] 5[P.T.O.

005.	 Which of the following pairs are correctly matched?
	 Committees		  Estimated Poverty
	 1. D. T. Lakdawala Committee	 54.9%
	 2. Suresh Tendulkar Committee	 37.2%
	 3. Rangarajan Committee	 29.5%
	 (A) 1, 2 and 3		  (B) 2 and 3 only
	 (C) 1 and 3 only		  (D) 1 and 2 only

006.	 Which of the following statement(s) is/are correct regarding taxes?
	 (A) Direct taxes – may help in reducing inflation
	 (B) Indirect taxes – may promote inflation
	 (C) Indirect Tax – burden of payment can be shifted to someone else
	 (D) All of the above

007.	 Which of the following statement(s) is/are incorrect regarding taxes subsumed under GST?
	 (A) Service tax, Central Excise Duty are the central taxes subsumed under GST
	 (B) Purchase tax, Luxury tax are the state taxes subsumed under GST
	 (C) �Central Surcharges and Cess relating to supply of Goods and Services not subsumed  

under GST
	 (D) None of the above

008.	� Which of the following statement(s) is/are correct regarding different deficits of Indian Budget 
System?

	 (A) �Revenue Deficit can be funded through borrowings from the public or through disinvestment 
or by cutting revenue expenditure

	 (B) �Primary Deficit does not carry the load of interest payments on past loans, it simply indicates 
total borrowings and not total liabilities

	 (C) Both (A) and (B)
	 (D) Neither (A) nor (B)

009.	 Match the following List-I with List-II
	 List-I	 List-II
	 1. Bombay Plan	 a) Emphasized on Industrialization
	 2. M.Visvesvaraya Plan	 b) Aimed to double the national income in 10 years
	 3. Sarvodaya Plan	 c) Drafted by Jayprakash Narayan
	 4. Gandhian Plan	 d) Drafted by SN Agarwal
	 (A) 1 - a, 2 - b, 3 - c, 4 - d	 (B) 1 - b, 2 - c, 3 - d, 4 - a
	 (C) 1 - c, 2 - d, 3 - a, 4 - b	 (D) 1 - d, 2 - a, 3 - b, 4 - c
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010.	 Lke[uLkk rðÄkLkku æÞkLku ÷ku.

	� rðÄkLk  1 : ¾wÕ÷k çkòhLke Lkerík RBI îkhk ¾wÕ÷k çkòh{kt Mkhfkhe ò{eLkøkeheykuLke ¾heËe yLku ðu[kýLkku  
WÕ÷u¾ fhu Au.

	 rðÄkLk 2 : Mkhfkhe ò{eLkøkeheykuLkwt ðu[ký fheLku RBI LkkýktLkku ÃkwhðXku ½xkzu Au.

	 (A) rðÄkLk 1 yLku 2 çktLku Mkk[kt Au yLku rðÄkLk 2 yu rðÄkLk 1 {kxuLke Mkk[e Mk{sqíke Au.

	 (B) rðÄkLk 1 yLku 2 çktLku Mkk[kt Au Ãkhtíkw rðÄkLk 2 yu rðÄkLk 1 {kxuLke Mkk[e Mk{sqíke LkÚke.

	 (C) rðÄkLk 1 Mkk[wt Au Ãkhtíkw rðÄkLk 2 ¾kuxwt Au.

	 (D) rðÄkLk 1 ¾kuxwt Au yLku rðÄkLk 2 Mkk[wt Au.

011.	 Lke[uLkk Ãkife fE òuzeyku Mkk[e heíku òuzkÞu÷e Au ?

	 MkkÄLk		  Vwøkkðku ½xkzðk {kxu

	 1. hkufz yLkk{ík «{ký (CRR)	 CRR{kt ðÄkhku fhðku

	 2. ðiÄkrLkf hkufzíkk «{ký (SLR)	 SLR{kt ½xkzku fhðku

	 3. çkUf Ëh		  çkUf Ëh{kt ðÄkhku fhðku

	 4. heðMko huÃkku hux (RRR)		  RRR{kt ½xkzku fhðku.

	 (A) 1, 2, 3 yLku 4		  (B) Võík 1 yLku 3

	 (C) Võík 2 yLku 4		  (D) Võík 2, 3 yLku 4

012.	 LkuþLk÷ Ãku{uLxTMk fkuÃkkuohuþLk ykuV RÂLzÞk (NPCI) çkkçkíku Lke[uLkk Ãkife fÞkt rðÄkLkku Mkk[kt Au ?

	 1. íku RBI yLku EÂLzÞLk çkUf yuMkkurMkyuþLkLke Ãknu÷ Au.

	 2. íku 2008 {kt rçkLk-÷k¼fkhe ftÃkLke íkhefu Mkk{u÷ fhðk{kt ykðe níke.

	 3. ÞwÃkeykE (UPI), RuPay fkzo yLku BHIM yuÃk NPCI îkhk rLkŠ{ík Au.

	 4. ¼khík{kt hexu÷ [qfðýe yLku Mkux÷{uLx rMkMx{Lkwt Mkt[k÷Lk fhðk {kxu yk yuf Aºk MktMÚkk Au.

	 (A) 1, 2, 3 yLku 4		  (B) Võík 1, 2 yLku 3

	 (C) Võík 1, 3 yLku 4		  (D) Võík 2, 3 yLku 4

013.	 Lke[uLke ÞkËe-I Lku ÞkËe-II MkkÚku òuzku.

	 ÞkËe-I	 ÞkËe-II

	 1. ykuLk MkkEx ATM	 a) yk «fkhLkwt ATM þk¾kLke ytËh yÚkðk íkuLke LkSf ÂMÚkík nkuÞ Au.

	 2. ÔnkEx ÷uçk÷ ATM	 b) ATMLke ÷eÍ MkŠðMk «kuðkEzhLke {kr÷feLke nkuÞ Au.

	 3. çkúkWLk ÷uçk÷ ATM	 c) rçkLk çku®Lføk MktMÚkkyku îkhk ATM Lke MÚkkÃkLkk, {kr÷fe yLku Mkt[k÷Lk

	 4. ðfoMkkEx ATM	 d) f{o[kheyku {kxu MktMÚkkLkk ÃkrhMkh{kt ÂMÚkík nkuÞ Au.
	 (A) 1 - a, 2 - b, 3 - c, 4 - d	 (B) 1 - a, 2 - c, 3 - b, 4 - d
	 (C) 1 - d, 2 - c, 3 - b, 4 - a	 (D) 1 - d, 2 - a, 3 - b, 4 - c
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010.	 Consider the following statements:

	� Statement 1 : Open market operations refer to the buying and selling of Government Securities in 
the open market by RBI

	 Statement 2 : By selling Government securities, RBI reduces the money supply

	 (A) Both Statements 1 and 2 are correct and statement 2 is the correct explanation for statement 1

	 (B) �Both Statements 1 and 2 are correct but Statement 2 is not the correct explanation for  
statement 1

	 (C) Statement 1 is correct but statement 2 is incorrect

	 (D) Statement 1 is incorrect and statement 2 is correct

011.	 Which of the following pairs are correctly matched?

	 Name of the Instrument		 In order to reduce inflation

	 1. Cash Reserve Ratio (CRR)	 Increase CRR

	 2. Statutory Liquidity Ratio (SLR)	 Decrease SLR

	 3. Bank Rate		  Increase Bank rate

	 4. Reverse Repo Rate (RRR)	 Decrease RRR

	 (A) 1, 2, 3 and 4		  (B) 1 and 3 only

	 (C) 2 and 4 only		  (D) 2, 3 and 4 only

012.	� Which of the following statements are correct regarding National Payments Corporation of  
India (NPCI)?

	 1. It is an initiative of RBI and Indian Banks Association

	 2. It was incorporated as a 'Not for Profit' Company in 2008

	 3. UPI, RuPay Card, and BHIM app are the major products of NPCI

	 4. This is an umbrella organization to operate Retail Payments and Settlement System in India

	 (A) 1, 2, 3 and 4		  (B) 1, 2 and 3 only

	 (C) 1, 3 and 4 only		  (D) 2, 3 and 4 only

013.	 Match the following List-I with List-II:

	 List-I	 List-II

	 1. Onsite ATM	 a) this type of ATM situated within or near to the Branch

	 2. White label ATM	 b) lease of the ATM is owned by the Service provider

	 3. Brown Label ATM	 c) ATMs set up, owned, operated by Non-Banking institutions

	 4. Worksite ATM	 d) located within the premises of an organization for their employees

	 (A) 1 - a, 2 - b, 3 - c, 4 - d	 (B) 1 - a, 2 - c, 3 - b, 4 - d

	 (C) 1 - d, 2 - c, 3 - b, 4 - a	 (D) 1 - d, 2 - a, 3 - b, 4 - c
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014.	� Lke[uLkk Ãkife fÞk ÔÞqnkí{f WÆu~Þku RBI îkhk LkkýkfeÞ Mk{kðuþ {kxuLke hk»xÙeÞ ÔÞqnh[Lkk (2019-2024) Lkk ¼køkYÃku 
yku¤¾ðk{kt ykðu Au ?

	 1. LkkýkfeÞ MkuðkykuLke Mkkðorºkf WÃk÷çÄíkk	 2. økúknf Mkwhûkk yLku VrhÞkË rLkðkhý

	 3. yMkhfkhf Mktf÷Lk		  4. {q¤¼qík ykhkuøÞ sYrhÞkíkku MkwÄe ÃknkU[

	 (A) Võík 1, 2 yLku 3	 (B) Võík 2, 3 yLku 4	 (C) Võík 1 yLku 4	 (D) 1, 2, 3 yLku 4

015.	 ¼khík{kt BÞwåÞwy÷ VtzTMk ytøku Lke[uLkk Ãkife fÞwt / fÞk rðÄkLk / rðÄkLkku Mkk[wt / Mkk[kt Au ?

	 rðÄkLk 1 : BÞwåÞwy÷ VtzLke [kuÏ¾e r{÷fík {qÕÞ BÞwåÞwy÷ VtzLkk ðíko{kLk hkufký {qÕÞLku Ëþkoðu Au.

	 rðÄkLk 2 : íkh÷íkk ðÄkhu Au fkhý fu BÞwåÞwy÷ Vtz Mkh¤íkkÚke ðu[e þfkÞ Au.

	 (A) rðÄkLk 1 yLku 2 çktLku Mkk[kt Au yLku rðÄkLk 2 yu rðÄkLk 1 {kxuLke Mkk[e Mk{sqíke Au.

	 (B) rðÄkLk 1 yLku 2 çktLku Mkk[kt Au Ãkhtíkw rðÄkLk 2 yu rðÄkLk 1 {kxuLke Mkk[e Mk{sqíke LkÚke.

	 (C) rðÄkLk 1 Mkk[wt Au Ãkhtíkw rðÄkLk 2 ¾kuxwt Au.

	 (D) rðÄkLk 1 ¾kuxwt Au yLku rðÄkLk 2 Mkk[wt Au.

016.	 Lke[uLkk rðÄkLkku æÞkLku ÷ku.

	 rðÄkLk 1 : xe-rçkÕMk, fku{ŠþÞ÷ ÃkuÃkMko yLku MkxeoVefuxTMk ykuV zeÃkkuÍexTMk yu Lkkýkt çkòhLkk MkkÄLkku Au.

	 rðÄkLk 2 : EÂõðxe þuh, «uVhLMk þuh, rzçkuL[h yLku çkkuLz yu {qze çkòhLkk MkkÄLkku Au.

	 (A) rðÄkLk 1 yLku 2 çktLku Mkk[kt Au yLku rðÄkLk 2 yu rðÄkLk 1 {kxuLke Mkk[e Mk{sqíke Au.

	 (B) rðÄkLk 1 yLku 2 çktLku Mkk[kt Au Ãkhtíkw rðÄkLk 2 yu rðÄkLk 1 {kxuLke Mkk[e Mk{sqíke LkÚke.

	 (C) rðÄkLk 1 Mkk[wt Au Ãkhtíkw rðÄkLk 2 ¾kuxwt Au.

	 (D) rðÄkLk 1 ¾kuxwt Au yLku rðÄkLk 2 Mkk[wt Au.

017.	 Lke[uLkk Ãkife fE 2015-16 Lke 10 {e f]r»k ðMíke økýíkheLke rðþu»kíkk LkÚke ?

	 (A) s{eLk ÄkhýLkwt Mkhuhkþ fË ½xe hÌkwt Au.

	 (B) ¾uíke nuX¤Lkk fw÷ rðMíkkh{kt LkkUÄÃkkºk ðÄkhku ÚkÞku Au.

	 (C) LkkLkk yLku Mke{ktík ¾uíkhkuLke MktÏÞk{kt ðÄkhku ÚkÞku Au.

	 (D) LkkLkk yLku Mke{ktík ¾uzqíkkuLkwt «{ký ðæÞwt Au.

018.	 Lke[uLkk Ãkife fE òuzeyku Mkk[e heíku òuzkÞu÷e Au ?

	 1. r{© Ãkkf – [ku¬Mk ÃkuxLko rðLkk yuf s Mk{Þu rðrðÄ Ãkkf

	 2. yktíkh Ãkkf – [ku¬Mk ÃkuxLko MkkÚku yuf s Mk{Þu rðrðÄ Ãkkf

	 3. ¢{çkæÄ Ãkkf – ÷ýýe Ãknu÷k çkeò ÃkkfLku «Úk{ Ãkkf{kt hkuÃkðk{kt ykðu Au.

	 4. he÷u Ãkkf – «Úk{ ÃkkfLke ÷ýýe ÃkAe çkeò ÃkkfLkwt ðkðuíkh fhðk{kt ykðu Au.

	 (A) Võík 1 yLku 2	 (B) Võík 3 yLku 4	 (C) Võík 1, 2 yLku 3	 (D) 1, 2, 3 yLku 4
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014.	� Which of the following are the strategic objectives identified by the RBI, as part of the National 
Strategy for Financial Inclusion (2019-2024)?

	 1. Universal Access to Financial Services
	 2. Customer Protection and Grievance Redressal
	 3. Effective Coordination
	 4. Access to Basic Health Needs
	 (A) 1, 2 and 3 only	 (B) 2, 3 and 4 only	 (C) 1 and 4 only	 (D) 1, 2, 3 and 4

015.	 Which of the following statement(s) is/are correct regarding Mutual Funds in India?
	� Statement 1 : �Net Asset Value of Mutual funds represents the current Investment value of the 

Mutual Funds
	 Statement 2 : Liquidity is high as the mutual funds can be sold easily
	 (A) Both Statements 1 and 2 are correct and statement 2 is the correct explanation for statement 1
	 (B) �Both Statements 1 and 2 are correct but Statement 2 is not the correct explanation for  

statement 1
	 (C) Statement 1 is correct but statement 2 is incorrect
	 (D) Statement 1 is incorrect and statement 2 is correct

016.	 Consider the following statements:
	� Statement 1 : �T-Bills, Commercial papers and certificates of deposits are instruments of money 

markets
	� Statement 2 : �Equity shares, preference shares, debentures and bonds are the instruments of 

Capital markets
	 (A) Both Statements 1 and 2 are correct and statement 2 is the correct explanation for statement 1
	 (B) �Both Statements 1 and 2 are correct but Statement 2 is not the correct explanation for  

statement 1
	 (C) Statement 1 is correct but statement 2 is incorrect
	 (D) Statement 1 is incorrect and statement 2 is correct

017.	 Which one of the following is not a highlight of the 10th agriculture census 2015-16?
	 (A) The average size of land holding is decreasing
	 (B) The total area under farming increased substantially
	 (C) The number of small and marginal farms increased
	 (D) The proportion of small and marginal farmers increased

018.	 Which of the following pairs are correctly matched?
	 1. Mixed cropping – Different crops at the same time without definite pattern
	 2. Intercropping – Different crops at the same time with definite pattern
	 3. Sequence cropping – Second crop is planted into the first crop before harvest
	 4. Relay cropping – Second crop is planted after harvest of first crop
	 (A) 1 and 2 only	 (B) 3 and 4 only	 (C) 1, 2 and 3 only	 (D) 1, 2, 3 and 4
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019.	 «ÄkLk{tºke VMk÷ ðe{k ÞkusLkk (PMFBY) ytøku Lke[uLkk Ãkife fÞk rðÄkLkku Mkk[kt Au ?

	 1. íku yuf hk»xÙ - yuf ÞkusLkkLkk rMkæÄktík Ãkh ykÄkrhík Au.

	 2. yk ÞkusLkkyu ËuþLkk fw÷ Ãkkf rðMíkkhLkk ðe{k fðhusLku 23% Úke ðÄkheLku 90% fhe Au.

	 3. yk ÞkusLkk rðMíkkh yr¼øk{Lkk ykÄkhu ÷køkw fhðk{kt ykðe hne Au.

	 (A) 1, 2 yLku 3		  (B) Võík 2 yLku 3

	 (C) Võík 1 yLku 3		  (D) Võík 1 yLku 2

020.	 økúknf Mkwhûkk yrÄrLkÞ{ 2019 nuX¤ økúknfku {kxu Lke[uLkk Ãkife fÞk yrÄfkhkuLke ¾kíkhe ykÃkðk{kt ykðu Au ?

	 1. ÃkMktË fhðkLkku yrÄfkh

	 2. Mk÷k{íkeLkku yrÄfkh

	 3. {krníke {u¤ððkLkku yrÄfkh

	 4. Mkkt¼¤ðkLkku yrÄfkh

	 5. 30 rËðMk{kt VrhÞkË rLkðkhýLkku yrÄfkh

	 (A) 1, 2, 3, 4 yLku 5		  (B) Võík 1, 2 yLku 3

	 (C) Võík 2, 3 yLku 4		  (D) Võík 1, 2, 3 yLku 4

021.	 Lke[uLkk Ãkife fE òuzeyku Mkk[e heíku òuzkÞu÷e Au ?

	 1. s{eLkËkhe ÔÞðMÚkk – s{eLkËkhkuLku s{eLkLkk {kr÷f íkhefu yku¤¾ðk{kt ykðíkk níkk.

	 2. {nk÷ðkhe ÔÞðMÚkk – s{eLk ÃkhLkk {kr÷fe n¬ku ¾uzqík ÃkkMku níkk.

	 3. �s{eLkËkhe ÔÞðMÚkk – yk ÔÞðMÚkk nuX¤ Mkqfe s{eLkku {kxu 50% yLku ®Mk[kEðk¤e s{eLkku {kxu 60% {nuMkq÷ Ëh 
÷kËðk{kt ykÔÞku níkku.

	 (A) Võík 1 yLku 2		  (B) Võík 2 yLku 3

	 (C) Võík 1 yLku 3		  (D) 1, 2 yLku 3

022.	 Lke[uLkk rðÄkLkku æÞkLku ÷ku.

	� rðÄkLk 1 : 1991Lke Lkðe ykiãkurøkf LkeríkLkku nuíkw ËuþLkk ykiãkurøkf {k¤¾kLke rðMktøkíkíkkyku yLku Lkçk¤kEykuLku  
MkwÄkhðkLkku níkku.

	 rðÄkLk 2 : yk Lkerík rLkÞ{Lk fhíkkt rðfkMkLku ðÄw {n¥ð ykÃku Au.

	 (A) rðÄkLk 1 yLku 2 çktLku Mkk[kt Au yLku rðÄkLk 2 yu rðÄkLk 1 {kxuLke Mkk[e Mk{sqíke Au.

	 (B) rðÄkLk 1 yLku 2 çktLku Mkk[kt Au Ãkhtíkw rðÄkLk 2 yu rðÄkLk 1 {kxuLke Mkk[e Mk{sqíke LkÚke.

	 (C) rðÄkLk 1 Mkk[wt Au Ãkhtíkw rðÄkLk 2 ¾kuxwt Au.

	 (D) rðÄkLk 1 ¾kuxwt Au yLku rðÄkLk 2 Mkk[wt Au.
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019.	� Which of the following statements are correct regarding Pradhan Mantri Fasal Bima Yojana 
(PMFBY)?

	 1. It is based on the principle of One Nation-One Scheme

	 2. �It has increased the insurance coverage from 23% to 90% of the Gross Cropped Area of  
the Country

	 3. The scheme is being implemented on Area Approach Basis

	 (A) 1, 2 and 3		  (B) 2 and 3 only

	 (C) 1 and 3 only		  (D) 1 and 2 only

020.	� Which of the following rights are assured for the consumers under The Consumer Protection  
Act 2019?

	 1. Right to Choose

	 2. Right to Safety

	 3. Right to be Informed

	 4. Right to be Heard

	 5. Right to Grievance redressal in 30 days

	 (A) 1, 2, 3, 4 and 5		  (B) 1, 2 and 3 only

	 (C) 2, 3 and 4 only		  (D) 1, 2, 3 and 4 only

021.	 Which of the following pairs are correctly matched?

	 1. Zamindari System- Zamindars were recognized as owners of the land

	 2. Mahalwari System- Ownerships rights on land was vested with the peasant

	 3. �Zamindari system – Under this system rate of revenue imposed was 50% for dry lands & 60% 
for irrigated lands

	 (A) 1 and 2 only		  (B) 2 and 3 only

	 (C) 1 and 3 only		  (D) 1, 2 and 3

022.	 Consider the following statements:

	� Statement 1 : �New Industrial Policy of 1991 aimed to correct the distortion and weaknesses of the 
industrial structure of the country

	 Statement 2 : This policy gave more importance to development than regulation

	 (A) Both Statements 1 and 2 are correct and statement 2 is the correct explanation for statement 1

	 (B) �Both Statements 1 and 2 are correct but Statement 2 is not the correct explanation for  
statement 1

	 (C) Statement 1 is correct but statement 2 is incorrect

	 (D) Statement 1 is incorrect and statement 2 is correct
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023.	 ¼khík{kt ykiãkurøkf Lkeríkyku ytøku Lke[uLkk{ktÚke fÞwt rðÄkLk ¾kuxwt Au ?

	 (A) 1948Lkku ykiãkurøkf Lkerík Xhkð MÃkü fhu Au fu ¼khík r{© ykŠÚkf ÔÞðMÚkk yÃkLkkðþu.

	 (B) 1956Lke Lkerík{kt VhrsÞkík ÃkhðkLkkLke òuøkðkE Ëk¾÷ fhðk{kt ykðe níke.

	 (C) 1973Lke Lkerík{kt {q¤¼qík WãkuøkkuLkku ÏÞk÷ hsq fhðk{kt ykÔÞku níkku.

	 (D) 1977 Lke Lkeríkyu ík{k{ ûkuºkku{kt rðËuþe hkufkýLku «kuíMkknLk ykÃÞwt níkwt.

024.	 Lke[uLkk Ãkife fÞwt / fÞkt ¼khíkLkk rðËuþe {wÿk ¼tzkhLkk ½xf / ½xfku Au ?
	 1. rðËuþe {wÿk yMfÞk{íkku		  2. Mkwðýo ¼tzkh
	 3. heÍðo xÙkLMk ÃkkuÍeþLk		  4. rðþu»k WÃkkz yrÄfkh
	 (A) 1, 2, 3 yLku 4		  (B) Võík 2, 3 yLku 4
	 (C) Võík 3 yLku 4		  (D) Võík 4

025.	 Lke[uLkk rðÄkLkku æÞkLku ÷ku.

	� rðÄkLk 1 : �ÃkrhðíkoLkeÞíkkLkku yÚko yu Au fu rðËuþe rðrLk{Þ çkòh{kt ËuþLkwt [÷ý {wõíkÃkýu yLÞ [÷ý{kt YÃkktíkrhík fhe 
þfkÞ Au.

	 rðÄkLk 2 : YrÃkÞku [k÷w ¾kíkk Ãkh MktÃkqýoÃkýu ÃkrhðíkoLkeÞ Au yLku {qze ¾kíkk Ãkh yktrþf heíku ÃkrhðíkoLkeÞ Au.

	 (A) rðÄkLk 1 yLku 2 çktLku Mkk[kt Au yLku rðÄkLk 2 yu rðÄkLk 1 {kxuLke Mkk[e Mk{sqíke Au.

	 (B) rðÄkLk 1 yLku 2 çktLku Mkk[kt Au Ãkhtíkw rðÄkLk 2 yu rðÄkLk 1 {kxuLke Mkk[e Mk{sqíke LkÚke.

	 (C) rðÄkLk 1 Mkk[wt Au Ãkhtíkw rðÄkLk 2 ¾kuxwt Au.

	 (D) rðÄkLk 1 ¾kuxwt Au yLku rðÄkLk 2 Mkk[wt Au.

026.	 Lke[uLke ÞkËe-I Lku ÞkËe-II MkkÚku òuzku
	 ÞkËe-I		  ÞkËe-II

	 1. ykE.yu{.yuV. (IMF)		  a) rðï çkUf sqÚk
	 2. ykE.çke.ykh.ze. (IBRD)	 b) MktÞwõík hk»xÙLke MðkÞ¥k MktMÚkk
	 3. LÞw zuð÷Ãk{uLx çkUf		  c) òÃkkLk MkkiÚke {kuxku rnMMkku Ähkðu Au.
	 4. yurþÞLk zuð÷Ãk{uLx çkUf		  d) þkt½kE, 2015
	 (A) 1 - a, 2 - b, 3 - c, 4 - d	 (B) 1 - b, 2 - a, 3 - d, 4 - c
	 (C) 1 - c, 2 - d, 3 - a, 4 - b	 (D) 1 - d, 2 - b, 3 - c, 4 - a

027.	 rðï ðuÃkkh MktøkXLk (WTO) ytøku Lke[uLkk Ãkife fÞkt rðÄkLkku Mkk[kt Au ?

	 1. ¼khík WTOLkwt MÚkkÃkf MkÇÞ Au.

	 2. WTO MkÇÞ çkkÌk ÔÞkÃkkhe MktçktÄkuLkk yk[hý{kt MktÃkqýo MðkÞ¥kíkk MkkÚku fMx{ûkuºkLkku nkuðku òuEyu.

	 3. �WTO ËuþkuLkk LkkýkfeÞ rnMMkk yLkwMkkh {íkËkLkLkk yrÄfkhkuLku yLkwMkhu Au suLkku {ík÷çk yu Au fu Mk{kLk {íkËkLk 
yrÄfkhku LkÚke.

	 (A) 1, 2 yLku 3	 (B) Võík 2 yLku 3	 (C) Võík 1 yLku 3	 (D) Võík 1 yLku 2
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023.	 Which one of the following statements is incorrect regarding industrial policies in India?
	 (A) �Industrial Policy Resolution of 1948 made it clear that India will adopt a mixed  

economic system.
	 (B) The provision of compulsory licensing was introduced in the policy of 1956
	 (C) The concept of core industries was introduced in the policy of 1973
	 (D) The policy of 1977 encouraged foreign investment in all areas

024.	 Which of the following is/are component(s) of Foreign exchange reserves of India?
	 1. Foreign Currency Assets	 2. Monetary Gold
	 3. Reserve Tranche Position	 4. Special Drawing Rights
	 (A) 1, 2, 3 and 4	 (B) 2, 3 and 4 only	 (C) 3 and 4 only	 (D) 4 only

025.	 Consider the following statements:
	� Statement 1 : �Convertibility means that currency of a country can be freely converted into another 

currency in foreign exchange market.
	� Statement 2 : �Rupee is made fully convertible on current account and partially convertible on 

capital account.
	 (A) Both Statements 1 and 2 are correct and statement 2 is the correct explanation for statement 1
	 (B) �Both Statements 1 and 2 are correct but Statement 2 is not the correct explanation for  

statement 1
	 (C) Statement 1 is correct but statement 2 is incorrect
	 (D) Statement 1 is incorrect and statement 2 is correct

026.	 Match the following List-I with List-II:
	 List-I		  List-II
	 1. IMF		  a) World Bank Group
	 2. IBRD		  b) Autonomous Organization of United Nations
	 3. New Development Bank	 c) Japan holds the largest portion
	 4. Asian Development Bank	 d) Shanghai, 2015
	 (A) 1 - a, 2 - b, 3 - c, 4 - d	 (B) 1 - b, 2 - a, 3 - d, 4 - c
	 (C) 1 - c, 2 - d, 3 - a, 4 - b	 (D) 1 - d, 2 - b, 3 - c, 4 - a

027.	 Which of the following statements are correct regarding World Trade Organization (WTO)?
	 1. India is the founder member of the WTO
	 2. �A WTO member must be a customs territory with full autonomy in conduct of external 

commercial relations
	 3. �WTO follows voting rights according to the monetary share of the countries, means no equal 

voting rights
	 (A) 1, 2 and 3	 (B) 2 and 3 only	 (C) 1 and 3 only	 (D) 1 and 2 only
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028.	 ðMíke rð»kÞf Mkt¢{ýLkk rMkæÄktíkLkk MktË¼o{kt Lke[uLkk Ãkife fE òuzeyku Mkk[e heíku òuzkÞu÷e Au ?

	 1. «Úk{ íkçk¬ku – ÷øk¼øk þqLÞ ðMíke ð]rØ

	 2. çkeòu íkçk¬ku – ðMíke ½xíkk Ëhu ðÄu Au

	 3. ºkeòu íkçk¬ku – Lke[ku {]íÞw Ëh yLku Lke[ku sL{ Ëh

	 (A) 1, 2 yLku 3	 (B) Võík 2 yLku 3	 (C) Võík 1 yLku 3	 (D) Võík 1 yLku 2

029.	 Lke[uLkk rðÄkLkku æÞkLku ÷ku.

	� rðÄkLk 1 : çkk¤ òrík økwýku¥khLku 0 Úke 6 ð»koLke ðÞ sqÚk{kt 1000 Akufhkyku ËeX AkufheykuLke MktÏÞk íkhefu ÔÞkÏÞkrÞík 
fhðk{kt ykðu Au.

	 rðÄkLk 2 : ¼khík{kt 2001 yLku 2011 ðå[u çkk¤ òrík økwýku¥kh{kt íkeðú ðÄkhku ÚkÞku Au.

	 (A) rðÄkLk 1 yLku 2 çktLku Mkk[kt Au yLku rðÄkLk 2 yu rðÄkLk 1 {kxuLke Mkk[e Mk{sqíke Au.

	 (B) rðÄkLk 1 yLku 2 çktLku Mkk[kt Au Ãkhtíkw rðÄkLk 2 yu rðÄkLk 1 {kxuLke Mkk[e Mk{sqíke LkÚke.

	 (C) rðÄkLk 1 Mkk[wt Au Ãkhtíkw rðÄkLk 2 ¾kuxwt Au.

	 (D) rðÄkLk 1 ¾kuxwt Au yLku rðÄkLk 2 Mkk[wt Au.

030.	� ¾wÕ÷k yÚkoíktºk{kt hk»xÙeÞ ykðf (Y) = .......... ? (C, I, G, X yLku M yLkw¢{u ðÃkhkþ, {qzehkufký, ònuh ¾[o, fw÷ 
rLkfkMk y™u fw÷ ykÞkík Ëþkoðu Au.)

	 (A) Y = C + I + G + X		  (B) Y = C + I + G – X + M
	 (C) Y = C + I + G + (X – M)	 (D) Y = C + I – G + X – M

031.	 MkkuE÷ nuÕÚk fkzo ÞkusLkk ytøku Lke[uLkk Ãkife fÞkt rðÄkLkku Mkk[kt Au ?

	 1. ykLkku y{÷ hkßÞ Mkhfkhku îkhk {kxeLkk Lk{qLkkLkk Mktøkún îkhk fhðk{kt ykðu Au.

	 2. ¾uzqíkkuLku ykÃkðk{kt ykðu÷k fkzo{kt 12 Ãkrh{kýkuLke rðøkíkku Ëþkoððk{kt ykðe Au.

	 3. «Úk{ [¢ 2015 Úke 2017 Ëhr{ÞkLk yLku çkeswt [¢ 2017 Úke 2019 Ëhr{ÞkLk nkÚk Ähðk{kt ykÔÞwt níkwt.

	 4. yk fkzTMko{kt ºký {u¢ku LÞwxÙeyLxTMk – N, P yLku K Au.

	 (A) 1, 2, 3 yLku 4	 (B) Võík 2, 3 yLku 4	 (C) Võík 1, 2 yLku 3	 (D) Võík 1 yLku 4

032.	 Lke[uLke ÞkËe-I Lku ÞkËe-II MkkÚku òuzku

	 ÞkËe-I	 ÞkËe-II

	 1. LkðhíLk	 a) hk»xÙeÞ RMÃkkík rLkøk{ r÷{exuz

	 2. ©uýe-I r{LkehíLk	 b) 300 fhkuz YrÃkÞk MkwÄe MkhfkhLke {tsqhe rðLkk {qze ¾[o fhðk {kxu LkkýkfeÞ MðkÞ¥kíkk

	 3. ©uýe-II r{LkehíLk	 c) �150 fhkuz YrÃkÞk MkwÄe MkhfkhLke {tsqhe rðLkk {qze ¾[o fhðk {kxu LkkýkfeÞ MðkÞ¥kíkk

	 4. {nkhíLk	 d) Ãkkðh økúez fkuÃkkuohuþLk ykuV EÂLzÞk r÷{exuz
	 (A) 1 - a, 2 - b, 3 - c, 4 - d	 (B) 1 - d, 2 - c, 3 - b, 4 - a
	 (C) 1 - c, 2 - b, 3 - a, 4 - d	 (D) 1 - d, 2 - a, 3 - c, 4 - b
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028.	� Which of the following pairs are correctly matched regarding the theory of demographic 
transition?

	 1. Stage-I – Almost Zero Population Growth
	 2. Stage-II – Population grows at a diminishing rate
	 3. Stage-III – Low Death rate and Low Birth rate
	 (A) 1, 2 and 3	 (B) 2 and 3 only	 (C) 1 and 3 only	 (D) 1 and 2 only

029.	 Consider the following statements:
	� Statement 1 : �Child Sex Ratio is defined as the number of girls per 1000 boys in the age group of 

0 - 6 years
	 Statement 2 : In India there is a sharp increase in child sex ratio between 2001 and 2011.
	 (A) Both Statements 1 and 2 are correct and statement 2 is the correct explanation for statement 1
	 (B) �Both Statements 1 and 2 are correct but Statement 2 is not the correct explanation for  

statement 1
	 (C) Statement 1 is correct but statement 2 is incorrect
	 (D) Statement 1 is incorrect and statement 2 is correct

030.	� In an open economy, the National Income (Y) of the economy is (C, I, G, X, M stand for consumption, 
investment, government expenditure, total exports, and total imports, respectively.) _______.

	 (A) Y = C + I + G + X		  (B) Y = C + I + G – X + M
	 (C) Y = C + I + G + (X – M)	 (D) Y = C + I – G + X – M

031.	 Which of the following statements are correct regarding Soil Health Card Scheme?
	 1. This is implemented by the State Governments through collection of soil sample
	 2. Details of 12 parameters are mentioned in the card given to farmer
	 3. �The first cycle was conducted from 2015 to 2017 and the second cycle was conducted from  

2017 to 2019
	 4. These cards have three macro nutrients i.e N, P and K
	 (A) 1, 2, 3 and 4	 (B) 2, 3 and 4 only	 (C) 1, 2 and 3 only	 (D) 1 and 4 only

032.	 Match the following List-I with List-II
	 List-I	 List-II
	 1. Navaratna	 a) Rashtriya Ispat Nigam Limited
	 2. Category-I Miniratna	 b) �Financial autonomy to incur capital expenditure  without 

government approval up to Rs. 300 crores
	 3. Category-II Miniratna	 c) �Financial autonomy to incur capital expenditure without 

government approval up to Rs. 150 crores
	 4. Maharatna	 d) Power Grid Corporation of India Limited
	 (A) 1 - a, 2 - b, 3 - c, 4 - d	 (B) 1 - d, 2 - c, 3 - b, 4 - a
	 (C) 1 - c, 2 - b, 3 - a, 4 - d	 (D) 1 - d, 2 - a, 3 - c, 4 - b
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033.	 ¼khík{kt rðþu»k ykŠÚkf rðMíkkh (SEZ) çkkçkíku Lke[uLkk Ãkife fÞwt / fÞkt rðÄkLk / rðÄkLkku ¾kuxwt / ¾kuxkt Au ?

	 1. 2004{kt MktMkË îkhk SEZ fkÞËku ÃkMkkh fhðk{kt ykÔÞku níkku.

	 2. �SEZ fkÞËku rLkfkMk «kuíMkknLk yLku MktçktrÄík RL£kMxÙõ[hLkk rLk{koý{kt hkßÞ MkhfkhkuLke {wÏÞ ¼qr{fkLke ÃkrhfÕÃkLkk 
fhu Au.

	 3. SEZ rLkÞ{ku rðrðÄ «fkhLkk SEZ {kxu rðrðÄ ÷½w¥k{ s{eLkLke sYrhÞkík Ãkqhe Ãkkzu Au.

	 4. SEZ rLkÞ{ku SEZLke MÚkkÃkLkk {kxu ®Mkøk÷ rðLzku Âõ÷ÞhLMk «ËkLk fhu Au.

	 (A) 1, 2, 3 yLku 4		  (B) Võík 2 yLku 4

	 (C) Võík 1		  (D) Võík 3 yLku 4

034.	 ¼khík{kt xur÷fkuBÞwrLkfuþLk rðþu Lke[uLkk Ãkife fÞkt rðÄkLkku Mkk[kt Au ?

	 1. xur÷fku{ huøÞw÷uxhe ykuÚkkurhxe ykuV EÂLzÞkLke MÚkkÃkLkk 20, Vuçkúwykhe 1997 Lkk hkus fhðk{kt ykðe níke.

	 2. �LÞq xur÷fku{ Ãkkur÷Mke 1999 yu ykuÃkhuxhkuLke MktÏÞk Ãkh fkuEÃký rLkÞtºkýku rðLkk ¾kLkøke ykuÃkhuxhku {kxu hk»xÙeÞ 
÷ktçkk‑ytíkhLke Mkuðk ¾wÕ÷e {wfe Au.

	 3. LkuþLk÷ xur÷fku{ Ãkkur÷Mke 2012Lkku ¼kh xur÷fku{ MkuõxhLke MÃkÄkoí{fíkk ðÄkhðk Ãkh níkku.

	 (A) 1, 2 yLku 3		  (B) Võík 2 yLku 3

	 (C) Võík 1 yLku 3		  (D) Võík 1 yLku 2

035.	 ykð~Þf [esðMíkw yrÄrLkÞ{ ytøku Lke[uLkk Ãkife fÞk rðÄkLkku Mkk[kt Au ?

	 1. �ykð~Þf [esðMíkw yrÄrLkÞ{ Mkki «Úk{ 1955 {kt ÃkMkkh fhðk{kt ykÔÞku níkku yLku íÞkhçkkË Mkhfkhu ykð~Þf 
[esðMíkwyku (MkwÄkhku) fkÞËku 2020 ÃkMkkh fÞkuo níkku.

	 2. {k[o 2020{kt fuLÿ Mkhfkhu yk yrÄrLkÞ{ nuX¤ {kMf yLku nuLz MkurLkxkEÍhLkku Mk{kðuþ fÞkuo.

	 3. yk yrÄrLkÞ{Lkku nuíkw Mktøkún¾kuhe yLku fk¤kçkòhe hkufðkLkku Au.

	 4. �yk fkÞËk nuX¤ Mkhfkh fkuEÃký Ãkuõz «kuzõx fu suLku ykð~Þf [esðMíkw íkhefu ònuh fhu íkuLke {n¥k{ Aqxf ®f{ík 
(MRP) Ãký Lk¬e fhe þfu Au.

	 (A) Võík 1, 2 yLku 4		  (B) Võík 1, 3 yLku 4

	 (C) Võík 1, 2 yLku 3		  (D) 1, 2, 3 yLku 4

036.	 Lke[uLkk Ãkife fÞwt ¼khík{kt [k÷w ¾kíkkLke ¾kÄLkwt MkkiÚke yøkíÞLkw fkhý çkLke þfu Au ?

	 1. MÃkkuxToMk Þwxe÷exe ÂÔnf÷ ÃkhLke yuõMkkEÍ zâqxe{kt ½xkzku

	 2. MkkuLkk ÃkhLke fMx{ zâwxe{kt ½xkzku

	 3. zwtøk¤eLke rLkfkMk Ãkh «ríkçktÄ

	 (A) Võík 1 yLku 2		  (B) Võík 2 yLku 3

	 (C) Võík 1 yLku 3		  (D) 1, 2 yLku 3
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033.	� Which of the following statement(s) is/are incorrect regarding Special Economic Zones (SEZs)  
in India?

	 1. The SEZs Act was passed by Parliament in 2004

	 2. �The SEZs Act envisages key role for the State Governments in Export Promotion and creation 
of related infrastructure

	 3. The SEZ rules provide for different minimum land requirement for different class of SEZs.

	 4. SEZ rules provide for single window clearance for setting up of an SEZ

	 (A) 1, 2, 3 and 4		  (B) 2 and 4 only

	 (C) 1 only		  (D) 3 and 4 only

034.	 Which of the following statements are correct regarding Telecommunication in India?

	 1. Telecom Regulatory Authority of India was set up on February 20, 1997

	 2. �New Telecom Policy 1999 has opened the National Long Distance Service to private operators 
without any restrictions on the number of operators.

	 3. �The thrust of National Telecom Policy 2012 was on raising the competitiveness of India’s  
Telecom Sector.

	 (A) 1, 2 and 3		  (B) 2 and 3 only

	 (C) 1 and 3 only		  (D) 1 and 2 only

035.	 Which of the following statements are correct regarding the Essential Commodities Act?

	 1. �The Essential Commodities Act was first passed in 1955 and then government passed Essential 
Commodities (Amendment) Act 2020.

	 2. In March 2020, the Union Government brought masks and hand sanitizers under this Act.

	 3. The purpose of this Act is to check hoarding and black marketing.

	 4. �Under this Act, the government can also fix Maximum Retail Price (MRP) of any packed 
product that it declares as essential commodity.

	 (A) 1, 2 and 4 only		  (B) 1, 3 and 4 only

	 (C) 1, 2 and 3 only		  (D) 1, 2, 3 and 4

036.	 Which of the following are most likely to cause current account deficit in India?

	 1. Reduced excise duties on sports utility vehicles.

	 2. Reduced customs duties on gold.

	 3. Ban on exports of onions.

	 (A) 1 and 2 only		  (B) 2 and 3 only

	 (C) 1 and 3 only		  (D) 1, 2 and 3
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037.	 Lke[uLkk Ãkife fÞwt / fÞk SIDBI Lkwt / Lkk fkÞo / fkÞkuo Au ?

	 (A) ÷kuLk yLku yuzðkLMkeMkLkwt ÃkwLkŠÄhký	 (B) rçk÷Lkku ðxkð yLku ÃkwLkðoxkð

	 (C) Mkez fuÃkex÷/Mkku^x ÷kuLkLkwt rðMíkhý	 (D) WÃkhkuõík ík{k{

038.	 Lke[uLkk Ãkife fÞku hk»xÙeÞ ðMíke Lkerík 2000Lkku WÆu~Þ LkÚke ?

	 (A) MktÞwõík fwxwtçk ÔÞðMÚkkLku «kuíMkknLk ykÃkðwt.

	 (B) Ëh 1000 Sðtík sL{yu çkk¤{]íÞw Ëh 30 Úke Lke[u ÷kððku.

	 (C) hMkeÚke yxfkðe þfkÞ íkuðk ík{k{ hkuøkku Mkk{u çkk¤fkuLkwt Mkkðorºkf hMkefhý «kÃík fhðwt.

	 (D) {kíkk {]íÞw Ëh 100 Úke ykuAku fhðku.

039.	 òu Mkhfkh ykŠÚkf yMk{kLkíkkLku Ëqh fhðk {ktøkíke nkuÞ íkku Lke[uLkk Ãkife fE ÃkwLk:rðíkhý Lkerík / Lkeríkyku yÃkLkkðþu Lknª ?

	 1. MkçkrMkzeLku íkfoMktøkík çkLkkððe

	 2. «økríkþe÷ fh Lkeríkyku

	 3. «ríkøkk{e ¾[koyku

	 (A) Võík 1 yLku 2	 (B) Võík 2 yLku 3	 (C) Võík 1 yLku 3	 (D) Võík 3

040.	 økúeLk çkkuõMk MkçkrMkzeLkk MktË¼o{kt Lke[uLkk Ãkife fÞwt / fÞkt rðÄkLk / rðÄkLkku Mkk[wt / Mkk[kt Au ?

	 (A) �økúeLk çkkuõMk MkçkrMkze MktþkuÄLk yLku rðfkMk yLku RL£kMxÙõ[h suðk fu ÞwrLkðŠMkxeyku, økúk{eý rðMíkkhku{kt hMíkkyku 
ðøkuhu MkkÚku MktçktrÄík Au.

	 (B) økúeLk çkkuõMk MkçkrMkze ðuÃkkh{kt rðMktøkíkíkk WíÃkLLk fhíke LkÚke.

	 (C) (A) yLku (B) çktLku

	 (D) (A) yLku (B) çktLku Ãkife yufÃký Lknª

041.	 ÞwrLkÞLk çksux 2021-22 (ytËkòu)Lkk ÷ûÞktfku ytøku Lke[uLkk Ãkife fÞk rðÄkLkku Mkk[kt Au ?

	 1. hksfku»keÞ ¾kÄ – GDP Lkk 6.8%

	 2. {nuMkq÷ ¾kÄ – GDP Lkk 4.1%

	 3. «kÚkr{f ¾kÄ – GDP Lkk 3.1%

	 (A) Võík 1 yLku 2	 (B) Võík 1 yLku 3	 (C) Võík 2 yLku 3	 (D) 1, 2 yLku 3

042.	 Lke[uLkk{ktÚke fÞwt / fÞkt rðÄkLk / rðÄkLkku Mkk[wt / Mkk[kt Au ?
	 (A) �òu fhðuhkLkku Ëh [ku¬Mk {ÞkoËk MkwÄe ðÄu yLku íku ÃkAe ykðf{kt VuhVkh MkkÚku ÂMÚkh hnu íkku íkuLku «ríkøkk{e fh  

fnuðk{kt ykðu Au.
	 (B) �íku ÷kuLk fu Mkhfkh îkhk õÞkhuÞ Ãkhík fhðk{kt ykðíke LkÚke íku{ Aíkkt íku íkuLkk ÃkhLkwt ÔÞks [qfðu Au íkuLku rhze{uçk÷ zux 

(Redeemable debt) fnuðk{kt ykðu Au.
	 (C) (A) yLku (B) çktLku
	 (D) (A) yLku (B) çktLku Ãkife yufÃký Lknª
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037.	 Which of the following is/are a function or functions of SIDBI?
	 (A) Refinancing of loans and advances	 (B) Discounting and rediscounting of bills
	 (C) Extension of seed capital/soft loans	 (D) All of the above

038.	 Which of the following is not an objective of the National Population Policy, 2000?
	 (A) To promote joint family system
	 (B) To reduce Infant Mortality Rate below 30 per 1000 live births.
	 (C) To achieve universal immunization of children against all vaccine preventable diseases
	 (D) To reduce maternal mortality rate below 100

039.	� Which of the following redistributive policy/policies the government will not adopt if it wants to 
bridge ‘economic inequality’?

	 1. Rationalizing subsidies
	 2. Progressive tax policies
	 3. Regressive expenditures.
	 (A) 1 and 2 only		  (B) 2 and 3 only
	 (C) 1 and 3 only		  (D) 3 only

040.	 Which of the following statement(s) is/are correct with regard to Green box subsidies?
	 (A) �Green box subsidies relate to research and development and infrastructure like universities, 

roads in rural areas etc.
	 (B) Green box subsidies do not distort trade.
	 (C) Both (A) and (B)
	 (D) Neither (A) nor (B)

041.	� Which of the following statements are correct regarding targets of Union Budget 2021-22 
Estimates?

	 1. Fiscal deficit – 6.8% of GDP
	 2. Revenue deficit – 4.1% of GDP
	 3. Primary deficit – 3.1% of GDP
	 (A) 1 and 2 only	 (B) 1 and 3 only	 (C) 2 and 3 only	 (D) 1, 2 and 3

042.	 Which of the following statement(s) is/are correct?
	 (A) �If the rate of taxation increases up to a certain limit and after that it is constant with the 

change in income, then it is called Regressive Tax.
	 (B) �Those loans which are never returned by the government although it pays the interest thereon 

are called Redeemable debt.
	 (C) Both (A) and (B)
	 (D) Neither (A) nor (B)
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043.	 ¼khíkLkk MkuBÃk÷ hrsMxÙuþLk rMkMx{ (SRS) çkw÷urxLk, {u 2020 MktçktrÄík Lke[uLkk{ktÚke fÞkt rðÄkLkku Mkk[kt Au ?

	 1. ðMíkeLkku fwËhíke ð]ÂæÄ Ëh 13.8 níkku.

	 2. økúk{eý ðMíkeLkku sL{ Ëh þnuhe ðMíke fhíkk ykuAku níkku.

	 3. çkk¤ {]íÞw Ëh 32 níkku.

	 (A) Võík 1 yLku 2		  (B) Võík 1 yLku 3

	 (C) Võík 2 yLku 3		  (D) 1, 2 yLku 3

044.	 ‘¼khík{k÷k ÃkrhÞkusLkk’ nuX¤ hk»xÙeÞ Äkuhe{køkkuoLkk rLk{koý {kxu ¼tzku¤ .......... îkhk Ãkwhwt Ãkkzðk{kt ykðu Au.

	 1. ÃkuxÙku÷ yLku zeÍ÷{ktÚke ðMkq÷ðk{kt ykðu÷ WÃkfh (MkuMk)

	 2. xku÷{ktÚke ðMkq÷ðk{kt ykðu÷e hf{

	 3. çkkÌk MknkÞ

	 (A) Võík 1 yLku 2	 (B) Võík 1 yLku 3	 (C) Võík 2 yLku 3	 (D) 1, 2 yLku 3

045.	 Lke[uLkk{ktÚke fÞwt / fÞkt rðÄkLk / rðÄkLkku Mkk[wt / Mkk[kt Au ?

	 (A) 2020-21 Ëhr{ÞkLk økwshkík{kt [ku¾kLkk WíÃkkËLk{kt nfkhkí{f ð]ÂæÄ òuðk {¤e níke.

	 (B) 2019-20 Ëhr{ÞkLk økwshkíkLkk ðkMíkrðf fw÷ hkßÞ {qÕÞ ðÄoLk (GSVA) {kt f]r»k ûkuºkLkku Vk¤ku 10.8% níkku.

	 (C) (A) yLku (B) çktLku

	 (D) (A) yLku (B) çktLku Ãkife yufÃký Lknª

046.	 Lke[uLkk{ktÚke fÞk rðÄkLkku Mkk[kt Au ?

	 1. �2019-20 Ëhr{ÞkLk økwshkíkLke ðkMíkrðf {kÚkkËeX ykðf ¼khíkLke YrÃkÞk 94,566 Lke Mkh¾k{ýe{kt YrÃkÞk 1,65,359 
níke.

	 2. ¼khíkLkwt ÷øk¼øk 23% ykiãkurøkf WíÃkkËLk økwshkík{kt ÚkkÞ Au.

	 3. 2019-20 Ëhr{ÞkLk økwshkíkLkk økúkuMk Mxux zku{uÂMxf «kuzõx (GSDP) {kt rîríkÞf ûkuºkLkku rnMMkku 44.5% níkku.

	 (A) Võík 1 yLku 2		  (B) Võík 1 yLku 3

	 (C) Võík 2 yLku 3		  (D) 1, 2 yLku 3

047.	 økwzTMk yuLz MkŠðMkeMk xuõMk rçk÷{kt .......... Lkku Mk{kðuþ ÚkkÞ Au.

	 1. Äe CGST rçk÷ – Äe MkuLxÙ÷ økwzTMk yuLz MkŠðMkeMk xuõMk rçk÷ 2017.

	 2. Äe IGST rçk÷ – Äe ELxeøkúuxuz økwzTMk yuLz MkŠðMkeMk xuõMk rçk÷ 2017.

	 3. Äe UTGST rçk÷ – Äe ÞwrLkÞLk xuhexhe økwzTMk yuLz MkŠðMkeMk xuõMk rçk÷ 2017.

	 4. Äe fkuBÃkuLkMkuþLk rçk÷ – Äe økwzTMk yuLz MkŠðMkeMk xuõMk (fkuBÃkuLkMkuþLk xw Ä MxuxTMk) rçk÷ 2017.

	 (A) Võík 1, 2 yLku 3		  (B) Võík 2, 3 yLku 4

	 (C) Võík 1, 2 yLku 4		  (D) 1, 2, 3 yLku 4
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043.	� Which of the following statements are correct regarding Sample Registration System (SRS) 
Bulletins May 2020 of India?

	 1. The natural growth rate of population was 13.8 per cent.

	 2. The birth rate of rural population was less than urban population.

	 3. The Infant Mortality Rate was 32.

	 (A) 1 and 2 only		  (B) 1 and 3 only

	 (C) 2 and 3 only		  (D) 1, 2 and 3

044.	 The construction of National Highways under ‘Bharatmala Pariyojana’ is funded from

	 1. Cess collected from Petrol and Diesel

	 2. Amount collected from Toll

	 3. External assistance

	 (A) 1 and 2 only		  (B) 1 and 3 only

	 (C) 2 and 3 only		  (D) 1, 2 and 3

045.	 Which of the following statement(s) is/are correct?

	 (A) During 2020-21, the production of rice had a positive growth in Gujarat.

	 (B) �During 2019-20, agriculture sector accounted 10.8 percent in real Gross State Value Added 
(GSVA) of Gujarat.

	 (C) Both (A) and (B)

	 (D) Neither (A) nor (B)

046.	 Which of the following statements are correct?

	 1. �During 2019-20, the real per capita income of Gujarat was Rs. 1,65,359 as compared to Rs. 94,566 
of India.

	 2. Around 23 percent of India’s industrial output is produced in Gujarat.

	 3. The share of secondary sector in Gujarat’s GSDP was 44.5 percent during 2019-20.

	 (A) 1 and 2 only		  (B) 1 and 3 only

	 (C) 2 and 3 only		  (D) 1, 2 and 3

047.	 The Goods and Services Tax Bill comprises _______.

	 1. The CGST Bill – The Central Goods and Services Tax Bill 2017.

	 2. The IGST Bill – The Integrated Goods and Services Tax Bill 2017.

	 3. The UTGST Bill – The Union Territory Goods and Services Tax Bill 2017.

	 4. The Compensation Bill – The Goods and Services Tax (Compensation to the States) Bill 2017.

	 (A) 1, 2 and 3 only		  (B) 2, 3 and 4 only

	 (C) 1, 2 and 4 only		  (D) 1, 2, 3 and 4
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048.	� ¼khík{kt Mkíkík Ëh ð»kuo ¾kÄ çksux hÌkwt Au. ¾kÄ ½xkzðk {kxu Mkhfkh îkhk Lke[uLkk{ktÚke fÞk Ãkøk÷kt ÷uðk{kt ykðe  
þfu Au ?

	 1. {nuMkq÷e ¾[o{kt ½xkzku fhðku.

	 2. Lkðe fÕÞkýfkhe ÞkusLkkyku þY fhðe.

	 3. MkçkrMkzeLku íkfoMktøkík çkLkkððe.

	 4. WãkuøkkuLkwt rðMíkhý fhðwt.

	 (A) Võík 1, 2 yLku 3		  (B) Võík 1 yLku 3

	 (C) Võík 2, 3 yLku 4		  (D) 1, 2, 3 yLku 4

049.	� {wÿefhý ÃkkEÃk÷kELk (Lkkýk «ÄkLk îkhk 7 MkÃxuBçkh 2021 Lkk hkus ònuh fhkÞu÷) yLku rð{qzefhý ðå[u .......... {wÏÞ 
íkVkðík Au.

	 (A) rð{qzefhýÚke MkhfkhLku ykðf «kÃík ÚkkÞ Au ßÞkhu {wÿefhýÚke Úkíke LkÚke.

	 (B) rð{qzefhý {kºk ònuh ûkuºkLkk yuf{kuLkwt nkuÞ Au ßÞkhu {wÿefhý fkuEÃký «fkhLkk yuf{kuLkwt nkuE þfu Au.

	 (C) rð{qzefhý {kr÷fe{kt VuhVkhLku yMkh fhu Au ßÞkhu {wÿefhý fhíkwt LkÚke.

	 (D) rð{qzefhý ykÞkursík nkuÞ Au ßÞkhu {wÿefhý íkËÚko/ntøkk{e nkuÞ Au.

050.	 ¼khíkLkk «Míkkrðík {níðkfktûke ‘ðLk MkLk, ðLk ðÕzo, ðLk økúez’ (OSOWOG) «kusuõx ytøku þwt Mkk[wt LkÚke ?

	 (A) �ykuõxkuçkh 2017{kt yktíkhhk»xÙeÞ Mkkih òuzký (ISA) Lke «Úk{ yuMkuBçk÷e Ëhr{ÞkLk PM {kuËeyu OSOWOGLkku 
rð[kh Mkki«Úk{ hsq fÞkuo níkku.

	 (B) íku Mk{økú rðï{kt Mkkih QòoLkku ÃkqhðXku Ãkwhku Ãkkzíke xÙkLMkLkuþLk÷ ðes¤e økúezLke rð¼kðLkk Ãkh ykÄkrhík Au.

	 (C) ÞwrLkÞLk r{rLkMxÙe ykuV LÞq heLÞqyuçk÷ yuLkSoLkk zÙk^x Ã÷kLk {wsçk, OSOWOG 140 ËuþkuLku òuzþu.

	 (D) OSOWOG ÃkkA¤Lke árü yu Au fu ‘MkqÞo õÞkhuÞ yMík Úkíkku LkÚke’.

051.	 økwshkík çksux (ytËks) 2021-22 YrÃkÞk .......... Lke {nuMkq÷ Ãkqhktík / {nuMkq÷ ¾kÄ Ëþkoðu Au.

	 (A) +1209 fhkuz (GSDP Lkk 0.06%)	 (B) –1508 fhkuz (GSDP Lkk 0.07%)

	 (C) –21958 fhkuz (GSDP Lkk 1.32%)	 (D) +789 fhkuz (GSDP Lkk 0.04%)

052.	� ¼khíkLke hk»xÙeÞ ðMíkeLkerík 2000 yLkwMkkh, Lke[uLkk Ãkife fÞk ð»ko MkwÄe{kt ykÃkýu ðMíkeÂMÚkhíkk nktMk÷ fhðkLkwt ÷ûÞ 
Ähkðeyu Aeyu ?

	 (A) 2025		  (B) 2035

	 (C) 2045		  (D) 2055

053.	 ðMíke økýíkhe 2011 yLkwMkkh, Lke[uLkk Ãkife fÞwt þnuhe rðMíkkh íkhefu Ãkkºk Úkðk {kxuLkwt {kÃkËtz LkÚke ?

	 (A) rðMíkkhLke fw÷ ðMíke		  (B) rðMíkkhLke ðMíke øke[íkk

	 (C) rçkLk-f]r»k ÔÞðMkkÞLke xfkðkhe	 (D) rðMíkkh{kt ykiãkurøkf fk{Ëkh ðøko
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048.	� There has been a persistent deficit in budget year after year in India. Which of the following 
actions can be taken by the government to reduce the deficit?

	 1. Reducing revenue expenditure.
	 2. Introducing new welfare schemes.
	 3. Rationalizing subsidies.
	 4. Expanding industries.
	 (A) 1, 2 and 3 only	 (B) 1 and 3 only	 (C) 2, 3 and 4 only	 (D) 1, 2, 3 and 4

049.	� The main difference between Monetization Pipeline (as announced on 7th September, 2021 by 
Finance Minister) and disinvestment is _______.

	 (A) Disinvestment brings revenue to the government while Monetization does not.
	 (B) Disinvestment is only of Public Sector Units while Monetization can be in any kind of units.
	 (C) Disinvestment affects change in ownership while Monetization does not.
	 (D) Disinvestment is planned while Monetization is ad hoc.

050.	� What is not true regarding India’s proposed ambitious ‘One Sun, One World, One Grid’ 
(OSOWOG) Project?

	 (A) �The idea of OSOWOG was first floated by PM Modi in October, 2017 during the first assembly 
of International Solar Alliance (ISA).

	 (B) �It is based on the concept of transnational electricity grid supplying solar power across the 
globe.

	 (C) �As per the draft plan by the Union Ministry of New Renewable Energy,  OSOWOG will 
connect 140 countries.

	 (D) The vision behind OSOWOG is “the Sun never sets”.

051.	� Gujarat Budget Estimates 2021-22 demonstrate a Revenue Surplus/Revenue Deficit of  
Rs. _______.

	 (A) +1209 Crores (0.06% of GSDP)	 (B) –1508 Crores (0.07% of GSDP)
	 (C) –21958 Crores (1.32% of GSDP)	 (D) +789 Crores (0.04% of GSDP)

052.	� As per India’s National Population Policy 2000, by which of the following years we aim to attain 
population stabilization?

	 (A) 2025	 (B) 2035	 (C) 2045	 (D) 2055

053.	� According to Census 2011, which one of the following is not a criterion to qualify as an  
urban area?

	 (A) Total population of the area
	 (B) Population density of the area
	 (C) Percentage of non-agricultural occupation
	 (D) Industrial workforce in the area
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054.	 økwshkík{kt s{eLkkuLkk «fkh çkkçkíku Lke[uLkwt æÞkLku ÷ku.

	 1. fktÃkLke s{eLk	 2. huíkk¤ s{eLk	 3. Ãkz¾kW s{eLk

	 4. ûkkheÞ s{eLk	 5. fk¤e s{eLk

	 íkuykuLkk ¼kiøkkur÷f rðMíkkhLkk ykÄkhu s{eLkLkk WÃkhkuõík «fkhkuLke Lke[uLkk Ãkife fÞwt [zíkk ¢{Lke Mkk[e ÃkMktËøke Au ?
	 (A) 3-2-4-5-1	 (B) 2-3-4-5-1	 (C) 5-4-3-2-1	 (D) 1-2-3-4-5

055.	 Lke[uLkk rðÄkLkku æÞkLku ÷ku.

	 rðÄkLk 1 : [ktËe ®f{íke Äkíkw Au yLku íku yksuoLxkEx yLku õ÷kuhkhShkExLkk yÞMf{ktÚke fkZðk{kt ykðu Au.

	� rðÄkLk 2 : MkkiÚke ðÄw [ktËeLkwt rLk{koý r[¥kkuzøkZ (hksMÚkkLk) ¾kíku ÚkkÞ Au yLku íÞkhçkkË økwshkíkLkwt ¼Y[ rðMíkkh 
ykðu Au.

	 (A) rðÄkLk 1 yLku 2 çktLku Mkk[kt Au yLku rðÄkLk 2 yu rðÄkLk 1 {kxuLke Mkk[e Mk{sqíke Au.

	 (B) rðÄkLk 1 yLku 2 çktLku Mkk[kt Au Ãkhtíkw rðÄkLk 2 yu rðÄkLk 1 {kxuLke Mkk[e Mk{sqíke LkÚke.

	 (C) rðÄkLk 1 Mkk[wt Au Ãkhtíkw rðÄkLk 2 ¾kuxwt Au.

	 (D) rðÄkLk 1 ¾kuxwt Au yLku rðÄkLk 2 Mkk[wt Au.

056.	 Lke[uLkk rðÄkLkku æÞkLku ÷ku.
	 rðÄkLk 1 : rþÞk¤k{kt W¥kh ¼khík þeík ÷nuhkuÚke økt¼eh heíku «¼krðík ÚkkÞ Au.
	 rðÄkLk 2 : n÷fk Ëçkký (rz«uþLk)Lku fkhýu rn{k÷Þ rðMíkkh{kt ¼khu rn{ð»kko ÚkkÞ Au.
	 (A) rðÄkLk 1 yLku 2 çktLku Mkk[kt Au yLku rðÄkLk 2 yu rðÄkLk 1 {kxuLke Mkk[e Mk{sqíke Au.
	 (B) rðÄkLk 1 yLku 2 çktLku Mkk[kt Au Ãkhtíkw rðÄkLk 2 yu rðÄkLk 1 {kxuLke Mkk[e Mk{sqíke LkÚke.
	 (C) rðÄkLk 1 Mkk[wt Au Ãkhtíkw rðÄkLk 2 ¾kuxwt Au.
	 (D) rðÄkLk 1 ¾kuxwt Au yLku rðÄkLk 2 Mkk[wt Au.

057.	� òu ík{u hMíkk-{køko îkhk fkurn{kÚke fkuèkÞ{ «ðkMk fhku íkku ík{u ¼khík{kt WËTøk{MÚkkLk yLku øktíkÔÞMÚkkLkLkku Mk{kðuþ fhíkkt 
ykuAk{kt ykuAkt fux÷k hkßÞku{kt ÚkELku «ðkMk fhe þfþku ?

	 (A) 6	 (B) 7	 (C) 8	 (D) 9

058.	 ûkuºkV¤ (rðMíkkh)Lke árüyu Lke[uLkk Ãkife fÞku rðïLkku MkkiÚke {kuxku ÷uLz÷kuõTz (landlocked) Ëuþ Au ?

	 (A) rhÃkÂç÷f ykuV fkUøkku		  (B) fÍk¾MíkkLk

	 (C) ÍktrçkÞk		  (D) Ërûký ykr£fk

059.	 ¼qftÃk çkkçkíku Lke[uLkk Ãkife fÞk rðÄkLkku Mkk[kt Au ?

	 1. ¼qftÃkLke íkeðúíkk {hfu÷e Mfu÷ WÃkh {kÃkðk{kt ykðu Au.

	 2. ¼qftÃkLke {kºkk yu {wõík ÚkÞu÷e QòoLkwt {kÃk Au.

	 3. ¼qftÃkLke {kºkkLkku ykÄkh ¼qftÃkLkk {kuòykuLkk MkeÄk ftÃkLkrðMíkkhLkk {kÃk WÃkh nkuÞ Au.

	 (A) 1, 2 yLku 3	 (B) Võík 1 yLku 2	 (C) Võík 1 yLku 3	 (D) Võík 2 yLku 3
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054.	 Consider the following regarding types of lands in Gujarat.
	 1. Alluvial soils	 2. Sandy soil	 3. Laterite soil
	 4. Alkaline soil	 5. Black soil
	� Which of the following is the correct choice of the above types of soils in ascending order depending 

on their geographical area?
	 (A) 3-2-4-5-1	 (B) 2-3-4-5-1	 (C) 5-4-3-2-1	 (D) 1-2-3-4-5

055.	 Consider the following statements:
	� Statement 1 : �A Silver is a precious metal and it is extracted from Argentite and Chlorargyrite 

ores.
	� Statement 2 : �The largest silver production takes place in Chittorgarh (Rajasthan) next comes the 

Bharuch region of Gujarat.
	 (A) Both Statements 1 and 2 are correct and statement 2 is the correct explanation for statement 1
	 (B) �Both Statements 1 and 2 are correct but Statement 2 is not the correct explanation for  

statement 1
	 (C) Statement 1 is correct but statement 2 is incorrect
	 (D) Statement 1 is incorrect and statement 2 is correct

056.	 Consider the following statements:
	 Statement 1 : In winter season, North India is severely affected by Cold waves.
	 Statement 2 : Heavy snowfall occurs in Himalayan region due to western depressions.
	 (A) Both Statements 1 and 2 are correct and statement 2 is the correct explanation for statement 1
	 (B) �Both Statements 1 and 2 are correct but Statement 2 is not the correct explanation for  

statement 1
	 (C) Statement 1 is correct but statement 2 is incorrect
	 (D) Statement 1 is incorrect and statement 2 is correct

057.	� If you travel by road from Kohima to Kottayam, what is the minimum number of states within 
India through which you can travel, including the origin and destination?

	 (A) 6	 (B) 7	 (C) 8	 (D) 9

058.	 Which of the following is the world’s largest landlocked country in terms of area?
	 (A) Republic of Congo		  (B) Kazakhstan
	 (C) Zambia		  (D) South Africa

059.	 Which of the following statements are correct regarding Earthquake?
	 1. The intensity of an earthquake is measured on the Mercalli Scale.
	 2. The magnitude of an earthquake is a measure of energy released.
	 3. �The magnitude of an earthquake is based on the measures of the direct amplitude of earthquake 

waves.
	 (A) 1, 2 and 3	 (B) 1 and 2 only	 (C) 1 and 3 only	 (D) 2 and 3 only
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060.	 Lke[uLkk Ãkife fÞku Mk{wÿ «ðkn ®nËe {nkMkkøkh MkkÚku Mktf¤kÞu÷ku Au ?

	 (A) ^÷kuhezk «ðkn		  (B) fuLkhe «ðkn

	 (C) yuøkwÕnkMk «ðkn		  (D) fwhkE÷ «ðkn

061.	 Lke[uLkk rðÄkLkku æÞkLku ÷ku.

	 rðÄkLk 1 : ðkíkkðhý{kt Ÿ[kELkk ðÄkhk MkkÚku ÃkkýeLkwt Wíf÷Lk®çkËw ½xíkwt òÞ Au.

	 rðÄkLk 2 : Ÿ[kE ðÄíkkt ðkíkkðhýLkwt Ëçkký ðÄíkwt òÞ Au.

	 (A) rðÄkLk 1 yLku 2 çktLku Mkk[kt Au yLku rðÄkLk 2 yu rðÄkLk 1 {kxuLke Mkk[e Mk{sqíke Au.

	 (B) rðÄkLk 1 yLku 2 çktLku Mkk[kt Au Ãkhtíkw rðÄkLk 2 yu rðÄkLk 1 {kxuLke Mkk[e Mk{sqíke LkÚke.

	 (C) rðÄkLk 1 Mkk[wt Au Ãkhtíkw rðÄkLk 2 ¾kuxwt Au.

	 (D) rðÄkLk 1 ¾kuxwt Au yLku rðÄkLk 2 Mkk[wt Au.

062.	� økwshkíkLkk Lke[uLkk rsÕ÷kykuLkk ¼kiøkkur÷f rðMíkkh Mkk{u íku{Lkk fw÷ ðLkkðhý rðMíkkhLke xfkðkheLkk ykÄkhu Lke[uLkk Ãkife 
fÞwt [Zíkk ¢{{kt Au ?

	 (A) zktøk, Lk{oËk, ð÷Mkkz, íkkÃke	 (B) Lk{oËk, zktøk, íkkÃke, ð÷Mkkz

	 (C) íkkÃke, zktøk, Lk{oËk, ð÷Mkkz	 (D) íkkÃke, ð÷Mkkz, Lk{oËk, zktøk

063.	 Lke[uLkk Ãkife fE òuze Mkk[e heíku òuzkÞu÷e LkÚke ?

	 s¤kþÞLkwt Lkk{		  «kusuõx Ähkðíke LkËe

	 1. økku®ðË Mkkøkh		  – Mkík÷s

	 2. hkýk «íkkÃk Mkkøkh		  – Lk{oËk

	 3. økktÄe Mkkøkh		  – [tçk÷

	 4. økku®ðË ðÕ÷¼ Ãktík Mkkøkh		  – henLË

	 (A) 1, 2, 3 yLku 4		  (B) Võík 2, 3 yLku 4

	 (C) Võík 1, 2 yLku 3		  (D) Võík 1, 3 yLku 4

064.	 ¾uíkhe, fku÷kh, ®MkËhe yLku çkhkfh yLkw¢{u ........ MkkÚku Mktf¤kÞu÷k Au.

	 (A) íkktçkw, MkkuLkwt, ¾kíkh yLku fku÷Mkku

	 (B) íkktçkw, MkkuLkwt, fku÷Mkku yLku ¾kíkh

	 (C) MkkuLkwt, íkktçkw, ¾kíkh yLku ÃkuxÙkur÷Þ{

	 (D) ¾kíkh, MkkuLkwt, íkktçkw yLku fku÷Mkku

065.	 ‘Vkx¾eý’Lke h[Lkk Lke[uLkk Ãkife fkuLkwt Ãkrhýk{ Au ?

	 (A) økúeðk¾tz (Nappe)		  (B) huÃkªøk-ðªx¤kððwt (Wraping)

	 (C) økuzefhý (Folding)		  (D) Míkh¼tøk (Faulting)
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060.	 Which of the following ocean current is associated with Indian Ocean?

	 (A) Florida Current		  (B) Canary Current

	 (C) Agulhas Current		  (D) Kurile Current

061.	 Consider the following statements:

	 Statement 1 : In the atmosphere, the boiling point of water decreases with the increase of altitude.

	 Statement 2 : The atmospheric pressure increases with altitude.

	 (A) Both the statements 1 and 2 are correct, statement 2 is the correct explanation of statement 1

	 (B) �Both the statements 1 and 2 are correct but statement 2 is the not the correct explanation of 
statement 1

	 (C) Statement 1 is correct but statement 2 is Incorrect

	 (D) Statement one is Incorrect and statement 2 is correct

062.	� Which of the following is correct ascending order of districts of Gujarat state on the basis of 
percentage of total forest covered area to their geographical area?

	 (A) Dangs, Narmada, Valsad, Tapi	 (B) Narmada, Dang, Tapi, Valsad

	 (C) Tapi, Dang, Narmada, Valsad	 (D) Tapi, Valsad, Narmada, Dang

063.	 Which one of the following is incorrectly matched?

	 Name of reservoir		  Project on river

	 1. Gobind Sagar		  – Sutlej

	 2. Rana Pratap Sagar		  – Narmada

	 3. Gandhi Sagar		  – Chambal

	 4. Govid Ballab Pant Sagar	 – Rihand

	 (A) 1, 2, 3 and 4		  (B) 2, 3 and 4 only

	 (C) 1, 2 and 3 only		  (D) 1, 3 and 4 only

064.	 Khetri, Kolar, Sindri and Barakar are respectively associated with _____.

	 (A) Copper, Gold, Fertilizer and Coal

	 (B) Copper, Gold, Coal and Fertilizer

	 (C) Gold, Copper, Fertilizer and Petroleum

	 (D) Fertilizer, Gold, Copper and Coal

065.	 The formation of ‘Rift valley’ is the result of which of the following?

	 (A) Nappe		  (B) Wraping

	 (C) Folding		  (D) Faulting
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066.	 Lke[uLkk Ãkife fÞk rðÄkLkku Mkk[kt Au ?

	 1. Ãk]ÚðeLke MkÃkkxe WÃkh økuz Ãkðoíkku MkkiÚke ÞwðkLk Ãkðoíkku Au.

	 2. økuz Ãkðoíkku Mk{wÿíkxu ykðu÷k ¾tzkuLke Mke{kykuyu òuðk {¤u Au.

	 3. �økuz Ãkðoíkku Mkk{kLÞ heíku [kÃk ykfkhu òuðk {¤u Au suLke yuf çkkswyu ytíkøkkuo¤ Zk¤ yLku çkeS çkkswyu çkrnøkkuo¤ Zk¤ 
òuðk {¤u Au.

	 (A) Võík 2 yLku 3		  (B) Võík 1 yLku 2

	 (C) Võík 1 yLku 3		  (D) 1, 2 yLku 3

067.	 Lke[uLkk Ãkife fÞk yÂøLkf]ík ¾zfkuLkk «fkhku Au ?

	 1. økúuLkkEx	 2. zkÞkuhkEx	 3. økúuçkku	 4. ykhMkÃknký

	 (A) Võík 1, 2 yLku 3		  (B) Võík 2, 3 yLku 4

	 (C) Võík 1, 2 yLku 4		  (D) 1, 2, 3 yLku 4

068.	 økwshkík çkkçkíku Lke[uLkk Ãkife fÞk rðÄkLkku Mkk[k Au ?

	 1. rðþk¤ fkrXÞkðkzLkku îeÃkfÕÃk fåALkk y¾kík yLku ¾t¼kíkLkk y¾kík ðå[u ykðu÷ku Au.

	 2. økwshkík hkßÞ íkuLke {n¥k{ ô[kEyu 3,665 Vqx (1,117 {exh), røkhLkkhLke Ãknkzeyku{kt ÃknkU[u Au.

	 3. ËrûkýÃkqðo økwshkíkLku Ërûký Úke W¥kh íkhV Lk{oËk yLku ÃkAe íkkÃke {khVíku Ãkkh fhe þfkÞ Au.

	 4. fåALkwt hý ¼khík{kt økúuxh ^÷u®{økkuLkwt yuf{kºk {k¤k çkLkkððk {kxuLkwt MÚk¤ Au.

	 (A) 1, 2, 3 yLku 4		  (B) Võík 1, 2 yLku 4

	 (C) Võík 2, 3 yLku 4		  (D) Võík 1, 2 yLku 3

069.	 Lke[uLkk Ãkife fÞk rðÄkLkku Mkk[kt Au ?

	 1. fkufuÍkuEz ÞwhkuÃkeÞLk «ò, Mkur{rxf «òyku yLku ELzku-ykÞoLk «òLkku Mk{kðuþ fhu Au.

	 2. LkuøkúkuEz {wÏÞíðu MknkhkLkk Ërûkýu ykr£fk{kt hnu Au.

	 3. {kUøkkur÷ÞLkku W¥kheÞ, ÃkqðeoÞ yLku Ërûký-ÃkqðeoÞ yurþÞk{kt ðMkðkx fhu Au.

	 (A) 1, 2 yLku 3	 (B) Võík 2 yLku 3	 (C) Võík 1 yLku 2	 (D) Võík 1 yLku 3

070.	 Lke[uLkk Ãkife fÞk rðÄkLkku Mkk[kt Au ?

	 1. [íkwÚkof Mkuðkyku{kt hkufkÞu÷k ÔÞÂõíkykuLku ‘ÔnkEx fku÷h’ fk{Ëkhku fnu Au.

	 2. ‘ÂõðLkhe’ (Quinary) «ð]r¥kyku{kt hkufkÞu÷k ÔÞÂõíkykuLku ‘økkuÕz fku÷h’ fk{Ëkhku fnu Au.

	 3. ík]íkeÞf «ð]r¥kyku{kt hkufkÞu÷k ÔÞÂõíkykuLku ‘ÃkeLf fku÷h’ fk{Ëkhku fnu Au.

	 4. «kÚkr{f «ð]r¥kyku{kt hkufkÞu÷k ÔÞÂõíkykuLku ‘çÕÞw fku÷h’ fk{Ëkhku fnu Au.

	 (A) 1, 2, 3 yLku 4		  (B) Võík 2, 3 yLku 4

	 (C) Võík 1, 2 yLku 3		  (D) Võík 1 yLku 4
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066.	 Which of the following statements are correct?

	 1. Folded mountains are the youngest mountains on the Earth’s surface.

	 2. Folded mountains are found along the margins of the continents facing oceans

	 3. �Folded mountains are generally found in arc shape having one side concave slope and other side 
convex slope

	 (A) 2 and 3 only		  (B) 1 and 2 only

	 (C) 1 and 3 only		  (D) 1, 2 and 3

067.	 Which of the following are Igneous rock types?

	 1. Granite	 2. Diorite	 3. Gabbro	 4. Marble

	 (A) 1, 2 and 3 only		  (B) 2, 3 and 4 only

	 (C) 1, 2 and 4 only		  (D) 1, 2, 3 and 4

068.	 Which of the following statements are correct regarding Gujarat?

	 1. �The large Kathiawar Peninsula lies between the Gulf of Kachchh and the Gulf of Khambhat 
(Cambay)

	 2. The Gujarat State reaches its highest elevation, at 3,665 feet (1,117 meters), in the Girnar Hills

	 3. �Southeastern Gujarat can be crossed from South to North by crossing the Narmada and then 
the Tapti

	 4. The Rann of Kachchh is India’s only nesting ground of the greater flamingo.

	 (A) 1, 2, 3 and 4		  (B) 1, 2 and 4 only

	 (C) 2, 3 and 4 only		  (D) 1, 2 and 3 only

069.	 Which of the following statements are correct?

	 1. Caucasoids include the European people, the semitic people and Indo-Aryan people.

	 2. The Negroids live chiefly in Africa South of Sahara.

	 3. Mongoloids inhabit northern, eastern and south-eastern Asia

	 (A) 1, 2 and 3		  (B) 2 and 3 only

	 (C) 1 and 2 only		  (D) 1 and 3 only

070.	 Which of the following statements are correct?

	 1. People engaged in Quaternary services are called white-collar workers

	 2. People engaged in Quinary activities are called gold-collar workers

	 3. People engaged in Tertiary activities are called pink-collar workers

	 4. People engaged in Primary activities are called blue-collar workers

	 (A) 1, 2, 3 and 4		  (B) 2, 3 and 4 only

	 (C) 1, 2 and 3 only		  (D) 1 and 4 only
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071.	 hk»xÙeÞ Äkuhe{køko çkkçkíku Lke[uLkk Ãkife fÞkt rðÄkLkku Mkk[kt Au ?

	 1. NH-1 yLku NH-2 MktÞwõík heíku økúkLz xÙLf hkuz íkhefu yku¤¾kÞ Au.

	 2. sðknh xLk÷ sB{w yLku ©eLkøkhLku òuzíkk çkrLknk÷ ÃkkMk ¾kíku ykðu÷e Au.

	 3. ¼khíkLkku MkkiÚke LkkLkku hk»xÙeÞ Äkuhe{køko NH-47A Au.

	 (A) Võík 1 yLku 3	 (B) Võík 2 yLku 3	 (C) Võík 1 yLku 2	 (D) 1, 2 yLku 3

072.	 {u½k÷ÞLk Þwøk .......... Lku MktË¼uo Au.

	 (A) ¼qði¿kkrLkf Þwøk fu su ËhBÞkLk økkuLzðkLkk ¼qr{¾tz ykrË¾tzÚke íkqxeLku y÷øk Ãkzâku.

	 (B) ô{h fu ßÞkhu {u½k÷ÞLkk {kík]ðtþeÞ Mk{ks{kt AkufheykuLku ÷øLk fhðkLke ÃkhðkLkøke {¤u Au.

	 (C) �fkMxo xkuÃkkuøkúkVe (Karst Topography)Lku fkhýu {kuB÷wn økwVk (Mawmluh Cave)Lkk ¼kUÞík¤eÞuÚke Lkef¤íkk 
Qæðoøkk{e Míkt¼kuLke ô{h

	 (D) ¼kiøkkur÷f Mk{Þ {kÃkLk{kt íku íkksuíkhLkku Þwøk Au yÚkðk [íkw»V÷f (Quaternary)Lkku MkkiÚke WÃkhLkku íkçkffku Au.

073.	 økwshkík{kt fku÷MkkLkk ¼tzkhku (Coal reserves) çkkçkíku Lke[uLkk Ãkife fÞwt / fÞkt rðÄkLk / rðÄkLkku Mkk[wt / Mkk[kt Au ?

	 1. �økwshkík{kt fku÷Mkku ¼Y[ yLku fåA rsÕ÷k{kt òuðk {¤u Au. ykþhu 35% fkçkoLk yLku ðÄw ¼us MkkÚku fku÷Mkku Wíkhíke 
økwýð¥kk Ähkðu Au.

	 2. økwshkík{kt fku÷Mkku ¼Y[ rsÕ÷k{kt òuðk {¤e ykðu Au. íkuLkk fkçkoLk yLku ¼usLke {kºkk yLkw¢{u 80-90% yLku 10% Au.

	 3. økwshkíkLkk ¼Y[ rsÕ÷k{kt Wå[ økwýð¥kkðk¤ku yuLÚkúkMkkEx yLku rçkxâwr{LkMk fku÷Mkku {¤e ykðu Au.

	 (A) Võík 1		  (B) Võík 2 yLku 3

	 (C) Võík 1 yLku 3		  (D) 1, 2 yLku 3

074.	 økwshkíkLkk støk÷ku çkkçkíku Lke[uLke ÞkËe-I Lku ÞkËe-II MkkÚku òuzku.

	 ÞkËe-I		  ÞkËe-II

	 1. W»ý frxçktÄeÞ ykÿ (¼usðk¤k) ÃkkLk¾h støk÷ku	 a. Mkkøk, nÕËw, MkeMk{ yLku fxkMk

	 2. {uLøkúwð støk÷ku		  b. yuf{kºk «òrík - yux÷u fu yuðeMkurLkÞk {heLkk

	 3. W»ý frxçktÄeÞ Mkqfk ÃkkLk¾h støk÷ku	 c. 600-1200 mm ðhMkkË

	 4. W¥kh W»ý frxçktÄeÞ støk÷ku	 d. çkLkkMkfktXk, ¼kðLkøkhLkk ¼køkku, fåA
	 (A) 1 - a, 2 - b, 3 - c, 4 - d	 (B) 1 - b, 2 - c, 3 - d, 4 - a
	 (C) 1 - c, 2 - d, 3 - a, 4 - b	 (D) 1 - b. 2 - a, 3 - d, 4 - c

075.	 økwshkíkLkk støk÷ku çkkçkíku Lke[uLkk Ãkife fE òuze / òuzeyku Mkk[e heíku òuzkÞu÷e Au ?

	 1. ykhrûkík støk÷ku – 14769.58 rf.{e.2 rðMíkkh

	 2. yðøkeof]ík støk÷ku – 3001.40 rf.{e.2 rðMíkkh

	 3. Mkthrûkík støk÷ku – 4102.44 rf.{e.2 rðMíkkh

	 (A) 1, 2 yLku 3	 (B) Võík 1	 (C) Võík 2 yLku 3	 (D) Võík 1 yLku 3
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071.	 Which of the following statements are correct regarding National highways?

	 1. NH-1 and NH-2 are collectively called as Grand Trunk Road

	 2. The Jawahar Tunnel is located at Banihal Pass connecting Jammu and Srinagar

	 3. The smallest National Highway of India is NH-47A

	 (A) 1 and 3 only		  (B) 2 and 3 only

	 (C) 1 and 2 only		  (D) 1, 2 and 3

072.	 Meghalayan Age refers to _______.

	 (A) Geological age during which the Gondwana continent broke away from Pangea

	 (B) The age at which girls are permitted to marry in the matrilineal society of Meghalaya

	 (C) Age of stalagmites growing from the floor of Mawmluh Cave due to karst topography

	 (D) In the geologic time scale, it is the latest age or uppermost stage of the Quaternary

073.	 Which of the following statements is/are correct regarding Coal reserves in Gujarat?

	 1. �In Gujarat coal is found in Bharauch district and Kutch. The coal is of poor quality with about 
35% carbon and more moisture.

	 2. �In Gujarat coal is found in Bharauch district. Its carbon and moisture contents are 80 – 90% 
and 10%, respectively.

	 3. Superior quality anthracite and bituminous coal is found in Bharauch district of Gujarat.

	 (A) 1 only		  (B) 2 and 3 only

	 (C) 1 and 3 only		  (D) 1, 2 and 3

074.	 Match the following List-I with List-II regarding Forests of Gujarat

	 List-I		  List-II

	 1. Tropical Moist Deciduous Forests	 a. Teak, Haldu, Sisam and Katas

	 2. Mangrove Forests		  b. Single species i.e Avicennia marina.

	 3. Tropical Dry Deciduous Forests	 c. 600-1200 mm rainfall

	 4. North Tropical Forests	 d. Banaskantha, Parts of Bhavnagar, Kutchh

	 (A) 1 - a, 2 - b, 3 - c, 4 - d	 (B) 1 - b, 2 - c, 3 - d, 4 - a

	 (C) 1 - c, 2 - d, 3 - a, 4 - b	 (D) 1 - b, 2 - a, 3 - d, 4 - c

075.	 Which of the following pairs is/are correctly matched regarding Forests in Gujarat?

	 1. Reserved Forests- 14769.58 km² area

	 2. Unclassed Forest - 3001.40 km² area

	 3. Protected Forest - 4102.44 km² area

	 (A) 1, 2 and 3		  (B) 1 only

	 (C) 2 and 3 only		  (D) 1 and 3 only
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076.	 økwshkík{kt ¾LkeòuLke WÃk÷çÄe çkkçkíku Lke[uLke ÞkËe-I Lku ÞkËe-II MkkÚku òuzku.

	 ÞkËe-I		  ÞkËe-II

	 1. r÷øLkkEx		  a. ¼kðLkøkh

	 2. {UøkuLkeÍ		  b. fåA yLku Ëuð¼qr{ îkhfk

	 3. çkkuõMkkEx		  c. Ãkt[{nk÷, ðzkuËhk

	 4. ^÷kuhMÃkkh		  d. AkuxkWËuÃkwh
	 (A) 1 - a, 2 - b, 3 - c, 4 - d	 (B) 1 - a, 2 - c, 3 - b, 4 - d
	 (C) 1 - c, 2 - d, 3 - a, 4 - b	 (D) 1 - c, 2 - a, 3 - b, 4 - d

077.	 Lke[uLke ÞkËe-I Lku ÞkËe-II MkkÚku òuzku.

	 LkËeyku		  WÃkLkËeyku

	 1. Mkkçkh{íke		  a. ðktf÷, Ä{Lke yLku ¾khe

	 2. {ne		  b. ÃkkLk{, fwLk yLku ¼kËh

	 3. YÃkuý		  c. ðuh

	 4. íkkÃke		  d. Ãkw»Ãkkðíke yLku ¾khe
	 (A) 1 - a, 2 - b, 3 - c, 4 - d	 (B) 1 - a, 2 - c, 3 - d, 4 - b
	 (C) 1 - a, 2 - b, 3 - d, 4 - c	 (D) 1 - b, 2 - c, 3 - d, 4 - a

078.	 òuzfkt òuzku.

	 ðLÞSð yÇÞkhý		  rsÕ÷ku

	 1. ¾eszeÞk Ãkûke yÇÞkhý		  a. y{hu÷e

	 2. hk{Ãkhk yÇÞkhý		  b. {kuhçke

	 3. Ãkqýko ðLÞSð yÇÞkhý		  c. zktøk

	 4. ÃkLkeÞk ðLÞSð yÇÞkhý		 d. ò{Lkøkh
	 (A) 1 - a, 2 - b, 3 - c, 4 - d	 (B) 1 - d, 2 - b, 3 - c, 4 - a
	 (C) 1 - b, 2 - c, 3 - d, 4 - a	 (D) 1 - c, 2 - b, 3 - d, 4 - a

079.	 økwshkík çkkçkíku Lke[uLkk Ãkife fÞkt rðÄkLkku Mkk[kt Au ?

	 1. fåA îeÃkfÕÃk økuz yLku Íku¾ (thrust) xuõxkurLkÍLk (tectonism)Lkk Mkr¢Þ WËknhý íkhefu Ãký LkkUÄÃkkºk Au.

	 2. �Mkkihk»xÙ yLku fkrXÞkðkz{kt ÃkkuhçktËh ÃkÚÚkh íkhefu òýeíkk fkçkkuoLkux ¾zfku{kt r{r÷Þku÷kEx ÷kE{MxkuLkLke  
nkshe nkuÞ Au.

	 3. �Ãkrù{ fåA{kt Ãký AkheLke h[Lkk (Chari formation) - [qLkkLkk ÃkÚÚkhLke ßÞwhkrMkf h[Lkk, rMkÕxMxkuLk (siltstone) 
òuðk {¤u Au.

	 (A) 1, 2 yLku 3		  (B) Võík 2 yLku 3

	 (C) Võík 1 yLku 3		  (D) WÃkhkuõík Ãkife fkuE Lknª
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076.	 Match the following List-I with List-II regarding th minerals availability in Gujarat.

	 List-I		  List-II

	 1. Lignite		  a. Bhavnagar

	 2. Manganese		  b. Kutch and Devbhoomi Dwarka

	 3. Bauxite		  c. Panchmahal, Vadodara

	 4. Fluorspar		  d. Chhotaudepur

	 (A) 1 - a, 2 - b, 3 - c, 4 - d	 (B) 1 - a, 2 - c, 3 - b, 4 - d

	 (C) 1 - c, 2 - d, 3 - a, 4 - b	 (D) 1 - c, 2 - a, 3 - b, 4 - d

077.	 Match the following List-I with List-II

	 Rivers		  Tributaries

	 1. Sabarmati		  a. Wakal, Dhamni and Khari

	 2. Mahi		  b. Panam, Kun and Bhadar

	 3. Rupen		  c. Ver

	 4. Tapi		  d. Pushpavati and Khari

	 (A) 1 - a, 2 - b, 3 - c, 4 - d	 (B) 1 - a, 2 - c, 3 - d, 4 - b

	 (C) 1 - a, 2 - b, 3 - d, 4 - c	 (D) 1 - b, 2 - c, 3 - d, 4 - a

078.	 Match the following List-I with List-II

	 Wildlife Sanctuaries		  District

	 1. Khijadia Bird Sanctuary	 a. Amreli

	 2. Rampara Sanctuary		  b. Morbi

	 3. Purna Wildlife Sanctuary	 c. Dangs

	 4. Pania Wildlife Sanctuary	 d. Jamnagar

	 (A) 1 - a, 2 - b, 3 - c, 4 - d	 (B) 1 - d, 2 - b, 3 - c, 4 - a

	 (C) 1 - b, 2 - c, 3 - d, 4 - a	 (D) 1 - c, 2 - b, 3 - d, 4 - a

079.	 Which of the following statements are correct regarding Gujarat?

	 1. The Kutch peninsula is also notable for being an active example of fold and thrust tectonism

	 2. �In Saurashtra and Kathiawar, there is a presence of miliolite limestone found in carbonate 
rocks known as Porbandar stone

	 3. Western Kutch is also home to the Chari Formation, a Jurassic formation of limestone, siltstone

	 (A) 1, 2 and 3		  (B) 2 and 3 only

	 (C) 1 and 3 only		  (D) None of the above
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080.	 økwshkíkLkk çku rsÕ÷kykuLku yku¤¾e çkíkkðku.

	

	 (A) y{hu÷e yLku y{ËkðkË		 (B) ¼Y[ yLku ¼kðLkøkh

	 (C) ðzkuËhk yLku ð÷Mkkz		  (D) økktÄeLkøkh yLku økehMkku{LkkÚk

081.	 Lke[uLkk rðÄkLkkuLke {ËËÚke hkßÞLku yku¤¾e çkíkkðku.

	 rðÄkLk 1 : íku W¥kh{kt rMk¬e{ hkßÞ y™u ¼qíkkLk ËuþÚke Mker{ík ÚkÞu÷wt Au.

	 rðÄkLk 2 : íku W¥khÃkqðo{kt ykMkk{ hkßÞ yLku Ãkqðo{kt çkktø÷kËuþ ËuþÚke Mker{ík ÚkÞu÷wt Au.

	 (A) rºkÃkwhk		  (B) Ãkrù{ çktøkk¤

	 (C) yYýk[÷ «Ëuþ		  (D) WÃkhkuõík Ãkife fkuE Lknª

082.	 Lke[uLkk rðÄkLkkuLke {ËËÚke Mkk[ku sðkçk yku¤¾e çkíkkðku.

	 1. �yuf ÔÞÂõík 1÷e {k[o 2020 Lkk hkus ¼khíkeÞ MxkLzzo Mk{Þ (IST) 8 pm ðkøku ^÷kEx îkhk y{ËkðkËÚke  
LÞqÞkufo LkeféÞku.

	 2. fw÷ «ðkMkLkku Mk{Þ 24 f÷kfLkku Au.

	 íkku ÔÞÂõík LÞqÞkufo .......... Lkk hkus ÃknkU[þu.

	 (A) 29 Vuçkúwykhe 2020Lkk hkus 9:30 am ðkøku Þw.yuMk.yu. Mk{Þ

	 (B) 2 {k[o 2020Lkk hkus 8:00 pm ðkøku IST

	 (C) (A) yLku (B) çktLku

	 (D) (A) yLku (B) çktLku Ãkife yufÃký Lknª

083.	� òu W»ýfrxçktÄeÞ ð»kko støk÷ Ëqh fhðk{kt ykðu íkku íku W»ýfrxçktÄeÞ ÃkkLk¾h støk÷Lke Mkh¾k{ýe{kt sÕËeÚke  
ÃkwLkSorðík Úkíkwt LkÚke, fkhý fu ..........

	 (A) ð»kko støk÷Lke s{eLk Ãkku»kf ík¥ðkuLke WýÃkðk¤e nkuÞ Au.

	 (B) ð»kko støk÷{kt ð]ûkkuLkk «Mkkh («sLkLk) (Propagules) Lkçk¤e SðLkûk{íkk Ähkðu Au.

	 (C) ð»kko støk÷Lke «òríkyku Äe{uÄe{u ðÄu Au.

	 (D) rðËuþe «òríkyku ð»kko støk÷Lke V¤ÿwÃk s{eLk Ãkh yk¢{ý fhu Au.
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080.	 Identify the following two districts of Gujarat.

	

	 (A) Amreli and Ahmedabad	 (B) Bharuch and Bhavnagar

	 (C) Vadodara and Valsad	 (D) Gandhinagar and Gir Somnath

081.	 Identify the State with the help of following statements.

	 Statement 1 : It is bounded to the north by the state of Sikkim and the country of Bhutan

	� Statement 2 : �It is bounded to the northeast by the state of Assam, to the east by the country of 
Bangladesh

	 (A) Tripura		  (B) West Bengal

	 (C) Arunachal Pradesh		  (D) None of the above

082.	 Identify the correct answer with the help of following statements.

	 1. �A person started from Ahmedabad to New York by flight on 1st March 2020 at 8pm Indian 
Standard Time (IST).

	 2. The total travel time is 24 hours

	 Then the person reaches New York on _______.

	 (A) 29th February 2020 at 9:30 am USA time

	 (B) 2nd March 2020 at 8 pm IST

	 (C) Both (A) and (B)

	 (D) Neither (A) nor (B)

083.	� If a tropical rain forest is removed, it does not regenerate quickly as compared to a tropical 
deciduous forest. This is because of _______.

	 (A) The soil of rain forest is deficient in nutrients.

	 (B) Propagules of trees in a rain forest have poor viability.

	 (C) The rain forest species are slow growing.

	 (D) Exotic species invade the fertile soil of rain forest
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084.	 ¼khík{kt Ãkz¾kW s{eLk çkkçkíku Lke[uLkk Ãkife fÞk rðÄkLkku Mkk[kt Au ?

	 1. Mkk{kLÞ heíku íkuLkku htøk ÷k÷ nkuÞ Au.

	 2. íku LkkExÙkusLk yLku Ãkkuxkþ{kt Mk{]æÄ nkuÞ Au.

	 3. íku hksMÚkkLk yLku W¥kh«Ëuþ{kt Mkkhe heíku rðfMkeík Au.

	 4. yk s{eLk{kt xuÃkeykufk (Tapioca) yLku fksw Mkkh heíku Wøku Au.

	 (A) Võík 1, 2 yLku 3		  (B) Võík 2, 3 yLku 4

	 (C) Võík 1 yLku 4		  (D) Võík 2 yLku 3

085.	 Lke[uLkk Ãkife fÞk rðÄkLkku Mkk[kt Au ?

	 1. �¼usðk¤k W»ýfrxçktÄeÞ støk÷ku Ãkrù{ íkxu, yÃkh ykMkk{ (Upper Assam){kt yLku ÃkqðeoÞ rn{k÷ÞLkk Lke[k Zk¤ku 
Ãkh òuðkt {¤u Au.

	 2. �Mkqfkt W»ýfrxçktÄeÞ støk÷ku {wÏÞíðu ¼khíkeÞ W¥kheÞ ÃkðoíkeÞ rðMíkkhku yLku Ërûký ¼khíkLkk fux÷kf hkßÞku{kt òuðkt 
{¤u Au.

	 3. �ykÕÃkkELk (Alpine) støk÷ku 3000 {exh fhíkk WÃkhLke Ÿ[kEyu þY ÚkkÞ Au yLku çkhVhu¾k (snowline) Úke rçk÷fw÷ 
Lke[uLkk rðMíkkh MkwÄe Wøku Au.

	 (A) Võík 1 yLku 2		  (B) Võík 2 yLku 3

	 (C) Võík 1 yLku 3		  (D) 1, 2 yLku 3

086.	 Lke[uLkk Ãkife fE òuzeyku Mkk[e heíku òuzkÞu÷e Au ?

	 1. fkzko{ku{ xufheyku – fkuhku{tz÷ íkx

	 2. fi{wh xufheyku – fkUfý íkx

	 3. {nkËuð xufheyku – {æÞ ¼khík

	 4. r{feh xufheyku – W¥kh Ãkqðo ¼khík

	 (A) Võík 1 yLku 2		  (B) Võík 1, 2 yLku 3

	 (C) Võík 3 yLku 4		  (D) 1, 2, 3 yLku 4

087.	 økwshkíke ¼k»kkLkk MktË¼uo Lke[uLkk Ãkife fÞk rðÄkLkku Mkk[kt Au ?

	 1. økwshkíke ¼k»kk ELzku-ykÞoLk - Ãkrù{e Ãkrhðkh MkkÚku MktçktÄ Ähkðu Au.

	 2. økwshkíke ¼k»kk ELzku-ykÞoLk - {æÞ Ãkrhðkh MkkÚku MktçktÄ Ähkðu Au.

	 3. �¼khíkLke 2011Lke ðMíke økýíkhe yLkwMkkh ¼khík{kt çkku÷kíke {wÏÞ ¼k»kkyku{kt økwshkíke ¼k»kk çkku÷Lkkhkyku  
Aêk ¢{u Au.

	 4. �¼khíkLke 2011Lke ðMíke økýíkhe yLkwMkkh ¼khík{kt økwshkíke ¼k»kk çkku÷LkkhkykuLke MktÏÞk WËwo ¼k»kk çkku÷LkkhkykuLke 
MktÏÞkLku ÷øk¼øk Mk{kLk Au.

	 (A) 1, 2, 3 yLku 4		  (B) Võík 1, 3 yLku 4

	 (C) Võík 2, 3 yLku 4		  (D) Võík 1 yLku 3
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084.	 Which of the following statements regarding Laterite soils of India are correct?

	 1. They are generally red in colour.

	 2. They are rich in nitrogen and potash.

	 3. They are well-developed in Rajasthan and Uttar Pradesh.

	 4. Tapioca and cashewnuts grow well on these soils.

	 (A) 1, 2 and 3 only		  (B) 2, 3 and 4 only

	 (C) 1 and 4 only		  (D) 2 and 3 only

085.	 Which of the following statements are correct?

	 1. �Moist Tropical Forest are found along the Western Coast, in Upper Assam and lower slopes of 
the eastern Himalaya.

	 2. �Dry Tropical Forests mainly found in Indian Northern Hilly regions and some states of  
Southern India

	 3. �Alpine Forests start at an elevation of above 3000 m grow up to the region just below the 
snowline.

	 (A) 1 and 2 only		  (B) 2 and 3 only

	 (C) 1 and 3 only		  (D) 1, 2 and 3

086.	 Which of the following pairs are correctly matched?

	 1. Cardamom Hills – Coromandel Coast

	 2. Kaimur Hills – Konkan Coast

	 3. Mahadeo Hills – Central India

	 4. Mikir Hills – North East India

	 (A) 1 and 2 only		  (B) 1, 2 and 3 only

	 (C) 3 and 4 only		  (D) 1, 2, 3 and 4

087.	 Which of the following statements with reference to Gujarati language are correct?

	 1. Gujarati language belongs to the family of Indo-Aryan Western.

	 2. Gujarati language belongs to the family of Indo-Aryan Central.

	 3. �Gujarati language speakers are at the sixth position among major languages spoken in India as 
per the 2011 Census of India.

	 4. �Gujarati language speakers are almost equal to the number of Urdu language speakers in India 
as per the 2011 Census of India.

	 (A) 1, 2, 3 and 4		  (B) 1, 3 and 4 only

	 (C) 2, 3 and 4 only		  (D) 1 and 3 only
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088.	 Lke[uLkk Ãkife fE òuzeyku Mkk[e heíku òuzkÞu÷e Au ?

	 1. LkirLkíkk÷ Mkhkuðh – xufxkurLkf ykÿo¼qr{ (Tectonic wetlands)

	 2. ÷kufíkf Mkhkuðh – Lkk¤kfkh ykÿo¼qr{ (Oxbow wetlands)

	 3. ÷kuLkkh Mkhkuðh – ßðk¤k{w¾ ykÿo¼qr{ (Crater wetlands)

	 4. r[Õfk Mkhkuðh – ÷økqLk ykÿo¼qr{ (Lagoon wetlands)

	 (A) Võík 1 yLku 3		  (B) Võík 2 yLku 3

	 (C) Võík 1, 2 yLku 3		  (D) 1, 2, 3 yLku 4

089.	 ÞkËe-I Lku ÞkËe-II MkkÚku òuzku.

	 ÞkËe-I - ykrËòríkyku		  ÞkËe-II - ÷ûkýku

	 1. ¾kMke		  a) {kUøkku÷kuEz ÷ûkýku

	 2. íkkuzk		  b) Íq{ ¾uíke

	 3. òiLkMkkhe		  c) ÃkþwÃkk÷fku

	 4. ÚkkY		  d) ykÞoLk ðtþòu

	 (A) 1 - c, 2 - d, 3 - b, 4 - a	 (B) 1 - b, 2 - a, 3 - d, 4 - c

	 (C) 1 - c, 2 - d, 3 - a, 4 - b	 (D) 1 - b, 2 - c, 3 - d, 4 - a

090.	 Lke[uLkk Ãkife fÞwt / fÞk rðÄkLkku ¼khíkeÞ [ku{kMkk{kt “[ku{kMkk-rðhk{ku” (Breaks) Lkwt Mkk[wt «ríkrLkrÄíð fhu Au ?

	 (A) [ku{kMkkLkku ðhMkkË yuf Mk{Þu Úkkuzkf rËðMkku {kxu s ÚkkÞ Au.

	 (B) [ku{kMkkLku ¼eLkk yLku Mkqfkt økk¤k nkuÞ Au.

	 (C) (A) yLku (B) çktLku

	 (D) (A) yLku (B) çktLku Ãkife yufÃký Lknª

091.	 Lke[uLkk rðÄkLkku æÞkLku ÷ku.

	� rðÄkLk 1 : �fk¤e s{eLk [efkþðk¤e nkuÞ Au fu su ßÞkhu ¼eLke nkuÞ Au íÞkhu Vq÷u Au yLku [efýe çkLku Au Ãkhtíkw ßÞkhu Mkqfe 
nkuÞ Au íÞkhu Mktfku[kÞ Au.

	 rðÄkLk 2 : yk s{eLk{kt Mkqfe Éíkw ËhBÞkLk Ãknku¤e ríkhkzku Ãkzu Au yLku ‘Mð¾uzkýðk¤e’ s{eLk çkLku Au.

	 (A) rðÄkLk 1 yLku 2 çktLku Mkk[kt Au yLku rðÄkLk 2 yu rðÄkLk 1 {kxuLke Mkk[e Mk{sqíke Au.

	 (B) rðÄkLk 1 yLku 2 çktLku Mkk[kt Au Ãkhtíkw rðÄkLk 2 yu rðÄkLk 1 {kxuLke Mkk[e Mk{sqíke LkÚke.

	 (C) rðÄkLk 1 Mkk[wt Au Ãkhtíkw rðÄkLk 2 ¾kuxwt Au.

	 (D) rðÄkLk 1 ¾kuxwt Au yLku rðÄkLk 2 Mkk[wt Au.
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088.	 Which of the following pairs are correctly matched?

	 1. Nainital lake – Tectonic wetlands

	 2. Loktak lake – Oxbow wetlands

	 3. Lonar lake – Crater wetlands

	 4. Chilka lake – Lagoon wetlands

	 (A) 1 and 3 only		  (B) 2 and 3 only

	 (C) 1, 2 and 3 only		  (D) 1, 2, 3 and 4

089.	 Match List-I with List-II and select correct combination

	 List-I - Indigenous Tribes	 List-II - Characteristics

	 1. Khasis		  a) Mongoloid features

	 2. Todas		  b) Jhoom cultivation

	 3. Jaunsaries		  c) Pastoralists

	 4. Tharus		  d) Aryan descendants

	 (A) 1 - c, 2 - d, 3 - b, 4 - a

	 (B) 1 - b, 2 - a, 3 - d, 4 - c

	 (C) 1 - c, 2 - d, 3 - a, 4 - b

	 (D) 1 - b, 2 - c, 3 - d, 4 - a

090.	 Which of the statements truly represent ‘Breaks’ in the Indian Monsoons?

	 (A) Monsoon rains take place only for a few days at a time

	 (B) Monsoons have wet and dry spells

	 (C) Both (A) and (B)

	 (D) Neither (A) nor (B)

091.	 Consider the following statements:

	� Statement 1 : �The black soils are clayey, which swell and become sticky when wet but shrink when 
dry.

	 Statement 2 : This soil develop wide crack during dry season and become ‘self ploughing’.

	 (A) Both Statements 1 and 2 are correct and statement 2 is the correct explanation for statement 1

	 (B) �Both Statements 1 and 2 are correct but Statement 2 is not the correct explanation for  
statement 1

	 (C) Statement 1 is correct but statement 2 is incorrect

	 (D) Statement 1 is incorrect and statement 2 is correct
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092.	 Mk{wÿs¤ çkkçkíku Lke[uLkk rðÄkLkku æÞkLku ÷ku.

	 rðÄkLk 1 : yuf [ku¬Mk íkkÃk{kLku ûkkhíkkLkk ðÄkhk MkkÚku ½Lkíkk{kt ðÄkhku ÚkkÞ Au.

	 rðÄkLk 2 : rLkMÞtrËík Ãkkýe fhíkk ûkkhíkkLkk ½xfku ðÄkhu ½Lkíkk Ähkðu Au.

	 (A) rðÄkLk 1 yLku 2 çktLku Mkk[kt Au yLku rðÄkLk 2 yu rðÄkLk 1 {kxuLke Mkk[e Mk{sqíke Au.

	 (B) rðÄkLk 1 yLku 2 çktLku Mkk[kt Au Ãkhtíkw rðÄkLk 2 yu rðÄkLk 1 {kxuLke Mkk[e Mk{sqíke LkÚke.

	 (C) rðÄkLk 1 Mkk[wt Au Ãkhtíkw rðÄkLk 2 ¾kuxwt Au.

	 (D) rðÄkLk 1 ¾kuxwt Au yLku rðÄkLk 2 Mkk[wt Au.

093.	 Lke[uLkk ÷ûkýku îkhk ðøkeof]ík ÚkÞu÷ku Wãkuøk yku¤¾e çkíkkðku.

	 1. Mkk{kLÞ heíku LkkLke {kºkk{kt WíÃkkËLk fhu Au Ãkhtíkw íkuLku Mkkhe Mkw÷¼íkkLke sYhe Au.

	 2. ¾kMk fk[k {k÷ WÃkh ykÄkheík LkÚke.

	 3. Mkk{kLÞ heíku íkuLke rçkLk-«Ëq»kf yuf{ku íkhefu økýLkk ÚkkÞ Au.

	 (A) «ðkMkLk Wãkuøk

	 (B) hMkkÞý ykÄkheík Wãkuøk

	 (C) Mðíktºk-MðiåAk[khe (Vqx-÷qÍ) Wãkuøk

	 (D) WÃkhkuõík Ãkife fkuE Lknª

094.	 yx÷ xLk÷ çkkçkíku Lke[uLkk Ãkife fÞwt / fÞkt rðÄkLk / rðÄkLkku Mkk[wt / Mkk[k Au ?

	 1. íku {Lkk÷eÚke ÷knku÷-MÃkeíke ¾eýLku òuzu Au.

	 2. íku rþÃkfe ÷k ÃkkMk nuX¤ çkktÄðk{kt ykðe Au.

	 3. íku 8 rf÷ku{exh ÷tçkkE Ähkðíke rðïLke MkkiÚke ÷ktçke xLk÷ Au.

	 (A) Võík 1		  (B) Võík 1 yLku 2

	 (C) Võík 2 yLku 3		  (D) 1, 2 yLku 3

095.	 Lke[uLkk Ãkife fÞk rðÄkLkku Mkk[kt Au ?

	 1. rðïLke {wÏÞ {kuíke {kAe{khe W»ý frxçktÄeÞ s¤{kt, Mk{þeíkku»ý Mk{wÿku{kt yLku íkkò Ãkkýe{kt ykðu÷e Au.

	 2. {kuíke, AeÃk (oysters) yÚkðk fkuze (mussels){ktÚke «kÃík ÚkkÞ Au.

	 3. ¼khík, íkkr{÷Lkkzw yLku yktÄú«ËuþLkk ÃkqðeoÞ íkxu fÕ[zo (cultured) {kuíkeLkwt WíÃkkËLk fhu Au.

	 4. ¼khíkLkk ÃkqðeoÞ íkx WÃkh íkqríkfkuheLk yøkíÞLkwt {kuíke {kAe{kheLkwt çktËh Au.

	 (A) Võík 1 yLku 2		  (B) Võík 2 yLku 3

	 (C) Võík 1, 2 yLku 3		  (D) 1, 2, 3 yLku 4
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092.	 Consider the following statements with reference to sea water.

	 Statement 1 : At a certain temperature the density increases with increasing salinity.

	 Statement 2 : The components of salinity have a greater density than the distilled water.

	 (A) Both Statements 1 and 2 are correct and statement 2 is the correct explanation for statement 1

	 (B) �Both Statements 1 and 2 are correct but Statement 2 is not the correct explanation for  
statement 1

	 (C) Statement 1 is correct but statement 2 is incorrect

	 (D) Statement 1 is incorrect and statement 2 is correct

093.	 Identify the Industry which is characterized by the following features

	 1. Generally produce in small quantity, but require good accessibility.

	 2. Not dependent on specific raw materials

	 3. Generally considered as non-polluting establishments.

	 (A) Tourism Industry

	 (B) Chemical-based Industry

	 (C) Footloose Industry

	 (D) None of the above

094.	 Which of the following statements is/are correct regarding Atal Tunnel?

	 1. It connects Manali to Lahul-Spiti Valley

	 2. It is built under Shipki La pass.

	 3. It is the world’s longest tunnel with a total length of 8 km.

	 (A) 1 only		  (B) 1 and 2 only

	 (C) 2 and 3 only		  (D) 1, 2 and 3

095.	 Which of the following statements are correct?

	 1. The chief pearl fisheries of the world lie in the tropical waters, temperate seas and fresh water.

	 2. Pearls are obtained from oysters or mussels

	 3. India produces cultured pearls along the eastern coast of Tamil Nadu and Andhra Pradesh

	 4. Tuticorin is an important pearl fishing port on the eastern coast of India.

	 (A) 1 and 2 only		  (B) 2 and 3 only

	 (C) 1, 2 and 3 only		  (D) 1, 2, 3 and 4
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096.	 Lke[uLkk Ãkife fÞk rðÄkLkku Mkk[kt Au ?

	 1. fux÷ef ð¾ík fåALkk y¾kík{kt Ãkhðk¤kyku ÃkrhÂMÚkíkeLkk fkhýu rðhtSík (bleached) ÚkE økÞkt Au.

	 2. fåA «ËuþLke s{eLk-h[Lkk huíkk¤ ðøkoLke Au.

	 3. Ërûký økwshkík yLku Mkkihk»xÙ{kt òuðk {¤íke s{eLk {wÏÞíðu [efýe Au.

	 (A) 1, 2 yLku 3	 (B) Võík 2 yLku 3	 (C) Võík 1 yLku 2	 (D) Võík 1 yLku 3

097.	� Mkíkík ÄwtÄ (haze) fu su LkðuBçkhÚke yur«÷ MkwÄe rðMíkhu Au, su yhçke Mk{wÿ, çktøkk¤Lkk y¾kík yLku Ërûký yurþÞkE 
rðMíkkhLku ykðhe ÷u Au, íku .......... MkkÚku Mktf¤kÞu÷wt Au.

	 (A) ÄúwðeÞ ð{¤ (Polar vortex)

	 (B) Ãke¤kt ÃkðLk (Yellow wind)

	 (C) yurþÞkE fÚÚkkE ðkË¤ku (Asian brown clouds)

	 (D) {{ixMk ðkË¤ku (Mammatus clouds)

098.	 W¥khÚke Ërûký íkhV Lke[uLkk Ãkife Ãkðoík{k¤kykuLkku fÞku ¢{ Mkk[ku Au ?

	 (A) zkuzkçkuèk, fi÷kþ, ®ðæÞk[÷, Äki÷krøkhe

	 (B) zkuzkçkuèk, ®ðæÞk[÷, Äki÷krøkhe, fi÷kþ

	 (C) fi÷kþ, Äki÷krøkhe, ®ðæÞk[÷, zkuzkçkuèk

	 (D) ®ðæÞk[÷, Äki÷krøkhe, fi÷kþ, zkuzkçkuèk

099.	 ®MkÄw LkËe çkkçkíku Lke[uLkk Ãkife fÞk rðÄkLkku Mkk[kt Au ?

	 1. ®MkÄw LkËeLkwt ÃkhtÃkhkøkík Lkk{ ríkçkuxeÞLk yLku MktMf]ík Lkk{ ‘®MkÄw’ WÃkhÚke íkkhððk{kt ykÔÞwt Au.

	 2. ®MkÄwLkku ytrík{ Mºkkuík {kLkMkhkuðhLke Mkkr{ÃÞ{kt ykðu÷k ríkçkuxeÞLk Wå[«Ëuþ WÃkh Au.

	 3. �®MkÄw yLku íkuLke Ãkkt[ WÃkLkËeyku MktÞwõík heíku ®MkÄw íkx«Ëuþ h[u Au su [kh hk»xÙku MkwÄe rðMíkhu÷wt Au yLku 200 r{r÷ÞLk 
fhíkkt ðÄkhu ÷kufkuLkku rLk¼kð fhu Au.

	 (A) Võík 1 yLku 3		  (B) Võík 1 yLku 2

	 (C) Võík 2 yLku 3		  (D) 1, 2 yLku 3

100.	 ¼khíkLke 2011Lke ðMíke økýíkheLkk MktË¼uo Lke[uLkk Ãkife fÞk rðÄkLkku Mkk[kt Au ?

	 1. ¼khíkLke ðMíke øke[íkk 582 «rík [kuhMk rf÷ku{exh Au.

	 2. 2001-2011 ËhBÞkLk ðMíke{kt fw÷ ðÄkhku 18.19 fhkuz ÚkÞu÷ Au.

	 3. ¼khík{kt MkkûkhíkkLkku Ëh yøkkWLkk 74.83 xfk Úke ðÄeLku 83.0 xfk ÚkÞku Au.

	 4. ðMíke økýíkhe 2011{kt 0-6 ð»koLkk ðÞsqÚk{kt çkk¤fkuLke ðMíke 164.5 r{r÷ÞLk Au.

	 (A) Võík 1, 2 yLku 3		  (B) Võík 2 yLku 3

	 (C) Võík 2 yLku 4		  (D) 1, 2, 3 yLku 4
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096.	 Which of the following statements are correct?

	 1. Sometimes the corals in the Gulf of Kutch have been bleached due to situation.

	 2. The soil texture of Kutch region belongs to the sandy class.

	 3. The soils found in South Gujarat and Saurashtra are predominantly clayey.

	 (A) 1, 2 and 3		  (B) 2 and 3 only

	 (C) 1 and 2 only		  (D) 1 and 3 only

097.	� Persistent haze that extends from about November to April, covers Arabian Sea, Bay of Bengal 
and South Asian region is related with _______.

	 (A) Polar vortex		  (B) Yellow wind

	 (C) Asian brown clouds		 (D) Mammatus clouds

098.	 Which of the following is the right sequence of mountain ranges from North to South?

	 (A) Dodabeta, Kailash, Vindhayachal, Dhaulagiri

	 (B) Dodabeta, Vindhyachal, Dhaulagiri, Kailash

	 (C) Kailash, Dhaulagiri, Vindhyachal, Dodabeta

	 (D) Vindhyachal, Dhaulagiri, Kailash, Dodabeta

099.	 Which of the following statements are correct regarding Indus river?

	 1. The Indus river’s conventional name derives from the Tibetan and Sanskrit name Sindhu

	 2. The ultimate source of the Indus is on the Tibetan plateau in the vicinity of Lake Mansarovar

	 3. �The Indus and its five tributaries together make up the Indus Basin, which spans four countries 
and support more than 200 million people

	 (A) 1 and 3 only		  (B) 1 and 2 only

	 (C) 2 and 3 only		  (D) 1, 2 and 3

100.	 Which of the following statements are correct regarding Indian Census of 2011?

	 1. Population density of India is 582 per sq. km

	 2. Total absolute increase in population during 2001-2011 is 18.19 crores

	 3. Literacy rate of India has gone up to 83.0 percent from previous figure of 74.83 percent

	 4. Child population in the age group 0-6 years in 2011 Census is 164.5 million

	 (A) 1, 2 and 3 only		  (B) 2 and 3 only

	 (C) 2 and 4 only		  (D) 1, 2, 3 and 4
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101.	 ¼khíkLke ykçkkunðk WÃkh rn{k÷ÞLke Lke[uLkk Ãkife fE yMkhku Au ?

	 1. W¥kh ¼khíkLku þeíkhý çkLkíkwt hkufu Au.

	 2. W¥kh ¼khík{kt ðhMkkË

	 3. îeÃkfÕÃkeÞ ¼khík{kt ykçkkunðkLku {æÞ{ fhíke yMkhku fhu Au.

	 (A) Võík 1 yLku 2		  (B) Võík 2 yLku 3

	 (C) Võík 1 yLku 3		  (D) 1, 2 yLku 3

102.	 ¼eíkhfrýfk hk»xÙeÞ WãkLk çkkçkíku Lke[uLkk Ãkife fÞk rðÄkLkku Mkk[kt Au ?

	 1. íku ¼khík{kt çkeò ¢{Lkwt MkkiÚke {kuxwt {uLøkúwðíktºk Au.

	 2. íku hk{Mkh Mkt{u÷Lk nuX¤ Mðef]ík fhðk{kt ykÔÞwt Au.

	 3. yk rðMíkkhLkk ËrhÞkrfLkkhkyku WÃkh ykur÷ð rhz÷e fk[çkkyku $zk {qfðk MÚk¤ktíkh fheLku ykðu Au.

	 (A) 1, 2 yLku 3		  (B) Võík 1 yLku 2

	 (C) Võík 1 yLku 3		  (D) Võík 2 yLku 3

103.	 ¼khu Ãkkýe (nuðe ðkuxh) çkkçkíku Lke[uLkk Ãkife fÞk rðÄkLkku Mkk[kt Au ?

	 1. nuðe ðkuxh fwËhíke heíku çkLku Au yÚkðk íku E÷uõxÙkur÷rMkMkLke «r¢Þk {khVíku çkLkkððk{kt ykðu Au.

	 2. þwæÄ nuðe ðkuxh rfhýkuíMkøkeo (huzeÞkuyuõxeð) Au.

	 3. LÞwÂõ÷Þh Ãkkðh Ã÷kLx{kt nuðe ðkuxh fw÷Lx (coolant) íkhefu ðÃkhkÞ Au.

	 4. �¼÷u Vwøk yLku çkuõxurhÞk 100% nuðe ðkuxhLkku WÃkÞkuøk fhe Srðík hne þfu Au, Ãkhtíkw {kLkð îkhk nuðe ðkuxhLkwt MkuðLk 
ÔktæÞefhý (sterilisation)Lkwt fkhý çkLke þfu Au.

	 (A) 1, 2, 3 yLku 4		  (B) Võík 2 yLku 3

	 (C) Võík 1, 2 yLku 4		  (D) Võík 1, 3 yLku 4

104.	 ¼khíkeÞ Mkthûký íktºkLkk nu÷eLkk (Helina) çkkçkíku Lke[uLkk Ãkife fÞk rðÄkLkku Mkk[kt Au ?

	 1. �HELINA (Helicopter based NAG) yu ºkeS sLkhuþLkLkwt ‘VkÞh yuLz Vhøkux’ ðøkoLkwt xuLf rðhkuÄe økkEzuz 
r{MkkE÷ Au.

	 2. �íkuLke rMkMx{ fkuEÃký nðk{kLku rËðMk yLku hkík fk{ fhðkLke ûk{íkk Ähkðu Au yLku ÃkhtÃkhkøkík þMºk íku{s rðMVkuxf 
«ríkr¢Þkþe÷ þMºk ðzu ÞwæÄ hýøkkzeyku (battle tanks)Lku ÃkhkMík fhe þfu Au.

	 3. �¼khíkeÞ LkkifkË¤{kt HELINA þMºkíktºkLkk yuf «fkhLku, suLku ÄúwðMºk (DHRUVASTRA) fnu Au, Mkk{u÷ fhðk{kt 
ykðe hÌkku Au.

	 (A) 1, 2 yLku 3		  (B) Võík 1 yLku 2

	 (C) Võík 1 yLku 3		  (D) Võík 2 yLku 3
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101.	 Which of the following are the effects of Himalayas on India’s climate?

	 1. Preventing North India from becoming a cold desert

	 2. Precipitation in North India

	 3. Moderating effect on climate in Peninsular India

	 (A) 1 and 2 only		  (B) 2 and 3 only

	 (C) 1 and 3 only		  (D) 1, 2 and 3

102.	 Which of the following statements is/are correct regarding Bhitarkanika National Park?

	 1. It is the second largest mangrove system in India.

	 2. It is recognized under the Ramsar Convention.

	 3. Olive Ridley turtles migrate to lay eggs on the beaches of this area.

	 (A) 1, 2 and 3		  (B) 1 and 2 only

	 (C) 1 and 3 only		  (D) 2 and 3 only

103.	 Which of the following statements are correct regarding Heavy Water?

	 1. Heavy water occurs naturally or it is produced by the process of electrolysis.

	 2. Pure heavy water is radioactive.

	 3. Heavy water is used in nuclear power plants as a coolant.

	 4. �Though algae and bacteria can live using 100% heavy water, but consumption of heavy water 
by humans may cause sterilisation.

	 (A) 1, 2, 3 and 4		  (B) 2 and 3 only

	 (C) 1, 2 and 4 only		  (D) 1, 3 and 4 only

104.	 Which of the following statements are correct regarding Helina of Indian Defence system?

	 1. �HELINA (Helicopter based NAG) is a third generation fire and forget class anti-tank guided 
missile

	 2. �Its system has all weather day and night capability and can defeat battle tanks with conventional 
armour as well as explosive reactive armour

	 3. �A variant of HELINA Weapon System called DHRUVASTRA is being inducted into the Indian 
Navy.

	 (A) 1, 2 and 3		  (B) 1 and 2 only

	 (C) 1 and 3 only		  (D) 2 and 3 only

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight



M

[CSP-2]46 [Contd.

105.	� ‘çkkÞkuxufLkku÷kuS’ {kLkð fÕÞký {kxuLkk MkkËkt sirðf yusLxkuLkku rLkÞtrºkík yLku EhkËkÃkqðofLkku WÃkÞkuøk (application) Au. 
yk sirðf yusLxku .......... Lkku Mk{kðuþ fhu Au.

	 1. WíMku[fku

	 2. ELk rðxÙku (in vitro) ÂMÚkrík{kt MktðŠÄík AkuzLkk fku»kku

	 3. ykLkwðtrþf heíku íkiÞkh fhðk{kt ykðu÷k Mkqû{Sðkýwtyku

	 (A) 1, 2 yLku 3		  (B) Võík 2 yLku 3

	 (C) Võík 1 yLku 3		  (D) Võík 1 yLku 2

106.	 RT-PCR .......... Au.

	 1. heðMko xÙkLMkr¢Ãxus Ãkkur÷{huÍ [uELk heyuõþLk

	 2. mRNA Lke {kuxe MktÏÞkLke cDNA Lkf÷ku çkLkkððk {kxu PCRLkku WÃkÞkuøk ÚkkÞ Au.

	 3. íku RNA{ktÚke DNALke ÷k¾kuLke MktÏÞk{kt Lkf÷ku çkLkkððk Mkûk{ Au.

	 4. íku COVID-19 Lkk [uÃkLkk rLkËkLk fhðk {kxu ðÃkhkÞ Au.

	 (A) 1, 2, 3 yLku 4		  (B) Võík 1

	 (C) Võík 1, 2 yLku 3		  (D) Võík 2, 3 yLku 4

107.	� ík{k{ ðkEhMk hMkeyku (vaccines) çku «fkhLke nkuÞ Au. 1. rLkr»¢Þ (Inactivated) yLku 2. ûkeý (Attenuated). 
yk .......... Au.

	 1. ûkeý (attenuation) {ík÷çk rð»k{íkk-ÍuheÃkýwt (virulence){kt ¼khu ½xkzku.

	 2. rLkr»¢Þ (inactivated) hMke {khe Lkk¾ðk{kt ykðu÷k hkuøksLkf (pathogenic) fku»kkuLkku WÃkÞkuøk fhu Au.

	 3. fkuðuÂõMkLk ykÃkýe MðËuþe rLkr»¢Þ (inactivated) hMke Au.

	 4. fkuðuÂõMkLk yu fkuhkuLkk ðkEhMkLku ûkeý fheLku rðfMkkððk{kt ykðe Au.

	 (A) 1, 2, 3 yLku 4		  (B) Võík 1, 2 yLku 4

	 (C) Võík 2, 3 yLku 4		  (D) Võík 1, 2 yLku 3

108.	 Mkk{kLÞ heíku økxh-{¤Ãkkýe «r¢Þk (Mkeðus xÙex{uLx) .......... Lku Mkk{u÷ fhu Au.

	 1. þuðk¤ (algal) çkuõxurhÞ÷ MknSðLk (symbiosis)

	 2. VkuxkuMkeLÚkuxef («fkþMkt&÷u»ký) ykuÂõMkSLkuþLk

	 3. MkurLÿÞ (ykuøkuorLkf) ÃkËkÚkkuoLkwt sið yð¢{ý (çkkÞkuzeøkúuþLk)

	 4. ÃkrhÂMÚkríkLke çknkh (yuõMk-Mkexw) çkkÞku÷e®[øk

	 (A) Võík 1 yLku 2		  (B) Võík 2 yLku 3

	 (C) Võík 1, 2, yLku 3		  (D) 1, 2, 3 yLku 4
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105.	� ‘Biotechnology’ is controlled and deliberate application of simple biological agents to derive 
human welfare. These biological agents include _______.

	 1. Enzymes

	 2. Plant cells cultured in vitro

	 3. Genetically engineered microbes

	 (A) 1, 2 and 3		  (B) 2 and 3 only

	 (C) 1 and 3 only		  (D) 1 and 2 only

106.	 RT-PCR is a_______

	 1. Reverse transcriptase polymerase chain reaction

	 2. The use of PCR is to produce a large number of cDNA copies of mRNA

	 3. It is to produce millions of copies of the DNA from RNA

	 4. It is used for the diagnosis of COVID – 19 infection

	 (A) 1, 2, 3 and 4		  (B) 1 only

	 (C) 1, 2 and 3 only		  (D) 2, 3 and 4 only

107.	 Whole virus vaccines are of two types: 1. Inactivated 2. Attenuated, these are _______.

	 1. Attenuation means drastic reduction in the virulence.

	 2. Inactivated vaccine uses killed pathogenic cells.

	 3. Covaxin is our indigenous, inactivated vaccine.

	 4. Covaxin is developed by attenuation of corona virus.

	 (A) 1, 2, 3 and 4		  (B) 1, 2 and 4 only

	 (C) 2, 3 and 4 only		  (D) 1, 2 and 3 only

108.	 Sewage treatments generally involve_______.

	 1. Algal-bacterial symbiosis

	 2. Photosynthetic oxygenation

	 3. Biodegradation of organic matter

	 4. Ex-situ bioleaching

	 (A) 1 and 2 only		  (B) 2 and 3 only

	 (C) 1, 2, and 3 only		  (D) 1, 2, 3 and 4

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight



M

[CSP-2]48 [Contd.

109.	 ¼khíkLke «Úk{ MðËuþe COVID-19 hMke COVAXIN çkkçkíku Lke[uLkk Ãkife fÞk rðÄkLkku Mkk[kt Au ?

	 1. COVAXIN ¼khík çkkÞkuxuf îkhk rðfMkkððk{kt ykðe Au.

	 2. COVAXINLkk rðfkMk{kt ELzeÞLk fkWÂLMk÷ ykuV {uzef÷ heMk[o (ICMR) Mkk{u÷ níkwt.

	 3. COVAXINLkk rðfkMk{kt LkuþLk÷ ELMxexâwx ykuV ðkEhku÷kuS Mkk{u÷ níkwt.

	 4. COVAXIN yu ðkEh÷ MÃkkEf «kuxeLkLke s çkLku÷e Au.

	 (A) 1, 2, 3 yLku 4	 (B) Võík 1, 3 yLku 4	 (C) Võík 1, 2 yLku 3	 (D) Võík 2, 3 yLku 4

110.	 suLkku økúkuMk Ãkkðh (Mwe) 220 Úke ykuAku nkuÞ yuðk LÞwÂõ÷Þh Ãkkðh Ã÷kLxLku ÃkMktË fhku.

	 (A) fwzLkfw÷{ LÞwÂõ÷Þh Ãkkðh MxuþLk - 1, íkkr{÷Lkkzw

	 (B) íkkhkÃkwh yuxkur{f Ãkkðh Ã÷kLx - 3, {nkhk»xÙ

	 (C) fkfhkÃkkh yuxkur{f Ãkkðh Ã÷kLx - 1, økwshkík

	 (D) hksMÚkkLk yuxkur{f Ãkkðh Ã÷kLx - 2, hksMÚkkLk

111.	� LkðeLk yLku LkðeLkefhýeÞ Qòo {tºkk÷Þ (Ministry of New and Renewable Energy) Lke Mkkih Mxze ÷uBÃk ÞkusLkkLkwt 
(The Solar Study Lamp Scheme) y{÷efhý .......... îkhk ÚkkÞ Au.

	 (A) yuLkSo yurVrþÞLMke MkðeoMkeÍ r÷r{xuz

	 (B) ELzeÞLk ELMxexâwx ykuV xufLkku÷kuS, {wtçkE

	 (C) (A) yLku (B) çktLku

	 (D) (A) yLku (B) çktLku Ãkife yufÃký Lknª

112.	� PM JI-VAN («ÄkLk{tºke sið $Äý-ðkíkkðhý yLkwfq¤ VMk÷ yðþu»k rLkðkhý) ÞkusLkkLkk Lke[uLkk Ãkife fÞk  
WÆu~Þku Au ?

	 1. ¾uzqíkkuLku íku{Lkk yLÞÚkk çkkfe ðÄu÷kt f]r»k-f[hk {kxu ð¤íkhÞwõík ykðf Ãkqhe Ãkkzðe.

	 2. økúkr{ý yLku þnuhe hkusøkkheLke íkfku W¼e fhðe.

	 3. sið{kºkk (çkkÞku{kMk) / çkkfe ðÄu÷ f]r»k-f[hkLku Mk¤økkððkÚke Úkíkk ÃkÞkoðhýeÞ «Ëq»kýLke ®[íkkykuLkwt rLkðkhý fhðwt.

	 (A) Võík 1 yLku 2		  (B) Võík 2 yLku 3

	 (C) Võík 1 yLku 3		  (D) 1, 2 yLku 3

113.	� ç÷kuf[uLkLku yuðk «fkhLkk Lkuxðfo yktíkh{k¤¾kfeÞ MkwrðÄk íkhefu ÔÞkÃkf heíku ÔÞkÏÞkrÞík fhe þfkÞ fu su .......... Lku 
Ëk¾÷ fheLku Lkuxðfo{kt rðïkMkLkwt MksoLk fhe þfu.

	 1. rðíkrhík [fkMkýe ûk{íkk (Distributed verifiability)

	 2. íkÃkkMk ûk{íkk (Auditability)

	 3. MkðoMkt{rík (Consensus)

	 (A) 1, 2 yLku 3		  (B) Võík 2 yLku 3

	 (C) Võík 1 yLku 3		  (D) Võík 1 yLku 2
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109.	� Which of the following statements are correct regarding India’s first indigenous COVID-19 
vaccine COVAXIN?

	 1. COVAXIN is developed by Bharat Biotech

	 2. Indian Council of Medical Research (ICMR) was involved in the development of COVAXIN

	 3. National Institute of Virology was involved in the development of COVAXIN

	 4. COVAXIN is made up of viral spike protein only.

	 (A) 1, 2, 3 and 4		  (B) 1, 3 and 4 only

	 (C) 1, 2 and 3 only		  (D) 2, 3 and 4 only

110.	 Select the nuclear power plant whose gross power (Mwe) is less than 220 _______.

	 (A) Kudankulam Nuclear Power Station – 1, Tamil Nadu

	 (B) Tarapur Atomic Power Plant – 3, Maharashtra

	 (C) Kakrapar Atomic Power Plant – 1, Gujarat

	 (D) Rajasthan Atomic Power Plant – 2, Rajasthan

111.	� The Solar Study Lamp Scheme of the Ministry of New and Renewable Energy is implemented  
by _______.

	 (A) Energy Efficiency Services Limited

	 (B) Indian Institute of Technology, Mumbai

	 (C) Both (A) and (B)

	 (D) Neither (A) nor (B)

112.	� Which of the following are the objectives of the PM JI-VAN (Jaiv Indhan- Vatavaran Anukool 
fasal awashesh Nivaran) Yojana?

	 1. Provide remunerative income to farmers for their otherwise waste agriculture residues.

	 2. To create rural and urban employment opportunities.

	 3. Address concerns of environmental pollution caused by burning of biomass/agriculture residues.

	 (A) 1 and 2 only		  (B) 2 and 3 only

	 (C) 1 and 3 only		  (D) 1, 2 and 3

113.	� Blockchain can broadly be defined as a type of network infrastructure that create trust in networks 
by introducing _______

	 1. Distributed verifiability

	 2. Auditability

	 3. Consensus

	 (A) 1, 2 and 3		  (B) 2 and 3 only

	 (C) 1 and 3 only		  (D) 1 and 2 only
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114.	� hk»xÙeÞ rð¿kkLk, «kiãkurøkfe yLku Lkðk[kh Lkerík 2020 yu ¼khíkLke .......... {e hk»xÙeÞ rð¿kkLk, «kiãkurøkfe yLku  
Lkðk[kh Lkerík Au.

	 (A) Ãknu÷e	 	 (B) ºkeS

	 (C) Mkkík{e	 	 (D) Ãkkt[{e

115.	 hkufux ÷kuL[ªøk MxuþLk íkhefu ÚkwBçkk hkufux MxuþLkLku ÃkMktË fhðk{kt ykÔÞwt fkhý fu íku .......... ykðu÷wt Au.

	 (A) rð»kwðð]¥kLke çknw LkSf		  (B) ¼q[wtçkfeÞ (Geomagnetic) rð»kwðð]¥kLke çknw LkSf

	 (C) ffoð]¥kLke rçk÷fw÷ WÃkh		  (D) {fhð]¥kLke çknw LkSf

116.	 Ãkh{kýw Qòo fkÞo¢{Lkk ºký íkçk¬kyku{kt Lke[uLkk Ãkife fÞwt rðÄkLk ¾kuxku íkçk¬ku Au ?

	 (A) «Úk{ íkçk¬ku ËçkkýÞwõík nuðe ðkuxh heyuõxhLkku Mk{kðuþ fhu Au.

	 (B) çkeòu íkçk¬ku ÍzÃke çkúezh heyuõxhkuLkku Mk{kðuþ fhu Au.

	 (C) ºkeòu íkçk¬ku ÚkkurhÞ{-ÞwhurLkÞ{-233 [¢ku WÃkh ykÄkrhík Au.

	 (D) WÃkhkuõík Ãkife fkuE Lknª

117.	 ûkku¼{tz¤ (Troposphere) çkkçkíku Lke[uLkk Ãkife fÞwt rðÄkLk Mkk[wt Au ?

	 (A) rðïLkk swËk swËk ¼køkku{kt ûkku¼{tz¤ yuf Mkh¾wt ½kxwt (thick) nkuÞ Au.

	 (B) ûkku¼{tz¤ ykuÍkuLk MíkhLkku Mk{kðuþ fhu Au.

	 (C) ûkku¼{tz¤ Äúwðku fhíkkt rð»kwðð]¥k ÃkkMku ðÄw Ãkkík¤wt nkuÞ Au.

	 (D) ûkku¼{tz¤ Äúwðku fhíkkt rð»kwðð]¥k ÃkkMku ðÄw ½è nkuÞ Au.

118.	 W»ý frxçktÄeÞ [¢ðkík{kt fÞku ¼køk þktík nkuÞ Au ?

	 (A) ykt¾		  (B) ytøk

	 (C) Ãkrh½		  (D) WÃkhkuõík Ãkife fkuE Lknª

119.	 BÞqfkuŠ{fkurMkMk (Mucormycosis) çkkçkíku Lke[uLkk Ãkife fÞk rðÄkLkku Mkk[kt Au ?

	 1. íku yuf yk¢{f, «ýk÷eøkík hkuøk«ríkfkhf {uxkçkkur÷f [uÃk Au.

	 2. íku yuf Mkk{kLÞ {kLkð [uÃk Au fu su yøkkW ÍkÞøkkuBÞwfkurMkMk Ãký fnuðkíkwt.

	 3. �BÞwwfkuŠ{fkurMkMk çknwrðÄ rðrðÄ VqøkLke «òríkyku îkhk ÚkkÞ Au su{kt BÞqfkuh, hkEÍkuÞMk yLku hkEÍkuBÞqfkuhLkku Mk{kðuþ 
ÚkkÞ Au.

	 4. çkÄk s {Lkw»Þku ÷øk¼øk ËirLkf Äkuhýu íku{Lkk çkesfýkuLkk MktÃkfo{kt ykðu Au.

	 (A) Võík 1 yLku 2		  (B) Võík 1, 3 yLku 4

	 (C) Võík 1 yLku 3		  (D) Võík 2, 3 yLku 4
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114.	� The National Science, Technology and Innovation Policy 2020, is _______ national science, 
technology and innovation policy of India.

	 (A) First		  (B) Third

	 (C) Seventh		  (D) Fifth

115.	 Thumba Rocket Station was selected as a Rocket Launching Station as it is located on _______.

	 (A) Very close to Equator

	 (B) Very close to Geomagnetic Equator

	 (C) Exactly on Tropic of Cancer

	 (D) Very close to Tropic of Capricorn

116.	� Which of the following statements are incorrect stage in the three stages of nuclear power 
programme?

	 (A) First stage comprises pressurized heavy water reactor.

	 (B) Second stage consists of fast breeder reactors.

	 (C) Third stage is based on thorium-uranium-233 cycles.

	 (D) None of the above

117.	 Which of the following statements is correct regarding Troposphere?

	 (A) Troposphere is equally thick across different parts of the world

	 (B) Troposphere contains the ozone layer

	 (C) Troposphere is thinner at the equator than at the poles

	 (D) Troposphere is thicker at the equator than at the poles

118.	 Which is the calm part of a tropical cyclone?

	 (A) Eye		  (B) Limb

	 (C) Periphery		  (D) None of the above

119.	 Which of the following statements are correct regarding Mucormycosis?

	 1. It is an invasive systemic, immune-metabolic infection.

	 2. This is a very common human infection also earlier called zygomycosis.

	 3. �Mucormycosis is caused by multiple different fungal species including Mucor, Rhizopus and 
Rhizomucor.

	 4. All humans are exposed to their spores on almost daily basis.

	 (A) 1 and 2 only		  (B) 1, 3 and 4 only

	 (C) 1 and 3 only		  (D) 2, 3 and 4 only
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120.	 Lke[uLkk Ãkife fÞkt rðÄkLkku Mkk[kt Au ?

	 1. «kÃík Úkíke QòoLke {kºkk Lk¬e fhðk {kxu yûkktþ yuf {níðÃkqýo Ãkrhçk¤ Au.

	 2. ðes[wtçkfeÞ (electromagnetic) MÃkufxÙ{ ûk-rfhýku, «fkþ rfhýku yLku huzeÞku íkhtøkkuLkku Mk{kðuþ fhu Au.

	 3. rfhýkuíMkøko yu {kæÞ{ Au fu suLkk îkhk MkqÞoLkku íkkÃk (insolation) ykÃkýkt MkwÄe ÃknkU[u Au.

	 4. økh{e ðkíkkðhý{kt MktðnLk (convection) îkhk MÚkkLkktíkrhík ÚkkÞ Au.

	 (A) 1, 2, 3 yLku 4		  (B) Võík 1, 2 yLku 4

	 (C) Võík 2 yLku 3		  (D) Võík 1, 2 yLku 3

121.	 ¼qW»{eÞ Qòo (Geothermal Energy) çkkçkíku Lke[uLkk Ãkife fÞk rðÄkLkku Mkk[kt Au ?

	 1. ðes¤e ÃkuËk fhíke ð¾íku ¼qW»{eÞ Ã÷kLx fkuE fkçkoLk zkÞkuõMkkEz yLku MkÕVhLkk MktÞkusLkku {wõík fhíkkt LkÚke.

	 2. �¼qW»{eÞ Ãkkðh Ã÷kLx, ¼qW»{eÞ ¼tzkhku{kt Mkk{kLÞ heíku òuðk {¤íkk nkEzÙkusLk MkÕVkEzLku Ëqh fhðk {kxu M¢çkMkoLkku 

WÃkÞkuøk fhu Au.

	 3. ¼qW»{eÞ Ãkkðh Ã÷kLx ðes¤e ÃkuËk fhðk {kxu çk¤íký ($Äý)Lkwt ËnLk fhíkk LkÚke.

	 (A) Võík 2 yLku 3		  (B) Võík 1 yLku 3

	 (C) Võík 1 yLku 2		  (D) 1, 2 yLku 3

122.	 Lke[uLkk Ãkife fÞk rðÄkLkku Mkk[kt Au ?

	 1. {kLkð þhehLkwt Ãke.yu[. (pH) Mknus yurMkrzf nkuÞ Au.

	 2. yÃk[k ËhBÞkLk sXh ½ýwt çkÄw yurMkz WíÃkLLk fhu Au su Ãkezk yLku çk¤íkhkLkwt fkhý çkLku Au.

	 3. yríkþÞ yurMkrzxe{ktÚke {wÂõík {u¤ððk {kxu ‘r{Õf ykuV {uøLkurþÞk’Lkku WÃkÞkuøk fhe þfkÞ Au.

	 (A) Võík 1 yLku 2		  (B) Võík 1 yLku 3

	 (C) Võík 2 yLku 3		  (D) 1, 2 yLku 3

123.	 òÃkkLkeÍ yuLfuVu÷kExeMk (Japanese Encephalitis) çkkçkíku Lke[uLkk Ãkife fÞk rðÄkLkku Mkk[kt Au ?

	 1. òÃkkLkeÍ yuLfuVu÷kExeMk (JE) yuf ðkÞh÷ hkuøk Au.

	 2. JE yu {øksLkk Mkkuò MkkÚku Mktf¤kÞu÷wt Au.

	 3. íku ÃkþwsLÞ Au yLku {kLkðeyku{kt õÞq÷uõMk {åAhku îkhk Vu÷kÞ Au.

	 (A) Võík 1 yLku 3		  (B) Võík 1 yLku 2

	 (C) Võík 2 yLku 3		  (D) 1, 2 yLku 3
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120.	 Which of the following statements are correct?
	 1. Latitude is an important factor in determining the amount of energy received
	 2. The electromagnetic spectrum includes X-rays, heat rays, light rays and radio waves.
	 3. Radiation is the means by which insolation reaches us.
	 4. Heat is also transferred in the atmosphere by Convection.
	 (A) 1, 2, 3 and 4
	 (B) 1, 2 and 4 only
	 (C) 2 and 3 only
	 (D) 1, 2 and 3 only

121.	 Which of the following statements are correct regarding “Geothermal energy”?
	 1. �Geothermal plants do not release any carbon dioxide and sulphur compounds while generating 

electricity.
	 2. �Geothermal power plants use scrubbers to remove the hydrogen sulfide naturally found in 

geothermal reservoirs
	 3. Geothermal power plants do not burn fuel to generate electricity
	 (A) 2 and 3 only
	 (B) 1 and 3 only
	 (C) 1 and 2 only
	 (D) 1, 2 and 3

122.	 Which of the following statements are correct?
	 1. pH of the human body is slightly acidic.
	 2. During the indigestion the stomach produces too much acid, which causes pain and irritation.
	 3. Milk of magnesia can be used to get rid of the excessive acidity.
	 (A) 1 and 2 only
	 (B) 1 and 3 only
	 (C) 2 and 3 only
	 (D) 1, 2 and 3

123.	 Which of the following statements are correct regarding Japanese Encephalitis?
	 1. Japanese Encephalitis (JE) is a viral disease.
	 2. JE is related with the inflammation of brain.
	 3. It is a zoonosis and spreads among human beings by Culex mosquitoes.
	 (A) 1 and 3 only
	 (B) 1 and 2 only
	 (C) 2 and 3 only
	 (D) 1, 2 and 3
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124.	 Lke[uLkk Ãkife fÞwt / fÞkt rðÄkLk / rðÄkLkku Mkk[wt / Mkk[kt Au ?

	 1. hkuøkLkwt fkhý çkLkíkk yusLxku{kt «kuxkuÍkuyk yLku ÃkhkuÃkSðe f]r{ykuLkku Mk{kðuþ ÚkkÞ Au.

	 2. yuMMkuhefeÞk fku÷kE (Escherichia coli) Mkk{kLÞ heíku {Lkw»ÞkuLkk {kuxk yktíkhzk{kt çkLku Au.

	 3. Ãkkýe{kt ÿkÔÞ rfhýkuíMkøkeo ykEMkkuxkuÃk s¤«Ëq»ký ÃkuËk fhíkkt LkÚke.

	 (A) Võík 1		  (B) Võík 1 yLku 2

	 (C) Võík 1 yLku 3		  (D) 1, 2 yLku 3

125.	 ELzeÞLk heSÞkuLk÷ LkuðeøkuþLk Mkuxu÷kEx MkeMx{ (IRNSS) : NavIC çkkçkíku Lke[uLkk Ãkife fÞkt rðÄkLkku Mkk[kt Au ?

	 1. �íku ðÃkhkþfíkkoykuLku ¼khík{kt íku{s íkuLke Mke{kÚke 1500 rf÷ku{exh MkwÄe rðMíkhu÷k «Ëuþ{kt [ku¬Mk ÂMÚkrík {krníke 
Mkuðkyku Ãkqhe Ãkkzðk {kxu h[ðk{kt ykðu÷wt Au.

	 2. IRNSS MkeMx{ «kÚkr{f Mkuðk rðMíkkh{kt 20 {exh fhíkk ðÄw Mkkhe ÂMÚkrík-[kufMkkE Ãkqhe Ãkkzu íkuðe yÃkuûkk Au.

	 3. IRNSS-1A yðfkþÞkLk ¼khíkeÞ «Ëuþ{kt ðÃkhkþfíkkoykuLku {uMku®søk Mkuðkyku Ãkqhe Ãkkzu Au.

	 (A) 1, 2 yLku 3		  (B) Võík 2 yLku 3

	 (C) Võík 1 yLku 3		  (D) Võík 1 yLku 2

126.	� {tøk¤ ykuŠçkxh r{þLk yðfkþÞkLk (Mars Orbiter Mission Spacecraft) çkkçkíku Lke[uLkk Ãkife fÞk rðÄkLkku  
Mkk[kt Au ?

	 1. �{tøk¤ ykuŠçkxh r{þLk yu ¼khíkLkwt {tøk¤ økún ÃkhLkwt ykuŠçkxh ¢k^x (orbiter craft) MkkÚkuLkwt «Úk{ yktíkhøkúneÞ  
r{þLk Au.

	 2. yk r{þLk fw÷ Ãkkt[ Ãku-÷kuz (payloads)Lkku Mk{kðuþ fhu Au.

	 3. {tøk¤ r{ÚkuLk MkuLMkh, {tøk¤ htøkeLk fu{uhk y™u ÷kÞ{Lk Vkuxku {exh yk Ãkkt[ Ãku-÷kuzLkk rnMMkk Au.

	 4. yk r{þLk {kxu ÷kuL[ Ônef÷ íkhefu GSLV-MK-III Lkku WÃkÞkuøk ÚkÞku Au.

	 (A) 1, 2, 3 yLku 4		  (B) Võík 1, 2 yLku 3

	 (C) Võík 2, 3 yLku 4		  (D) Võík 1, 2 yLku 4

127.	 CERT-In çkkçkíku Lke[uLkk Ãkife fÞk rðÄkLkku Mkk[kt Au ?

	 1. �CERT-In fkuBÃÞwxh MkwhûkkLku ÷økíke ½xLkkyku ßÞkhu Ãký çkLku íÞkhu íkuLkku sðkçk/«ríkr¢Þk ykÃkðk {kxuLke hk»xÙeÞ 
Lkkuz÷ yusLMke Au.

	 2. CERT-In yu òLÞwykhe 2014Úke fkÞohík Au.

	 3. MkkÞçkh MkwhûkkLku ÷økíke ½xLkkykuLke ykøkkne yLku [uíkðýeyku ykÃkðe yu CERT-InLkk fkÞkuo ÃkifeLkwt yuf Au.

	 (A) 1, 2 yLku 3		  (B) Võík 1 yLku 2

	 (C) Võík 1 yLku 3		  (D) Võík 2 yLku 3
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124.	 Which of the following statements is/are correct?

	 1. Disease causing agents include protozoa and parasitic worms

	 2. Escherichia coli normally grows in the large intestine of human beings

	 3. Water soluble radioactive isotopes don’t create water pollution

	 (A) 1 only		  (B) 1 and 2 only

	 (C) 1 and 3 only		  (D) 1, 2 and 3

125.	� Which of the following statements are correct regarding Indian Regional Navigation Satellite 
System (IRNSS) : NavIC?

	 1. �It is designed to provide accurate position information service to users in India as well as the 
region extending up to 1500 km from its boundary

	 2. �The IRNSS System is expected to provide a position accuracy of better than 20 meters in the 
primary service area.

	 3. IRNSS-1A spacecraft provides messaging service to users in the Indian region.

	 (A) 1, 2 and 3		  (B) 2 and 3 only

	 (C) 1 and 3 only		  (D) 1 and 2 only

126.	 Which of the following statements are correct regarding Mars Orbiter Mission Spacecraft?

	 1. Mars Orbiter Mission is India’s first interplanetary mission to planet Mars with an orbiter craft

	 2. This Mission consists of total five payloads

	 3. �Methane sensor of Mars, Mars colour camera and Lyman Alpha Photometer are the parts of 
these five payloads

	 4. GSLV-MK-III is used as launch vehicle of this mission

	 (A) 1, 2, 3 and 4		  (B) 1, 2 and 3 only

	 (C) 2, 3 and 4 only		  (D) 1, 2 and 4 only

127.	 Which of the following statements are correct regarding CERT-In?

	 1. �CERT-In is the national nodal agency for responding to computer security incidents as and 
when they occur

	 2. CERT-In is operational since January 2014

	 3. Forecast and alerts of cyber security incidents is one of the functions of CERT-In

	 (A) 1, 2 and 3		  (B) 1 and 2 only

	 (C) 1 and 3 only		  (D) 2 and 3 only
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128.	 ¼khíke, ¼khíkLkwt MktþkuÄLk fuLÿ, çkkçkíku Lke[uLkk Ãkife fÞwt / fÞk rðÄkLk / rðÄkLkku Mkk[wt / Mkk[kt Au ?

	 1. {iºkeLke ykþhu 3000 rf÷ku{exh Ãkqðuo, Lkðwt ¼khíkeÞ MktþkuÄLk çkuÍ ‘¼khíke’ ykðu÷wt Au.

	 2. yk ËrhÞkLke MkÃkkxeÚke ykþhu 3500 {exh WÃkh ykðu÷wt Au.

	 3. �yk MxuþLk ¼khíkeÞ ykforxf fkÞo¢{ (Indian Arctic Programme) îkhk Mk{økú ð»ko ËhBÞkLk nkÚk Ähðk{kt ykðíke 
MktþkuÄLk «ð]r¥kLke Mkwøk{íkk fhe ykÃkðk {kxu fkÞohík fhðk{kt ykÔÞwt Au.

	 (A) 1, 2 yLku 3		  (B) Võík 2 yLku 3

	 (C) Võík 1 yLku 3		  (D) Võík 1

129.	 ¼khík{kt 4G LTE xu÷efku{ çkkçkíku Lke[uLkk Ãkife fÞwt / fÞk rðÄkLk / rðÄkLkku Mkk[wt / Mkk[kt Au ?

	 (A) �nk÷{kt ¼khík{kt 2300 Úke 2400 MHz (TD-LTE) £efðLMke huLs Ähkðíkwt 4G LTE çkuLz-40 Mkr¢Þ 
(ykuLk÷kELk) Au.

	 (B) Mkhfkh îkhk 1800 MHz (FDD-LTE) £eõðLMke{kt Ãký LTE çkuLzLke nhkS fhðk{kt ykðe Au.

	 (C) (A) yLku (B) çktLku

	 (D) (A) yLku (B) çktLku Ãkife yufÃký Lknª

130.	 ¼khíkLkk MkuLxh Vkuh zuð÷Ãk{uLx ykuV yuzðkLMkz fkuBÃÞwxªøk (C-DAC) çkkçkíku Lke[uLkk Ãkife fÞk rðÄkLkku Mkk[kt Au ?

	 1. �Þw.yuMk.yu. îkhk MkwÃkh fkuBÃÞwxhLke ykÞkíkLku LkfkhðkLkk MktË¼o{kt C-DACLke MÚkkÃkLkk MkwÃkh fkuBÃÞwxh çkLkkððk {kxu 
fhðk{kt ykðe níke.

	 2. �C-DAC yu ¼khíkeÞ ¼k»kk fkuBÃÞwxªøk MkkuÕÞwþLMk çkLkkððkLke þYykík GIST (økúkVeõMk yuLz ELxu÷esLMk çkuÍTz 
M¢eÃx xufLkku÷kuS) sqÚkLke MÚkkÃkLkkÚke fhe.

	 3. yk MktMÚkk ð»ko 1995{kt þY fhðk{kt ykðe níke.

	 (A) Võík 1 yLku 2		  (B) Võík 2 yLku 3

	 (C) Võík 1 yLku 3		  (D) 1, 2 yLku 3

131.	 Lke[uLkk Ãkife fÞwt rðÄkLk Mkk[wt Au ?

	 (A) s¤kþÞ{kt ÿkÔÞ ykuÂõMksLk Ÿ[wt nkuðkLke yÃkuûkk nkuÞ Au fu ßÞkhu íkuLkwt íkkÃk{kLk Lke[wt nkuÞ.

	 (B) s¤kþÞ{kt ÿkÔÞ ykuÂõMksLk Ÿ[w nkuðkLke yÃkuûkk nkuÞ Au fu ßÞkhu íkuLkwt íkkÃk{kLk ô[w nkuÞ.

	 (C) s¤kþÞ{kt ÿkÔÞ ykuÂõMksLk Lke[wt nkuðkLke yÃkuûkk nkuÞ Au fu ßÞkhu íkuLkwt íkkÃk{kLk Lke[wt nkuÞ.

	 (D) s¤kþÞ{kt ÿkÔÞ ykuÂõMksLk íkuLkk íkkÃk{kLkÚke Mðíktºk Au.

132.	 xe.ðe. rðøkuhu {kxuLkk he{kux ftxÙku÷ økuÍux (gadget) íkuLke ytËh .......... Ähkðu Au.

	 (A) yufh LkkLkwt ðes[wtçkf fu su ðes[wtçkfeÞ íkhtøkku WíMkŠsík fhu Au.

	 (B) yuf LkkLkwt ykurMk÷uxh (oscillator) fu su E÷uõxÙef Äçkfkhk WíMkŠsík fhu Au.

	 (C) yuf LkkLkwt xÙkLMk{exh fu su EL£khuz Mktfuíkku WíMkŠsík fhu Au.

	 (D) WÃkhkuõík Ãkife fkuE Lknª
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128.	 Which of the following statements is/are correct regarding Bharati, The research Centre of India?

	 1. About 3000 km East of Maitri, the new Indian research base ‘Bharati’ is located.

	 2. This is located approximately at 3500 meters above sea level.

	 3. �The station was commissioned to facilitate year-round scientific research activity by the Indian 
Arctic Programme.

	 (A) 1, 2 and 3		  (B) 2 and 3 only

	 (C) 1 and 3 only		  (D) 1 only

129.	 Which of the following statements is/are correct regarding 4G LTE telecom in India?

	 (A) �Currently in India, 4G LTE band-40 having 2300 to 2400 MHz (TD-LTE) frequency range is 
active (online)

	 (B) LTE band in 1800 MHz (FDD-LTE) frequency is also auctioned by the government

	 (C) Both (A) and (B)

	 (D) Neither (A) nor (B)

130.	� Which of the following statements are correct regarding Centre for Development of Advanced 
Computing (C-DAC) of India?

	 1. �The setting up of C-DAC was to build Supercomputers in context of denial of import of 
Supercomputers by USA

	 2. �C-DAC started building Indian Language Computing Solutions with setting up of GIST group 
(Graphics and Intelligence based Script Technology)

	 3. This institute was started in the year 1995

	 (A) 1 and 2 only		  (B) 2 and 3 only

	 (C) 1 and 3 only		  (D) 1, 2 and 3

131.	 Which of the following statements is correct?

	 (A) Dissolved oxygen of a water body is expected to be high when its temperature is low

	 (B) Dissolved oxygen of a water body is expected to be high when its temperature is high

	 (C) Dissolved oxygen of a water body is expected to be low when its temperature is low

	 (D) Dissolved oxygen of a water body is independent of its temperature

132.	 A remote control gadget for TV etc. has in it _______.

	 (A) A small electromagnet, that emits electromagnetic waves

	 (B) A small oscillator that emits electric pulses

	 (C) A small transmitter that emits infrared signals

	 (D) None of the above
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133.	 ÞwhurLkÞ{Lkk çku ykEMkkuxkuÃk 235U yLku 238U .......... Ähkðu Au.

	 1. Mkh¾e MktÏÞk{kt «kuxkuLk

	 2. Mkh¾e MktÏÞk{kt LÞqxÙkuLk

	 3. Ëhuf{kt 92 «kuxkuLk

	 (A) Võík 1 yLku 3		  (B) Võík 2 yLku 3

	 (C) Võík 1 yLku 2		  (D) 1, 2 yLku 3

134.	� økwshkík fkWLMke÷ ykuLk MkkÞLMk yuLz xufLkku÷kuS (GUJCOST) çkkçkíku Lke[uLkk Ãkife fÞwt / fÞk rðÄkLk / rðÄkLkku Mkk[wt / 
Mkk[kt Au ?

	 1. økwshkík fkWLMke÷ ykuLk MkkLÞMk yuLz xufLkku÷kuS (GUJCOST)Lke MÚkkÃkLkk MkÃxuBçkh, 2000{kt fhðk{kt ykðe níke.

	 2. Mxux fkWÂLMk÷Lke yæÞûkíkk hkßÞLkk {wÏÞ{tºke fhu Au.

	 3. �rðfkMkLke Ëu¾hu¾ îkhk rðrðÄ ûkuºkku{kt MktþkuÄLk yLku rðfkMkLke «ð]r¥kykuLku «kuíMkknLk ykÃkðwt yu GUJCOST Lkk 
nuíkwyku ÃkifeLkwt yuf Au.

	 (A) 1, 2 yLku 3		  (B) Võík 3

	 (C) Võík 2 yLku 3		  (D) Võík 1 yLku 2

135.	 fuLÿeÞ {kuxh Ônef÷ rLkÞ{ku, 1989 nuX¤ nkuLko (horn) {kxuLke yðksLke yðrÄ .......... ðå[u rLkÞík fhðk{kt ykðe Au.
	 (A) 90-110 dB		  (B) 100-120 dB
	 (C) 80-110 dB		  (D) 93-112 dB

136.	 huzeÞku r£fðLMke ykEzuLxeVefuþLk (RFID) xufLkku÷kuS çkkçkíku Lke[uLkk Ãkife fÞk rðÄkLkku Mkk[kt Au ?

	 1. RFID çku ½xfku : xuøk (tags) yLku hezMko (readers)Lke çkLku÷e ðkÞh÷uMk MkeMx{Lkku MktË¼o ykÃku Au.

	 2. �hezh yuf yuðwt WÃkfhý Au fu su yuf fhíkkt ðÄw yuLxeLkkyku Ähkðu Au su huzeÞku íkhtøkku WíMkŠsík fhu Au yLku RFID xuøk 
íkhVÚke Mktfuíkku Ãkhík {u¤ðu Au.

	 3. ÃkuMkeð RFID xuøk, hezh îkhk Mkt[kr÷ík nkuÞ Au yLku çkuxhe Ähkðíkk LkÚke.

	 (A) 1, 2 yLku 3		  (B) Võík 2 yLku 3

	 (C) Võík 1 yLku 3		  (D) Võík 1 yLku 2

137.	 nkÞÃkhxuõMx xÙkLMkVh «kuxkufku÷ (HTTP) çkkçkíku Lke[uLkk rðÄkLkku æÞkLku ÷ku.

	 rðÄkLk 1 : íku nkEÃkh{ezeÞk ËMíkkðuòuLkwt «Mkkhý fhðk {kxuLkwt yuÃ÷efuþLk-÷uÞh «kuxkufku÷ Au.

	 rðÄkLk 2 : íkuLke h[Lkk ðuçk çkúkWÍMko yLku ðuçk Mkðohku ðå[uLkk MktËuþkÔÞðnkh {kxu fhðk{kt ykðe níke.

	 (A) rðÄkLk 1 yLku 2 çktLku Mkk[kt Au yLku rðÄkLk 2 yu rðÄkLk 1 {kxuLke Mkk[e Mk{sqíke Au.

	 (B) rðÄkLk 1 yLku 2 çktLku Mkk[kt Au Ãkhtíkw rðÄkLk 2 yu rðÄkLk 1 {kxuLke Mkk[e Mk{sqíke LkÚke.

	 (C) rðÄkLk 1 Mkk[wt Au Ãkhtíkw rðÄkLk 2 ¾kuxwt Au.

	 (D) rðÄkLk 1 ¾kuxwt Au yLku rðÄkLk 2 Mkk[wt Au.
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133.	 The two isotopes of Uranium 235U and 238U have _______.
	 1. Equal number of protons
	 2. Equal number of neutrons
	 3. 92 protons each
	 (A) 1 and 3 only		  (B) 2 and 3 only
	 (C) 1 and 2 only		  (D) 1, 2 and 3

134.	� Which of the following statements is/are correct regarding Gujarat Council on Science and 
technology (GUJCOST)?

	 1. �The Gujarat Council on Science and Technology (GUJCOST) was established in  
September, 2000

	 2. The State council is headed by the Chief Minister of the State
	 3. �To encourage Research and Development activities in various sectors by monitoring the 

development is one of the objectives of GUJCOST
	 (A) 1, 2 and 3		  (B) 3 only
	 (C) 2 and 3 only		  (D) 1 and 2 only

135.	� Under the Central Motor Vehicle Rules, 1989, the noise range for horns has been 
fixed between_______.

	 (A) 90-110 dB		  (B) 100-120 dB
	 (C) 80-110 dB		  (D) 93-112 dB

136.	� Which of the following statements are correct regarding Radio Frequency Identification (RFID) 
technology?

	 1. RFID refers to a wireless system comprising two components: tags and readers
	 2. �The reader is a device that has one or more antennas that emit radio waves and receive signals 

back from the RFID tag
	 3. Passive RFID tags are powered by the reader and do not have a battery
	 (A) 1, 2 and 3		  (B) 2 and 3 only
	 (C) 1 and 3 only		  (D) 1 and 2 only

137.	 Consider the following statements regarding Hypertext Transfer Protocol (HTTP).
	 Statement 1 : It is an application-layer protocol for transmitting hypermedia documents
	 Statement 2 : It was designed for communication between web browsers and web servers
	 (A) Both Statements 1 and 2 are correct and statement 2 is the correct explanation for statement 1
	 (B) �Both Statements 1 and 2 are correct but Statement 2 is not the correct explanation for  

statement 1
	 (C) Statement 1 is correct but statement 2 is incorrect
	 (D) Statement 1 is incorrect and statement 2 is correct
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138.	� «kuÃkÕþLk (propulsion) {kxu WÃkÞkuøk{kt ÷uðkíkk hu{sux (Ramjet) yLku M¢u{sux (scramjet) yuÂLsLkku ðå[uLkku  
íkVkðík þwt Au ?

	 (A) �hu{sux yuÂLsLk hu{ nðkLkku WÃkÞkuøk fhu Au ßÞkhu M¢u{sux yuÂLsLk ykuÂõMksLkLkku WÃkÞkuøk fhu Au.

	 (B) �hu{sux yuÂLsLk{kt ËnLk (combustion) MkçkMkkurLkf økríkyu (subsonic speed) ÚkkÞ Au ßÞkhu M¢u{sux{kt íku 
MkwÃkhMkkurLkf økríkyu (supersonic speed) ÚkkÞ Au.

	 (C) �M¢u{sux yuÂLsLkÚke rðÃkheík hu{sux yuÂLsLk{kt EÂåAík økrík «kÃík fhðk {kxu nðkLku Mktfwr[ík (compress) fhðk 
{kxu Mktfku[fku (compressors)Lkku WÃkÞkuøk ÚkkÞ Au.

	 (D) �M¢u{sux yuÂLsLk{kt økrík ðÄkhðk {kxu xçkkoELk (turbine)Lkku WÃkÞkuøk ÚkkÞ Au ßÞkhu hu{sux yuÂLsLk{kt xçkkoELk 
nkuíkk LkÚke.

139.	 VoLTE çkkçkíku Lke[uLkk Ãkife fÞk rðÄkLkku Mkk[kt Au ?

	 1. VoLTE yux÷u ‘ðkuEMk ykuðh ÷kuLøk x{o EðkuÕÞwþLk’

	 2. íku LTE yuõMkuMk Lkuxðfo (access network) {khVíku IP WÃkh rzrsx÷ Ãkufux ðkuEMk MkðeoMk ze÷eðhe Au.

	 3. ÃkhtÃkhkøkík yðks (traditional voice) fhíkk MÃkufxÙ{ (spectrum)Lkku fkÞoûk{ WÃkÞkuøk Ãkwhku Ãkkzu Au.

	 4. yuf Lkuxðfo WÃkh yðks yLku yLÞ Lkuxðfo WÃkh zuxk nkuðkLke sYheÞkíkLku Ëqh fhu Au.

	 (A) 1, 2, 3 yLku 4		  (B) Võík 2, 3 yLku 4

	 (C) Võík 1, 2 yLku 3		  (D) Võík 1, 3 yLku 4

140.	 e-Taal þwt Au ?

	 (A) Ãkt[kÞík fûkkyu E-økðLkoLMk «kusuõxLkk çkUf ÔÞðnkhLkk yktfzkykuLku «Mkkrhík fhðk {kxuLkwt ðuçk Ãkkuxo÷ Au.

	 (B) �hk»xÙeÞ yLku hkßÞfûkkyu E-økðLkoLMk «kusuõx {kxu ¼tzku¤Lke Vk¤ðýe ÷økík {krníke «Mkkrhík fhðk {kxuLkwt  
{kuçkkE÷ yuÃk Au.

	 (C) hk»xÙeÞ yLku hkßÞfûkkyu E-økðLkoLMk «kusuõxLkk E-xÙkLÍuõþLkLkk yktfzkykuLku «Mkkrhík fhðk {kxuLkwt ðuçk Ãkkuxo÷ Au.

	 (D) WÃkhkuõík Ãkife fkuE Lknª

141.	 PARAM-Shivay çkkçkíku Lke[uLkk Ãkife fÞwt / fÞk rðÄkLk / rðÄkLkku Mkk[wt / Mkk[kt Au ?

	 (A) �‘PARAM-Shivay’ MkwÃkh fkuBÃÞwxhLkwt rLk{koý LkuþLk÷ MkwÃkh fkuBÃÞwxªøk r{þLk nuX¤ IIT-BHU (çkLkkhMk ®nËw 
ÞwrLkðMkeoxe) ¾kíku fhðk{kt ykÔÞwt níkwt.

	 (B) yk fBÃÞwxh 833 xuhk^÷kuÃk (teraflop) ûk{íkkLkwt Au.

	 (C) (A) yLku (B) çktLku

	 (D) (A) yLku (B) çktLku Ãkife yufÃký Lknª
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138.	 What is difference between Ramjet and Scramjet engines used for propulsion?

	 (A) Ramjet engines use ram air while scramjet engines use oxygen

	 (B) In ramjet engines combustion is at subsonic speeds while in scramjet it is at supersonic speeds

	 (C) �In ramjet engines compressors are used to compress the air to achieve desired speed unlike in 
scramjet engines

	 (D) �In scramjet engines turbines are used for increasing speeds, while there are no turbines in 
ramjet engines

139.	 Which of the following statements are correct regarding VoLTE?

	 1. VoLTE stands for ‘Voice over Long Term Evolution’

	 2. It is a digital packet voice service delivery over IP via an LTE access network.

	 3. Provides more efficient use of spectrum than traditional Voice

	 4. Eliminates the need to have Voice on one network and data on another

	 (A) 1, 2, 3 and 4

	 (B) 2, 3 and 4 only

	 (C) 1, 2 and 3 only

	 (D) 1, 3 and 4 only

140.	 What is e-Taal?

	 (A) �A web portal for dissemination of bank transaction statistics of Panchayat level e-Governance 
Projects

	 (B) �A mobile app for dissemination of information on fund allocation for National and State level 
e-Governance Projects

	 (C) �A web portal for dissemination of e-Transaction statistics of National and State level 
e-Governance Projects

	 (D) None of the above

141.	 Which of the following statements is/are correct regarding PARAM-Shivay?

	 (A) �‘PARAM-Shivay’ Supercomputer was built under the National Super Computing Mission at 
IIT‑BHU (Banaras Hindu University).

	 (B) This computer is of 833 teraflop capacity

	 (C) Both (A) and (B)

	 (D) Neither (A) nor (B)
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142.	 sirðf Mk{wËkÞ{kt nfkhkí{f r¢Þk«ríkr¢ÞkLkwt / Lkk Lke[uLkk Ãkife fÞku / fÞkt «fkh / «fkhku Au ?

	 1. ðMkkníkefhý (Colonisation)

	 2. MÃkÄko (Competition)

	 3. «kuxkufkuykuÃkhuþLk (protocooperation)

	 (A) Võík 1 yLku 2		  (B) Võík 2 yLku 3

	 (C) Võík 1		  (D) Võík 1 yLku 3

143.	 ½kMk-nhý-ðk½Lke yknkh ©]t¾÷k{kt òu nhýku økw{ ÚkE òÞ íkku þwt ÚkkÞ ?

	 (A) ðk½Lke ðMíke yLku ½kMk çktLku ðÄþu.

	 (B) ðk½Lke ðMíke yLku ½kMk çktLku ½xþu

	 (C) ðk½Lke ðMíke yLku ½kMk çktLku WÃkh fkuE yMkh Lknª Ãkzu.

	 (D) ðk½Lke ðMíke ykuAe Úkþu yLku ½kMk ðÄþu.

144.	 ¼khíkLkk Lke[uLkk Ãkife fÞku rðMíkkh {uLøkúwð støk÷, rLkíÞ ÷e÷k støk÷ yLku ÃkkLk¾h støk÷Lkwt r{©ý Ähkðu Au ?

	 (A) W¥kh íkxðíkeoÞ yktÄú«Ëuþ	 (B) Ërûký-Ãkrù{ çktøkk¤

	 (C) Ërûký Mkkihk»xÙ		  (D) yktËk{kLk yLku rLkfkuçkkh xkÃkwyku

145.	 Lke[uLkk Ãkife fÞk «Ëq»kfku {kuxh ðknLk{ktÚke Lkef¤íkk WíMksoLkku (emissions){kt nkuÞ Au ?

	 1. MkMÃkuLzuz ÃkxeoõÞw÷ux {uxh (suspended particulate matter)

	 2. LkkExÙkusLk ykuõMkkEzTMk

	 3. nkEzÙkufkçkoLMk

	 4. fkçkoLk {kuLkkuõMkkEz

	 (A) Võík 1, 2, yLku 3		  (B) Võík 2, 3 yLku 4

	 (C) Võík 1 yLku 3		  (D) 1, 2, 3 yLku 4

146.	� ykðhý (mulching) s{eLkLkk ÄkuðkýLku rLkÞtrºkík fhðk {kxu ðÃkhkíke íkfLkef Au. Lke[uLkk Ãkife fÞk ykðhý (mulching)
Lkk VkÞËkyku Au ?

	 1. LkªËýLke ð]ÂæÄLku ykuAe fhu Au.

	 2. s{eLkLkku ¼us Ëqh fhu Au.

	 3. s{eLk{kt Mkqû{SðkýwykuLke (microbial) Mkr¢ÞíkkLku W¥kusLk ykÃku Au.

	 (A) Võík 1 yLku 3		  (B) Võík 2 yLku 3

	 (C) Võík 1 yLku 2		  (D) 1, 2 yLku 3
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142.	 Which of the following is/are the types of positive interaction in a biotic community?

	 1. Colonisation

	 2. Competition

	 3. Protocooperation

	 (A) 1 and 2 only		  (B) 2 and 3 only

	 (C) 1 only		  (D) 1 and 3 only

143.	 What will happen if deer are missing in the foodchain of Grass - Deer - Tiger?

	 (A) The population of both the tiger and grass increases.

	 (B) The population of both the tiger and grass decreases.

	 (C) There will be no impact on the population of both the tiger and grass.

	 (D) The population of tiger decreases and the grass increases.

144.	� Which one of the following regions of India has a combination of mangrove forest, evergreen 
forest and deciduous forest?

	 (A) North Coastal Andhra Pradesh

	 (B) South-west Bengal

	 (C) Southern Saurashtra

	 (D) Andaman and Nicobar Islands

145.	 Which of the following pollutants are present in the motor vehicle exhaust emissions?

	 1. Suspended particulate matter

	 2. Nitrogen oxides

	 3. Hydrocarbons

	 4. Carbon Monoxide

	 (A) 1, 2 and 3 only		  (B) 2, 3 and 4 only

	 (C) 1 and 3 only		  (D) 1, 2, 3 and 4

146.	� Mulching is a technique used to control soil erosion. Which among the following is/are advantages 
of mulching?

	 1. Reduces weed growth

	 2. Remove the soil moisture.

	 3. Encourages microbial activity in the soil.

	 (A) 1 and 3 only		  (B) 2 and 3 only

	 (C) 1 and 2 only		  (D) 1, 2 and 3
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147.	 ‘zkìÂÕVLk-MkwMkw’ çkkçkíku Lke[uLkk Ãkife fÞk rðÄkLkku Mkk[kt Au ?

	 1. íkuLku øktøkk zkìÂÕVLk Ãký fnuðk{kt ykðu Au.

	 2. íku øktøkk yLku çkúñÃkwºkk çktLku LkËeyku{kt òuðk {¤u Au.

	 3. íkuLku yktÄ¤e (blind) zkìÂÕVLk Ãký fnuðk{kt ykðu Au.

	 4. MkwMkwLke nkshe yu LkËeLke íktËwhMíke (healthiness) Lkku Mktfuík Au.

	 (A) Võík 1 yLku 2	 (B) Võík 1, 3 yLku 4	 (C) Võík 3 yLku 4	 (D) 1, 2, 3 yLku 4

148.	 ¼khík{kt fuLÿ yLku hkßÞ Mkhfkhku îkhk Mkthûký «kusuõx nuX¤ Lke[uLkk Ãkife fÞk «kýeykuLkku Mk{kðuþ fhðk{kt ykÔÞku Au ?

	 1. nkÚke	 2. ntøkw÷	 3. økeÄ	 4. ½rzÞk÷

	 (A) 1, 2, 3 yLku 4	 (B) Võík 2, 3 yLku 4	 (C) Võík 1, 2 yLku 4	 (D) Võík 1, 3 yLku 4

149.	 Lke[uLkk Ãkife fÞk r{ÚkuLkLkk Mºkkuík Au ?

	 1. sið{kºkk (Biomass)Lkwt ËnLk	 2. ðuMxðkuxh xÙex{uLx

	 3. fku÷MkkLkwt ¾LkLk		  4. Ãkh{k£kuMx (Permafrost)

	 (A) Võík 1 yLku 2	 (B) Võík 2 yLku 3	 (C) Võík 1, 2 yLku 4	 (D) 1, 2, 3 yLku 4

150.	 Lke[uLkk Ãkife fÞwt ÃkrhÂMÚkríksLÞ íktºkku (ecosystems)Lke ½xíke síke WíÃkkËfíkkLkku Mkk[ku ¢{ Au ?

	 (A) Mk{wÿku, Mkhkuðhku, ½kMkLkk {uËkLkku, {uLøkúwð	 (B) {uLøkúwð, Mk{wÿku, ½kMkLkk {uËkLkku, Mkhkuðhku

	 (C) {uLøkúwð, ½kMkLkk {uËkLkku, Mkhkuðhku, Mk{wÿku	 (D) Mk{wÿku, {uLøkúwð, Mkhkuðhku, ½kMkLkk {uËkLkku

151.	 íkksuíkh{kt fuLkuzk{kt ÞkuòÞu÷e [qtxýe rðþu Lke[uLkk Ãkife fÞkt rðÄkLkku Mkk[kt Au ?

	 1. fuLkuzk{kt yk{ Mk¼k (House of Commons) yu Lke[÷wt Mk¼køk]n Au suLke MkÇÞ MktÏÞk 338 Au.

	 2. Justin Trudeau Lkk Lkuík]íððk¤e Liberal Party (WËkh Ãkûk) yu MkkiÚke {kuxk Ãkûk íkhefu [qtxkE ykðe Au.

	 3. New Democratic Party (Lkðku ÷kufþkne Ãkûk) yu {sçkqík rðhkuÄÃkûk íkhefu ([qtxkE) ykðe Au.

	 4. �¼khíkeÞ {q¤Lkk Jagmeet Singh Lkk Lkuík]íððk¤e People’s Party yu Mk¼køk]n{kt ºkeò ¢{Lkk MkkiÚke {kuxk Ãkûk íkhefu 
([qtxkE) ykðe Au.

	 (A) 1, 2, 3 yLku 4	 (B) Võík 1, 2 yLku 4	 (C) Võík 1 yLku 2	 (D) Võík 3 yLku 4

152.	� rðï ykhkuøÞ MktMÚkk (World Health Organization) îkhk íkksuíkh{kt ònuh fhðk{kt ykðu÷ Global Air Quality 
Guidelines (ðirïf nðk økwýð¥kk {køkoËŠþfk) rðþu Lke[uLkk Ãkife fÞwt / fÞkt rðÄkLk / rðÄkLkku Mkk[wt / Mkk[kt Au ?

	 1. �New Air Quality Guidelines threshold (Lkðk nðk økwýð¥kk {køkoËŠþfk rLkËuoþ) yu {wÏÞ A ðkÞw «Ëq»kfku {kxu 
MkwrLkrùík fhðk{kt ykÔÞk níkk.

	 2. �A «Ëq»kfku{kt Particulate Matter (PM 2.5 yLku PM10), ykuÍkuLk, LkkExÙkusLk zkÞkuõMkkEz, MkÕVh zkÞkuõMkkEz 
yLku fkçkoLk {kuLkkuõMkkEzLkku Mk{kðuþ ÚkkÞ Au.

	 3. �2005 WHO {køkoËŠþfk yLkwMkkh çkktø÷kËuþ, ÃkkrfMíkkLk yLku ¼khík{kt MkkiÚke Ÿ[w nðk «Ëq»ký Míkh LkkUÄkÞwt Au.

	 (A) 1, 2 yLku 3	 (B) Võík 2 yLku 3	 (C) Võík 1 yLku 3	 (D) Võík 1
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147.	 Which of the following statements are correct regarding the dolphin-Susu?
	 1. It is also called the Gangetic dolphin.
	 2. It is found in the rivers of both Ganga and Brahmaputra.
	 3. It is also called blind dolphin.
	 4. The presence of susu is an indication of the healthiness of the river.
	 (A) 1 and 2 only	 (B) 1, 3 and 4 only	 (C) 3 and 4 only	 (D) 1, 2, 3 and 4

148.	� Which of the following animals have been included under conservation projects by the Central 
and State governments in India ?

	 1. Elephant	 2. Hangul	 3. Vulture	 4. Gharials
	 (A) 1, 2, 3 and 4	 (B) 2, 3 and 4 only	 (C) 1, 2 and 4 only	 (D) 1, 3 and 4 only
149.	 Which of the following are the sources of methane?
	 1. Biomass burning		  2. Wastewater treatment
	 3. Coal mining		  4. Permafrost
	 (A) 1 and 2 only	 (B) 2 and 3 only	 (C) 1, 2 and 4 only	 (D) 1, 2, 3 and 4

150.	� Which one of the following is the correct sequence of ecosystems in the order of decreasing 
productivity?

	 (A) Oceans, lakes, grasslands, mangroves
	 (B) Mangroves, oceans, grasslands, lakes
	 (C) Mangroves, grasslands, lakes, oceans
	 (D) Oceans, mangroves, lakes, grasslands

151.	 Which of the following statements are correct regarding recent elections in Canada?
	 1. In Canada House of Commons is the lower House which has 338 seats
	 2. The Liberal Party emerged as a largest party under the leadership of Justin Trudeau
	 3. New Democratic Party emerged strong opposition
	 4. �People’s Party emerged as third largest party in the House under the leadership of Indian 

origin Jagmeet Singh
	 (A) 1, 2, 3 and 4	 (B) 1, 2 and 4 only	 (C) 1 and 2 only	 (D) 3 and 4 only

152.	� Which of the following statement(s) is/are correct regarding newly announced Global Air Quality 
Guidelines by World Health Organization?

	 1. The new Air Quality Guidelines threshold was set for six key air pollutants
	 2. �The six pollutants are Particulate Matter (PM 2.5 and PM10), Ozone, Nitrogen Dioxide, Sulphur 

Dioxide and Carbon Monoxide.
	 3. �Bangladesh, Pakistan and India have recorded the highest air pollution levels with regard to 

2005 WHO guidelines.
	 (A) 1, 2 and 3	 (B) 2 and 3 only	 (C) 1 and 3 only	 (D) 1 only
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153.	� ¼khík MkhfkhLkk MðkMÚÞ yLku Ãkrhðkh fÕÞký {tºkk÷Þ îkhk 3rd State Food Safety Index 2020-2021 (ºkeò hkßÞ 
¾kã Mk÷k{íke Mkq[fktf 2020-2021) òhe fhðk{kt ykÔÞk Au. yk rðþu Lke[uLkk Ãkife fÞwt / fÞkt rðÄkLk / rðÄkLkku Mkk[wt / 
Mkk[kt Au ?

	 1. yk hUfªøk{kt {kuxk hkßÞkuLke ©uýe{kt økwshkík «Úk{ ¢{u Au yLku rçknkh AuÕ÷k ¢{u ykðu÷ Au.

	 2. LkkLkk hkßÞkuLke ©uýe{kt rMk¬e{ xku[Lkk ¢{u ykðu÷ Au yLku økkuðk AuÕ÷k ¢{u ykðu÷ Au.

	 3. fuLÿþkrMkík «ËuþkuLke ©uýe{kt sB{w yLku f~{eh xku[Lkk ¢{u ykðu÷ Au.

	 4. {tºkk÷Þu Mkq[fktfLke økýíkhe ¾kã Mk÷k{íkeLkk 5 Ãkrh{kýkuLkk ykÄkhu fhe níke.

	 (A) 1, 2, 3 yLku 4	 (B) Võík 1, 3 yLku 4	 (C) Võík 2, 3 yLku 4	 (D) Võík 1

154.	 ¼khík MkhfkhLkk MUDRA toolbox rðþu Lke[uLkk Ãkife fÞk rðÄkLkku Mkk[kt Au ?

	 1. �Mudra toolbox yu Indian Council of Medical Research îkhk COVID-19 ËËeoyku {kxu íkiÞkh  
fhðk{kt ykÔÞwt Au.

	 2. «kht¼{kt yk toolbox 5 ¼khíkeÞ ¼k»kk{kt íkiÞkh fhðk{kt ykÔÞwt níkwt.

	 3. yk toolbox rnLËe, çktøkk¤e, fLLkz, íku÷qøkw yLku {÷Þk÷{{kt íkiÞkh fhðk{kt ykÔÞwt níkwt.

	 (A) 1, 2 yLku 3	 (B) Võík 2 yLku 3	 (C) Võík 2	 (D) Võík 1 yLku 2

155.	� rðrðÄ ûkuºkku{kt yuLkkÞík fhðk{kt ykðu÷ Lkkuçk÷ «kEÍ 2021 rðþu Lke[uLkk Ãkife fE òuze/òuzeyku ÞkuøÞ heíku  
òuzkÞu÷e Au ?

	 1. �Physiology (þheh rð¿kkLk) : íkkÃk{kLk yLku MÃkþo {kxu heMkuÃxMko (økúkne)Lke þkuÄ (Discoveries of receptors for 
temperature and touch)

	 2. hMkkÞý þkMºk : ðtþMkqºk{kt VuhVkhLke ÃkæÄrík {kxu (Method for genome editing)

	 3. �¼kiríkf þkMºk : Ãk]ÚðeLke ykçkkunðkLke ¼kiríkf «ríkf]rík íkiÞkh fhðe, ¼kiríkf «ýk÷eyku{kt yÔÞðMÚkk yLku yÂMÚkhíkkLke 
ÃkkhMÃkrhf r¢Þk yLku «ríkr¢Þk (Physical modelling of Earth’s climate, interplay of disorder and 
fluctuations in physical systems)

	 (A) 1, 2 yLku 3	 (B) Võík 2 yLku 3	 (C) Võík 1 yLku 3	 (D) Võík 1 yLku 2

156.	� UNESCO India îkhk ¼khík {kxu hsq fhkÞu÷ State of the Education Report (SOER)-2021 rðþu Lke[uLkk Ãkife 
fÞkt rðÄkLkku Mkk[kt Au ?

	 1. yk ynuðk÷Lkwt þe»kof ‘No Teacher No Class’ Au.

	 2. yk ð»koLkku ynuðk÷ yu yk «fkhLkk ynuðk÷Lke ËMk{e ykð]r¥k Au.

	 3. �“ònuh (Mkhfkhe) yLku ¾kLkøke þk¤kyku{kt rþûkfkuLkk hkusøkkhLke þhíkku{kt MkwÄkhku fhku.” yu yk ynuðk÷Lke 
¼÷k{ýku{ktLke yuf Au.

	 4. “rþûkfkuLku «Úk{ nhku¤Lkk fkÞofhku íkhefu «MÚkkrÃkík fhku.” yu yk ynuðk÷Lke yLÞ ¼÷k{ý Au.

	 (A) Võík 1, 2 yLku 3	 (B) Võík 1, 3 yLku 4	 (C) Võík 3 yLku 4	 (D) 1, 2, 3 yLku 4

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight



M

[CSP-2] 67[P.T.O.

153.	� Ministry of Health and Family welfare of India has released 3rd State Food Safety Index 2020‑2021. 
In this regard which of the following statement(s) is/are correct?

	 1. In this ranking Gujarat stood first in the large states category and Bihar stood last

	 2. Sikkim stood top in the small states category and Goa stood last

	 3. Jammu and Kashmir stood top in the Union Territory category

	 4. The ministry calculated the Index on 5 parameters of food safety

	 (A) 1, 2, 3 and 4		  (B) 1, 3 and 4 only

	 (C) 2, 3 and 4 only		  (D) 1 only

154.	� Which of the following statement(s) is/are correct regarding MUDRA toolbox of Government of 
India?

	 1. �The MUDRA toolbox is developed by the Indian Council of Medical Research for the COVID-19 
patients

	 2. This toolbox was initially developed in 5 Indian languages

	 3. This toolbox was developed in Hindi, Bengali, Kannada, Telugu and Malayalam

	 (A) 1, 2 and 3		  (B) 2 and 3 only

	 (C) 2 only		  (D) 1 and 2 only

155.	 Which of the following pairs are correctly matched regarding Nobel Prizes 2021 in various fields?

	 1. Physiology: Discoveries of receptors for temperature and touch

	 2. Chemistry: method for genome editing

	 3. �Physics: physical modelling of Earth’s climate, interplay of disorder and fluctuations in physical 
systems

	 (A) 1, 2 and 3		  (B) 2 and 3 only

	 (C) 1 and 3 only		  (D) 1 and 2 only

156.	� Which of the following statements are correct regarding State of the Education Report (SOER)‑2021 
for India by UNESCO India?

	 1. The report is titled as “No Teacher No Class”

	 2. This year report is the 10th edition of such reports

	 3. �“Improve the terms of employment of teachers in both public and private schools” is one of the 
recommendations in the report

	 4. “Recognize teachers as frontline workers” is another recommendation in the report

	 (A) 1, 2 and 3 only		  (B) 1, 3 and 4 only

	 (C) 3 and 4 only		  (D) 1, 2, 3 and 4
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157.	� fÃkzk {tºkk÷Þu Comprehensive Handricrafts Cluster Development Scheme (CHCDS) Lku [k÷w hk¾ðkLke 
{tsqhe ykÃku÷ Au. yk rðþu Lke[uLkk Ãkife fÞkt rðÄkLkku Mkk[kt Au ?

	 1. yk ÞkusLkk {k[o 2026 MkwÄe y{÷{kt hnuþu.
	 2. �CHCDSLkku WÆuþ WíÃkkËLk yLku rLkfkMkLku ðuøk ykÃkðk {kxu MÚkkrLkf fkheøkhku yLku SMEs Lke ÔÞkÃkkrhf sYheÞkíkku 

Ãkqhe fhðk {kxu rðïfûkkLkwt yktíkh{k¤¾wt (Infrastructure) çkLkkððkLkwt Au.
	 3. �yk ÞkusLkk nuX¤ MkðkOøke rðfkMk {kxu 10,000Úke ðÄw fkheøkhku Ähkðíkk rðþk¤ nMíkf÷k Mk{qnku (Mega Handicraft 

Clusters) Lke ÃkMktËøke fhðk{kt ykðþu.
	 (A) 1, 2 yLku 3	 (B) Võík 1 yLku 3	 (C) Võík 1 yLku 2	 (D) Võík 2 yLku 3

158.	 ¼khík Mkhfkh îkhk ðLk (Mkthûký) yrÄrLkÞ{, 1980{kt fÞk MkwÄkhkLke Ëh¾kMík fhðk{kt ykðe níke ?
	 1. �LkiMkŠøkf («k[eLk) (Pristine) ðLkkuLke ò¤ðýe, LkiMkŠøkf rðMíkkh{kt fkuEÃký Mktòuøkku{kt rçkLkðLk MktðÄoLk «ð]r¥kLku 

{tsqhe ykÃkðk{kt ykðþu Lknª.
	 2. ðLk{kt huÕðu, hMíkk, ð]ûkkhkuÃký, íku÷ MktþkuÄLk, ðLÞSð ÃkÞoxLk yLku ÔÞqnkí{f «kusuõxTMkLku Aqx ykÃkðe.
	 3. hkßÞ MkhfkhkuLku ðLkLke s{eLk ¾kLkøke ÔÞÂõíkyku yLku fkuÃkkuohuþLkLku ÷eÍ Ãkh ykÃkðkLke Mk¥kk ykÃku Au.
	 (A) Võík 2 yLku 3	 (B) Võík 1 yLku 3	 (C) Võík 1 yLku 2	 (D) 1, 2 yLku 3

159.	� ¼khík Mkhfkh îkhk Lkðk Mkqr[ík (notified) fhðk{kt ykðu÷ ‘ðes¤e’ (økúknfkuLkk yrÄfkh) rLkÞ{ku{kt Lke[uLkk Ãkife fE 
çkkçkíkkuLkku Mk{kðuþ fhðk{kt ykðu÷ Au ?

	 1. {exhLke ÔÞðMÚkk		  2. çke÷ yLku [qfðýe
	 3. {exh rðLkk íkífk÷ yLku íkkfeËu òuzký	 4. yuf MkkÚku çknwrðÄ (multiple) òuzkýku
	 (A) 1, 2, 3 yLku 4	 (B) Võík 1 yLku 2	 (C) Võík 3 yLku 4	 (D) Võík 1, 2 yLku 3

160.	� United Nations Conference on Trade and Development (UNCTAD) Lkk Digital Economy 2021 
ynuðk÷ rðþu Lke[uLkk Ãkife fÞwt / fÞkt rðÄkLk / rðÄkLkku Mkk[wt / Mkk[kt Au ?

	 (A) yk ynuðk÷ yLkwMkkh Data Lkku yM¾r÷ík «ðkn (free flow), zeSx÷ yÚkoíktºk{kt rðûkuÃk W¼ku fhu Au.

	 (B) �rV÷eÃkkELMk, fuLkuzk, ykuMxÙu÷eÞk, {uõMkefku, MkªøkkÃkkuh yLku Þw.yuMk.yu. yu xku[Lkk ¢{Lkk A Ëuþku Au fu su zuxkLkk 
yM¾r÷ík «ðkn (free flow) Lku ÃkhðkLkøke ykÃku Au.

	 (C) (A) yLku (B) çktLku

	 (D) (A) yLku (B) çktLku Ãkife yufÃký Lknª

161.	� økwshkík MkhfkhLke íkksuíkh{kt þY fhðk{kt ykðu÷ ‘ðíkLk «u{ ÞkusLkk’ fkÞo¢{ rðþu Lke[uLkk Ãkife fÞwt / fÞkt rðÄkLk / 
rðÄkLkku Mkk[wt / Mkk[kt Au ?

	 1. �yk ÞkusLkkLkwt æÞuÞ yu rçkLkrLkðkMke økwshkíke ÷kufku ÃkkMkuÚke íkuykuLkk økk{{kt rðfkMk ÞkusLkkyku {kxu ¼tzku¤ «kÃík  
fhðkLkwt Au.

	 2. hkßÞ Mkhfkhu zeMkuBçkh 2022 MkwÄe{kt Yk. 10000 fhkuzLkk ÷kuffÕÞký «kusuõx rðfMkkððkLke ÃkrhfÕÃkLkk fhu÷ Au.
	 3. �fkuE [ku¬Mk fkÞo {kxu Ëkíkkyu ykuAk{kt ykuAwt 50% ¼tzku¤ ykÃkðkLkwt hnuþu yLku çkkfeLkwt hkßÞ Mkhfkh îkhk [qfððk{kt 

ykðþu.
	 (A) 1, 2 yLku 3	 (B) Võík 2 yLku 3	 (C) Võík 1	 (D) Võík 1 yLku 2
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157.	� Ministry of Textiles has approved the continuation of Comprehensive Handicrafts Cluster 
Development Scheme (CHCDS). With regard to this which of the following statements are correct?

	 1. This scheme will continue till March 2026
	 2. �CHCDS aims to create world-class infrastructure that caters to the business needs of the local 

artisans & SMEs to boost production and export
	 3. �The mega handicraft clusters having more than 10,000 artisans will be selected for overall 

development under this scheme
	 (A) 1, 2 and 3	 (B) 1 and 3 only	 (C) 1 and 2 only	 (D) 2 and 3 only

158.	� Which of the following modifications were proposed by the government of India to the Forest 
(Conservation) Act 1980?

	 1. �Maintaining “pristine forests”. Non-forestry activity will not be allowed within the pristine 
forests, under any circumstances.

	 2. �Grant exemptions to railways, roads, tree plantations, oil exploration, wildlife tourism and 
‘strategic’ projects in forests.

	 3. Empower state governments to lease forest land to private individuals and corporations.
	 (A) 2 and 3 only	 (B) 1 and 3 only	 (C) 1 and 2 only	 (D) 1, 2 and 3

159.	� Which of the following areas covered under newly Notified “Electricity” (Rights of Consumers) 
rules by Government of India?

	 1. Metering arrangement
	 2. Billing and payment
	 3. Immediate and urgent connections without meter
	 4. Multiple connections at a time
	 (A) 1, 2, 3 and 4	 (B) 1 and 2 only	 (C) 3 and 4 only	 (D) 1, 2 and 3 only

160.	� Which of the following statement(s) is/are correct regarding United Nations Conference on Trade 
and Development (UNCTAD) report on Digital Economy 2021?

	 (A) According to the report free flow of the data hampers the digital economy
	 (B) �Philippines, Canada, Australia, Mexico, Singapore and USA are the top six countries allowing 

free flow of data.
	 (C) Both (A) and (B)
	 (D) Neither (A) nor (B)

161.	� Which of the following statement(s) is/are correct regarding Gujarat Government’s recent 
programme “Vatan Prem Yojana” ?

	 1. �This scheme aimed at funding from non resident Gujarat People for the development projects 
in their villages

	 2. �The State Government envisaged to develop public welfare projects worth 10000 crores by 
December 2022.

	 3. �The Donor need to fund at least 50% fund for the particular work, remaining will be paid by 
the State Government.

	 (A) 1, 2 and 3	 (B) 2 and 3 only	 (C) 1 only	 (D) 1 and 2 only
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162.	� ¼khík MkhfkhLkk Mkçk fe ÞkusLkk, Mkçk fk rðfkMk (People’s Plan Campaign-2021) rðþu Lke[uLkk Ãkife fÞkt rðÄkLkku 
Mkk[kt Au ?

	 1. �íku økúk{ Ãkt[kÞík rðfkMk ÞkusLkk (Gram Panchayat Development Plan) (GPDP)Lku yuf yr¼ÞkLk «fkhu 
MkwrLkrùík fhðkLke fkÞoLkerík Au.

	 2. �GPDPLkku æÞuÞ Ãkt[kÞíkLkk [qtxkÞu÷k MkÇÞkuLke ¼qr{fk {sçkqík fhðkLkku Au.

	 3. �íku Mð-MknkÞ sqÚkku (Self help groups)Lke ¼qr{fkLku Ãký «kuíMkkrník fhu Au. Mºkeyku fu su ËeLkËÞk÷ ytíÞkuËÞ ÞkusLkk 
- hk»xÙeÞ økúk{eý ykSrðfk r{þLk nuX¤ Au.

	 (A) 1, 2 yLku 3	 (B) Võík 2 yLku 3	 (C) Võík 1 yLku 3	 (D) Võík 1 yLku 2

163.	� Motor Vehicles (Registration and Functions of Vehicle Scrapping Facility) (RVSF) rLkÞ{ku 2021 rðþu 
Lke[uLkk Ãkife fÞkt rðÄkLkku Mkk[kt Au ?

	 1. �RVSFs yu National Crime Records Bureau (NCRB) ÃkkMkuÚke [kuhkÞu÷k ðknLkku fu suLku ¼tøkkh {kxu ÷kððk{kt 
ykðu Au íku rðþuLke {krníke ÷E íkuLkk Ãkh rLkÞtºký hk¾e þfþu.

	 2. �fkuEÃký hkßÞ{kt LkkUÄýe ÚkÞu÷ ðknLk fkuEÃký hkßÞ{kt LkkUÄkÞu÷ MkwrðÄk fuLÿ{kt ¼tøkkh{kt ykÃke þfkÞ Au.

	 3. �RVSFLke LkkUÄýe 15 ð»ko MkwÄe {kLÞ hnuþu yLku íÞkhçkkË yuf Mk{Þu ðÄw 15 ð»ko {kxu LkðeLkefhý (renewed) fhe 
þfkÞ Au.

	 (A) 1, 2 yLku 3	 (B) Võík 2 yLku 3	 (C) Võík 1 yLku 3	 (D) Võík 1 yLku 2

164.	 International Monetary Fund (IMF)Lkk ðkŠ»kf ynuðk÷ 2021 rðþu Lke[uLkk Ãkife fÞkt rðÄkLkku Mkk[kt Au ?

	 1. �IMF yu LkkýktfeÞ ð»ko 2021-2022 {kxuLke ¼khíkLke ykŠÚkf ð]ÂæÄ (economic growth) 9.5 «ríkþík  
ytËkSík fhe Au.

	 2. �íkuýu þe»kof økúknf ¼kð ykÄkrhík Vwøkkðku (headline consumer price-based  inflation) yu 5.6 «ríkþík  
ytËkSík fhu÷ Au.

	 3. �ynuðk÷ yLkwMkkh hMkefhýLke ÍzÃk yLku ykŠÚkf MkwÄkhkLku æÞkLk{kt hk¾eLku ÃkwLk:«kÂÃík (recovery) yÃkuûkk fhíkkt  
ðÄw ÍzÃke nkuE þfu Au.

	 (A) 1, 2 yLku 3	 (B) Võík 2 yLku 3	 (C) Võík 1 yLku 2	 (D) Võík 1 yLku 3

165.	� ¼khík Mkhfkhu Ordnance Factory Board{ktÚke Mkkík Mkthûký ftÃkLkeykuLku y÷øk fhe Au. Lke[uLkk Ãkife fE yu ÞkËe{kt 
LkÚke ?

	 1. x›ÃMk fBÃkxTMko r÷r{xuz (Troops Comforts Limited)

	 2. ÃkuhkþwxTMk EÂLzÞk r÷r{xuz (Parachutes India Limited)

	 3. EÂLzÞk ykuÃxu÷ r÷r{xuz yuLz Þtºkk EÂLzÞk r÷r{xuz (India Optel Limited and Yantra India Limited)

	 4. nkurðíÍh økLMk r÷r{xuz (Howitzer Guns Limited)

	 (A) 1, 2, 3 yLku 4	 (B) Võík 2 yLku 4	 (C) Võík 1 yLku 3	 (D) Võík 2, 3 yLku 4
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162.	� Which of the following statements are correct regarding Government of India’s People’s Plan 
Campaign-2021 - Sabki Yojana, Sabka Vikas?

	 1. �It is a strategy for ensuring the preparation of Gram Panchayat Development Plan (GPDP) in 
a campaign mode

	 2. The GPDP aims to strengthen the role of elected representatives of Panchayats

	 3. �It also encourages the role of Self help groups, Women who are under Deendayal Antyodaya 
Yojana –National Rural Livelihood Mission

	 (A) 1, 2 and 3		  (B) 2 and 3 only

	 (C) 1 and 3 only		  (D) 1 and 2 only

163.	� Which of the following statements are correct regarding Motor Vehicles (Registration and 
Functions of Vehicle Scrapping Facility) (RVSF) Rules, 2021?

	 1. �RVSFs will also get the access of National Crime Records Bureau (NCRB) to check of any stolen 
vehicle was bought for scrapping.

	 2. Vehicle registered in any state, can be scrapped at any of the registered facility in other states.

	 3. Registration of RVSF will be valid for 15 years and can be renewed for 15 more years, at a time

	 (A) 1, 2 and 3		  (B) 2 and 3 only

	 (C) 1 and 3 only		  (D) 1 and 2 only

164.	� Which of the following statements are correct regarding International Monetary Fund’s (IMF)
Annual Report 2021?

	 1. IMF projected India’s economic growth to 9.5 percent for the financial year 2021-2022.

	 2. It also projected the headline consumer price-based inflation at 5.6 percent .

	 3. �According to report Recovery could be faster than expected considering the pace of vaccination 
and economic reforms

	 (A) 1, 2 and 3		  (B) 2 and 3 only

	 (C) 1 and 2 only		  (D) 1 and 3 only

165.	� Government of India has carved out the seven Defence companies from Ordnance Factory Board, 
which of the following is not in the list?

	 1. Troops Comforts Limited

	 2. Parachutes India Limited

	 3. India Optel Limited and Yantra India Limited

	 4. Howitzer Guns Limited

	 (A) 1, 2, 3 and 4		  (B) 2 and 4 only

	 (C) 1 and 3 only		  (D) 2, 3 and 4 only
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166.	� ¼khík MkhfkhLke ËqhMkt[kh (telecom) ûkuºk {kxuLke WíÃkkËLk MkkÚku òuzkÞu÷ «kuíMkknLk ÞkusLkk (Production Linked 
Incentive Scheme) rðþu Lke[uLkk Ãkife fÞkt rðÄkLkku Mkk[kt Au ?

	 1. �ËqhMkt[kh yLku LkuxðfeOøk WíÃkkËLkkuLke ykÞkík {kxu ¼khíkLke yLÞ Ëuþku WÃkhLke rLk¼ohíkk{kt ½xkzku fhðk{kt yk ÞkusLkk 
{ËËYÃk Úkþu.

	 2. yk ÞkusLkk 1÷e yur«÷, 2022 Úke y{÷e çkLkþu.

	 3. �Ãkkºkíkk {kxu ÷kÞf Mktr[ík ðkŠ»kf Mke{k nkuðe sYhe Au (Eligibility is subject to qualifying incremental 
annual thresholds). yk ÞkusLkk ytíkøkoík Ãkkt[ ð»koLkk Mk{Þøkk¤k {kxu MknkÞ Ãkqhe Ãkkzðk{kt ykðþu.

	 (A) 1, 2 yLku 3	 (B) Võík 2 yLku 3	 (C) Võík 1 yLku 3	 (D) Võík 1 yLku 2

167.	� ¼khík Mkhfkhu Mke{k Mkwhûkk Ë¤ (Border Security Force)Lke Mk¥kkyku{kt ðÄkhku fÞkuo Au. yk çkkçkíku Lke[uLkk Ãkife fÞkt 
rðÄkLkku Mkk[kt Au ?

	 1. �ÃkkrfMíkkLk yLku çkktø÷kËuþ MkkÚku MkhnË Ähkðíkk ºký Lkðk hkßÞku{kt 50 rf.{e. MkwÄeLke nË{kt BSFLkk yrÄfkheykuyu 
sÃíke (seizure)Lkku nf «kÃík fhu÷ Au.

	 2. íkuykuLku Code of Criminal Procedure (CrPC) nuX¤ yk fkÞoðkne fhe þfu íkuðk yrÄfkh ykÃkðk{kt ykÔÞk Au.

	 3. Ëþkoðu÷ hkßÞku{kt BSFLku þkuÄ íkÃkkMk (search)Lkku yrÄfkh Au Ãkhtíkw íkuyku ÄhÃkfz fhe þfu Lknª.

	 4. �íkuykuLku ykMkk{, Ãkrù{ çktøkk¤, Ãktòçk, r{Íkuh{, Lkkøkk÷uLz, {rýÃkwh, rºkÃkwhk yLku ÷Ëk¾{kt þkuÄ íkÃkkMk (search) 
fhðkLke Mk¥kk Au.

	 (A) 1, 2, 3, yLku 4	 (B) Võík 1, 2 yLku 3	 (C) Võík 1 yLku 2	 (D) Võík 1, 3 yLku 4

168.	 rðï çkUfLkk “The Changing Wealth of Nations 2021” rðþu Lke[uLkk Ãkife fÞkt rðÄkLkku Mkk[kt Au ?

	 1. �yk ynuðk÷{kt 146 Ëuþku{kt MktÃkr¥kLkwt MksoLk y™u rðíkhýLkwt {kÃkLk fhðk{kt ykÔÞwt Au íku 1995 Úke 2018 MkwÄeLkku 20 
ð»koLkku Mk{Þøkk¤ku ykðhe ÷u Au.

	 2. �{kLkð{qze yu rðï¼hLke MktÃkr¥kLkku MkkiÚke {kuxku Mºkkuík níkku. ð»ko 2018{kt íku ðirïf MktÃkr¥kLkk 64 «ríkþíkLku Mk{krðü 
fhíke níke.

	 3. Ërûký yurþÞk{kt, {kLkð{qze rðMíkkhLke fw÷ MktÃkr¥kLkku 80 «ríkþík rnMMkku Ähkðu Au.

	 (A) 1, 2 yLku 3		  (B) Võík 2 yLku 3

	 (C) Võík 1 yLku 3		  (D) Võík 1 yLku 2

169.	 EÂLzÞLk fkuMx økkzo þeÃk (ICGS) ) “MkkÚkof” rðþu Lke[uLkk Ãkife fÞkt rðÄkLkku Mkk[kt Au ?

	 1. ICGS MkkÚkof økwshkíkLkk ÃkkuhçktËh ¾kíku ÂMÚkík nþu yLku ¼khíkLkk Ãkrù{e Mk{wÿíkxu fkÞohík hnuþu.

	 2. �German ShipbuildersLke MknkÞÚke yk snksLku rðfMkkððk{kt ykÔÞwt níkwt yLku íkuLke zeÍkELk íkiÞkh fhðk{kt  
ykðe níke.

	 3. �Indian Coast Guard {kxu Goa Shipyard Limited îkhk rLk{koý ÚkE hnu÷k Ãkkt[ OPVS Lke ©uýe{kt ICGS 
MkkÚkof [kuÚkk ¢{u Au.

	 (A) 1, 2 yLku 3		  (B) Võík 1 yLku 2

	 (C) Võík 1 yLku 3		  (D) Võík 2 yLku 3
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166.	� Which of the following statements are correct regarding Production Linked Incentive Scheme for 
telecom sector by Government of India?

	 1. �This scheme would help in reducing dependence of India on other countries for importing 
telecom and networking products

	 2. The scheme is effective from April 1, 2022
	 3. �Eligibility is subject to qualifying incremental annual thresholds. Support under the Scheme 

will be provided for a period of five years
	 (A) 1, 2 and 3		  (B) 2 and 3 only
	 (C) 1 and 3 only		  (D) 1 and 2 only

167.	� Government of India has increased the powers of Border Security Force, in this regard which of 
the following statements are correct?

	 1. �BSF officers will also have the power of seizure up to the extent of 50 km in three new states 
which are sharing boundaries with Pakistan and Bangladesh.

	 2. They have been given the right to take this action under the Code of Criminal Procedure (CrPC)
	 3. In the mentioned states, the BSF will have the right to search but they cannot arrest.
	 4. �They have the power to search in Assam, West Bengal, Punjab, Mizoram, Nagaland, Manipur, 

Tripura, and Ladakh.
	 (A) 1, 2, 3, and 4		  (B) 1, 2 and 3 only
	 (C) 1 and 2 only		  (D) 1, 3 and 4 only

168.	� Which of the following statements are correct regarding World Bank’s “The Changing Wealth of 
Nations 2021”?

	 1. �The report has measured wealth creation and distribution among 146 countries. It covers a  
20-year period from 1995 to 2018.

	 2. �Human capital was the largest source of worldwide wealth. In the year 2018, it comprised 64 
percent of total global wealth

	 3. In South Asia, human capital accounts for 80 percent of total wealth in the region
	 (A) 1, 2 and 3		  (B) 2 and 3 only
	 (C) 1 and 3 only		  (D) 1 and 2 only

169.	� Which of the following statements are correct regarding Indian Coast Guard Ship (ICGS) 
“Sarthak”?

	 1. ICGS Sarthak will be based at Porbandar in Gujarat and operate on India’s Western Seaboard.
	 2. The ship is developed and designed with the help of German Shipbuilders
	 3. �ICGS Sarthak is 4th in the series of five OPVs being built by Goa Shipyard Limited for the 

Indian Coast Guard
	 (A) 1, 2 and 3		  (B) 1 and 2 only
	 (C) 1 and 3 only		  (D) 2 and 3 only
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170.	 f]r»k WzkLk 2.0 (Krishi UDAN 2.0) rðþu Lke[uLkk Ãkife fÞkt rðÄkLkku Mkk[kt Au ?

	 1. �f]r»k WzkLk 2.0 (Krishi UDAN 2.0) yu Ëuþ¼hLkk 53 yuhÃkkuxo Ãkh ÷køkw fhðk{kt ykðþu su {wÏÞíðu W¥khÃkqðo yLku 

ykrËðkMke rðMíkkhku Ãkh æÞkLk furLÿík fhþu.

	 2. �nçk yLku MÃkkuf {kuz÷ (hub and spoke model) íkÚkk £uEx økúez (freight grid) (fkøkkuo x{eoLkÕMk {kxuLkk rLkÄkoheík 

MÚk¤kuyu)Lkk rðfkMkLke MkwrðÄk Ãkqhe Ãkkzþu.

	 3. y{ËkðkË, hksLkøkh yLku ¼kðLkøkh ¾kíku yk økúez 2022-2023 MkwÄe{kt MÚkkÃkðk{kt ykðþu.

	 (A) 1, 2 yLku 3	 (B) Võík 2 yLku 3	 (C) Võík 1 yLku 3	 (D) Võík 1 yLku 2

171.	 íkksuíkh{kt Ãkheûký fhðk{kt ykðu÷ yÂøLk-5 (Agni-5) r{MkkE÷ rðþu Lke[uLkk Ãkife fÞkt rðÄkLkku Mkk[kt Au ?

	 1. yÂøLk-5 ¾qçk Mkkhe [kufMkkE MkkÚku 5,000 rf.{e. MkwÄeLke huLs{kt ÷ûÞktfku Ãkh «nkh fhðk Mkûk{ Au.

	 2. yk r{MkkE÷ [kh-íkçk¬kðk¤k ½Lk $Äý Þwõík yuLSLk (Four-stage solid fuelled engine)Lkku WÃkÞkuøk fhu Au.

	 3. �yÂøLk-5 Lkwt MkV¤ Ãkheûký yu ¼khíkLke ‘rðïMkLkeÞ LÞqLkík{ yðhkuÄf’ (credible minimum deterrence) Lkerík 

MkkÚku MkwMktøkík Au su ‘«Úk{ WÃkÞkuøk Lk fhðk’Lke «ríkçkæÄíkk Ëþkoðu Au.

	 (A) 1, 2 yLku 3	 (B) Võík 2 yLku 3	 (C) Võík 1 yLku 3	 (D) Võík 1 yLku 2

172.	 ¼khík MkhfkhLkk Integrated Teacher Education Programme (ITEP) rðþu Lke[uLkk Ãkife fÞkt rðÄkLkku Mkk[kt Au ?

	 1. �íku [kh ð»koLkku ITEP Au su B.A. B.Ed / B.Sc. B.Ed. yLku B.Com. B.Ed.Lkk yÇÞkMkLke rî-{wÏÞ (dual major)

Lke Mkðoøkúkne MLkkíkf ÃkËðe Au.

	 2. �ÃkkE÷kux {kuz íkhefu «kht¼{kt ËuþLke ÃkMktË fhu÷e 50 {ÕxezeMkeÃ÷eLkhe MktMÚkkyku{kt ITEP Lkku yÇÞkMk¢{ Ëk¾÷ 

fhðk{kt ykðþu.

	 3. �ITEP {kºk yãíkLk rþûký-þkMºk (cutting-edge pedagogy) sLknª ykÃku, Ãkhtíkw «khtr¼f çkk¤ÃkýLke Mkt¼k¤ yLku 

rþûký (Early Childood care and Education) (ECCE){kt Ãký ÃkkÞku MÚkkrÃkík fhþu.

	 (A) 1, 2 yLku 3	 (B) Võík 2 yLku 3	 (C) Võík 1 yLku 3	 (D) Võík 1 yLku 2

173.	 íkksuíkhLke 2021Lke G-20 {exªøk rðþu Lke[uLkk Ãkife fÞkt rðÄkLkku Mkk[kt Au ?

	 1. 19 Ëuþku yLku ÞwhkuÃkeÞLk ÞwrLkÞLk yu G-20{kt ¼køkeËkh hk»xÙku Au.

	 2. MÃkuLk yu G-20 {exªøkLkwt fkÞ{e yk{trºkík (permanent invitee) Au.

	 3. �G-20 MkÇÞku ðirïf ðuÃkkhLkk 75%, Ãk]ÚðeLke ðMíkeLkk 60% yLku rðïLke SzeÃke (GDP)Lkk 80% fhíkk ðÄw rnMMkku 

Ähkðu Au.

	 4. G-20Lkwt Mkr[ðk÷Þ ÃkurhMk, £ktMk ¾kíku ÂMÚkík Au.

	 (A) 1, 2, 3 yLku 4	 (B) Võík 1, 2 yLku 3	 (C) Võík 2, 3 yLku 4	 (D) Võík 1, 2 yLku 4

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight



M

[CSP-2] 75[P.T.O.

170.	 Which of the following	  statements are correct regarding the Krishi UDAN 2.0?

	 1. �The Krishi UDAN 2.0 will be implemented at 53 airports across the country mainly focusing on 
Northeast and tribal regions

	 2. �Facilitating the development of a hub and spoke model and a freight grid (identified locations 
for cargo terminals)

	 3. The above grids at Ahmedabad, Rajnagar and Bhavnagar will be established by 2022-2023

	 (A) 1, 2 and 3		  (B) 2 and 3 only

	 (C) 1 and 3 only		  (D) 1 and 2 only

171.	 Which of the following 	 statements are correct regarding recently test-fired Agni-5 Missile?

	 1. �Agni-5 capable of striking targets at ranges up to 5,000 kilometres with very high degree of 
accuracy

	 2. This missile uses a Four-stage solid fuelled engine

	 3. �The successful test of Agni-5 is in line with India’s stated policy to have ‘credible minimum 
deterrence’ that underpins the commitment to ‘No First Use’

	 (A) 1, 2 and 3		  (B) 2 and 3 only

	 (C) 1 and 3 only		  (D) 1 and 2 only

172.	� Which of the following statements are correct regarding Integrated Teacher Education Programme 
(ITEP) of Government of India?

	 1. �This is Four Year ITEP, a dual-major holistic bachelor’s degree offering B.A. B.Ed./ B. Sc. B.Ed. 
and B.Com. B.Ed

	 2. �ITEP will be offered in pilot mode initially in about 50 selected multidisciplinary institutions 
across the country.

	 3. �ITEP will not only impart cutting-edge pedagogy, but will also establish a foundation in early 
childhood care and education (ECCE).

	 (A) 1, 2 and 3		  (B) 2 and 3 only

	 (C) 1 and 3 only		  (D) 1 and 2 only

173.	 Which of the following statements are correct regarding recent G-20 meeting of 2021?

	 1. There are 19 countries and European Union are the partners in G-20

	 2. Spain is a permanent invitee to the G-20 meetings

	 3. �G-20 members account for more than 80% of world GDP, 75% of global trade and 60% of the 
population of the planet.

	 4. The secretariat of the G-20 is located in Paris, France

	 (A) 1, 2, 3 and 4		  (B) 1, 2 and 3 only

	 (C) 2, 3 and 4 only		  (D) 1, 2 and 4 only
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174.	� çÞwhku ykuV yuLkSo yurVrMkÞLMke (Bureau of Energy Efficiency) îkhk òhe fhðk{kt ykðu÷ Mxux yuLkSo yurVrMkÞLMke 
ELzuõMk 2020 (State Energy Efficiency Index 2020) rðþu Lke[uLkk Ãkife fÞkt rðÄkLkku Mkk[kt Au ?

	 1. �hkßÞkuLku [kh ©uýe{kt {qfðk{kt ykÔÞk Au. ykøk¤ ËkuzLkkh (Front runner), nktMk÷ fhLkkh (Achiever), ËkðuËkh 
(Contender) yLku {n¥ðkfktûke (Aspirant).

	 2. økwshkík hkßÞLku ËkðuËkh (Contender)Lke ©uýe{kt {qfðk{kt ykÔÞwt Au.

	 3. {kuxk¼køkLkk hkßÞkuLku nktMk÷ fhðk (Achiever)Lke ©uýe{kt {qfðk{kt ykÔÞk Au.

	 4. {kºk fýkoxf yLku hksMÚkkLk yu çku hkßÞkuLku ykøk¤ ËkuzLkkh (Front runner)Lke ©uýe{kt {qfðk{kt ykÔÞkt Au.

	 (A) 1, 2, 3 yLku 4	 (B) Võík 1, 2 yLku 3	 (C) Võík 1, 3 yLku 4	 (D) Võík 1, 2 yLku 4

175.	 NITI ykÞkuøkLkk íkksuíkh{kt òhe fhu÷k MðkMÚÞ ðe{k ynuðk÷ rðþu Lke[uLkk Ãkife fÞkt rðÄkLkku Mkk[kt Au ?

	 1. yk ynuðk÷Lkwt rþ»kof ‘Health Insurance for India’s Missing the Bottom’ hk¾ðk{kt ykÔÞwt Au.

	 2. yk ynuðk÷{kt 30% ðMíke ‘Missing middle’ íkhefu yku¤¾kÞ Au.

	 3. ðMíkeLkk ykþhu 20% ÷kufku Mkk{kSf MðkMÚÞ ðe{k yLku ÔÞÂõíkøkík MðiÂåAf MðkMÚÞ ðe{k ytíkøkoík Mkwhrûkík ÚkÞu÷k Au.

	 4. �AB-PMJAY yLku hkßÞ MkhfkhLke rðMíkhý ÞkusLkkyku, Lke[÷k MíkhLke 50% ðMíkeLku ykðhe ÷uíke ÔÞkÃkf 
nkuÂMÃkx÷{kt Mkuðk Ãkqhe Ãkkzu Au.

	 (A) 1, 2, 3 yLku 4	 (B) Võík 2, 3 yLku 4	 (C) Võík 1, 2 yLku 3	 (D) Võík 1, 3 yLku 4

176.	� ç÷w ^÷uøk çknwÃkûkeÞ ÷zkE fðkÞík 2021 (Blue Flag Multilateral combat Exercise 2021) rðþu Lke[uLkk Ãkife  
fÞwt / fÞkt rðÄkLk / rðÄkLkku Mkk[wt / Mkk[kt Au ?

	 1. yk fðkÞík (exercise) ¼khík{kt ytçkk÷k yìhçkuÍ (airbase) ¾kíku fhðk{kt ykðe níke.

	 2. ¼khík íkhVÚke yuf r{hks (Mirage) ÷~fhe xwfze (Squadron) yu yk fðkÞík (exercise){kt ¼køk ÷eÄku níkku.

	 3. yk fðkÞík (exercise){kt USA, UK, s{oLke, £ktMk, Ex÷e, økúeMk, ¼khík yLku RÍhkÞ÷u ¼køk ÷eÄku níkku.

	 (A) 1, 2 yLku 3	 (B) Võík 1 yLku 2	 (C) Võík 2 yLku 3	 (D) Võík 3

177.	� DRDO íkÚkk ¼khíkeÞ ðkÞwMkuLkk îkhk íkksuíkh{kt Ãkheûký fhðk{kt ykðu÷ Long Range Bomb rðþu Lke[uLkk Ãkife fÞkt 
rðÄkLkku Mkk[kt Au ?

	 1. yk çkkUçkLke huLs (ÃknkU[ {ÞkoËk) 50 Úke 150 rf.{e. Au.

	 2. �çkkUçkLke hUs (ÃknkU[ {ÞkoËk) Research Centre Imarat, niËhkçkkË îkhk zeÍkELk yLku rðfrMkík fhðk{kt  
ykÔÞku níkku.

	 3. �Aircraft{ktÚke {wõík ÚkÞk çkkË ÷ktçke huLs (ÃknkU[ {ÞkoËk)Lkk çkkUçkLku s{eLk ÂMÚkík ÷ûk íkhV sðk {kxu  
{køkoËŠþík fhðk{kt ykÔÞku níkku.

	 4. ÷ktçke huLs (ÃknkU[ {ÞkoËk)ðk¤k çkkUçk Israel Defence SystemLkk MknÞkuøkÚke rðfMkkððk{kt ykÔÞk níkk.

	 (A) 1, 2, 3 yLku 4	 (B) Võík 2, 3 yLku 4	 (C) Võík 1, 3 yLku 4	 (D) Võík 1, 2 yLku 3
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174.	� Which of the following statements are correct regarding State Energy Efficiency Index 2020 
released by the Bureau of Energy Efficiency?

	 1. States are placed in four categories i.e Front Runner, Achiever, Contender and Aspirant .

	 2. Gujarat state is placed under Contender Category

	 3. Majority of the states are placed under Achiever category

	 4. Only Karnataka and Rajasthan are the two states placed under Front Runner Category

	 (A) 1, 2, 3 and 4		  (B) 1, 2 and 3 only

	 (C) 1, 3 and 4 only		  (D) 1, 2 and 4 only

175.	� Which of the following statements are correct regarding NITI Aayog’s recent report on Health 
Insurance?

	 1. The report titled as Health Insurance for India’s Missing the Bottom

	 2. The 30% of the population are called as ‘Missing Middle’ in the report.

	 3. �Around 20% of the population are covered through social health insurance, and private 
voluntary health insurance.

	 4. �AB-PMJAY, and State Government extension schemes, provided comprehensive hospitalization 
covering the bottom 50% of the population.

	 (A) 1, 2, 3 and 4		  (B) 2, 3 and 4 only

	 (C) 1, 2 and 3 only		  (D) 1, 3 and 4 only

176.	� Which of the following statement(s) is/are correct regarding Blue Flag Multilateral combat 
Exercise 2021?

	 1. This exercise was conducted in the Ambala Airbase, India

	 2. From India, a Mirage squadron participated in this exercise

	 3. USA, UK, Germany, France, Italy, Greece, India and Israel participated in this exercise

	 (A) 1, 2 and 3		  (B) 1 and 2 only

	 (C) 2 and 3 only		  (D) 3 only

177.	� Which of the following statements are correct regarding recently test-fired Long Range Bomb by 
DRDO and Indian Air Force?

	 1. The range of the bomb is 50 to 150 KMs

	 2. The Bomb was designed and developed by the Research Centre Imarat, Hyderabad

	 3. The Long range bomb after release from the aircraft was guided to a land-based target.

	 4. The Long range bomb was developed with the support of Israel Defence Systems

	 (A) 1, 2, 3 and 4		  (B) 2, 3 and 4 only

	 (C) 1, 3 and 4 only		  (D) 1, 2 and 3 only
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178.	 Urban Mobility India Conference 2021 rðþu Lke[uLkk Ãkife fÞkt rðÄkLkku Mkk[kt Au ?
	 1. yk conference yu Urban Mobility India Conference Lkwt 14{wt MktMfhý (edition) Au.
	 2. yk Mkt{u÷LkLkku {wÏÞ rð[kh (theme) Mobility For All Au.
	 3. Urban Mobility Conference Lkwt 15{wt MktMfhý (edition) y{ËkðkË ¾kíku Þkuòþu.
	 (A) 1, 2 yLku 3	 (B) Võík 2 yLku 3	 (C) Võík 1 yLku 2	 (D) Võík 1 yLku 3

179.	� rðï nðk{kLk MktMÚkk (World Meteorological Organization)Lkk ‘Mxux ykuV Ä ø÷kuçk÷ õ÷kE{ux 2021 heÃkkuxo’ 
(State of the Global Climate 2021 report) ynuðk÷ rðþu Lke[uLkk Ãkife fÞkt rðÄkLkku Mkk[kt Au ?

	 1. yk ynuðk÷ yLkwMkkh 2015 Úke 2021Lkk Mkkík ð»kkuo MkkiÚke økh{ ð»kkuo níkk.
	 2. W»ýíkk{kLk{kt ðÄkhku yu {wÏÞík: ðkíkkðhýeÞ økúeLk nkWMk økuMkLkk MktfuLÿý{kt ðÄkhku ÚkðkÚke ÚkkÞ Au.
	 3. 2020{kt Mk{wÿLke xku[Lke 2000 {exhLke MkÃkkxe MkkiÚke Ÿ[k íkkÃk{kLku ÃknkU[e níke.
	 (A) 1, 2 yLku 3	 (B) Võík 2 yLku 3	 (C) Võík 1 yLku 3	 (D) Võík 1 yLku 2

180.	 ¼khíkeÞ Lkki MkuLkk rðþu Lke[uLkk Ãkife fÞkt rðÄkLkku Mkk[kt Au ?

	 1. ¼khíkeÞ Lkki MkuLkkLku íkuLkku «Úk{ MðËuþe «kusuõx 15 bravo class destroyer {éÞku.

	 2. �yk yuf Stealth guided missile destroyer (÷zkÞf snks) Au suLku Mazagaon Dock Shipyard îkhk 
rðfMkkððk{kt ykÔÞwt Au.

	 3. yk destroyer (÷zkÞf snks)Lkwt Lkk{ INS y{hkðíke Au.

	 (A) 1, 2 yLku 3	 (B) Võík 1 yLku 2	 (C) Võík 2 yLku 3	 (D) Võík 1 yLku 3

181.	 økwshkík MkhfkhLkk E-Sarkar rðþu Lke[uLkk Ãkife fÞkt rðÄkLkku Mkk[kt Au ?
	 1. �nk÷{kt yk App ÃkkE÷kux Äkuhýu þY fhðk{kt ykðu÷ Au. MktÃkqýoÃkýu yk App good governance day yu þY 

fhðk{kt ykðþu.
	 2. �E-Sarkar yu nk÷{kt fkÞohík Integrated Workflow and Documents Management System (IWDMS) 

MkkÚku Mkktf¤e ÷uðk{kt ykðþu.
	 3. �E-Sarkar App yu ík{k{ rsÕ÷k f÷uõxh, rsÕ÷k rðfkMk yrÄfkhe (DDO), ík{k{ Mkhfkhe fkÞko÷Þku, Mkr[ðk÷Þ, 

rsÕ÷k yLku íkk÷wfk fûkkLke f[uheyku{kt WÃk÷çÄ Úkþu.
	 4. yk App Lkkøkrhf MkuðkykuLku ykðhe ÷uþu Lknª.
	 (A) Võík 1, 2 yLku 3	 (B) Võík 2, 3 yLku 4	 (C) Võík 1 yLku 4	 (D) 1, 2, 3 yLku 4

182.	� Indian Oil Corporation (IOC)Lkk ¼khíkLkk «Úk{ Maleic Anhydride Plant rðþu Lke[uLkk Ãkife fÞkt  
rðÄkLkku Mkk[kt Au ?

	 1. Mega Maleic Anhydride Plant økwshkík{kt ¼Y[ ¾kíku MÚkkÃkðk{kt ykðþu.
	 2. Mkqr[ík «kusuõxLke ûk{íkk ðkŠ»kf 120000 xLk nþu.
	 3. �Maleic Anhydride yu rðrþü hMkkÞý suðk fu Polyester resins yLku Surface coating plasticizers ðøkuhuLke 

çkLkkðx{kt ðÃkhkÞ Au.
	 (A) 1, 2 yLku 3	 (B) Võík 2 yLku 3	 (C) Võík 1 yLku 3	 (D) Võík 1 yLku 2
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178.	 Which of the following statements are correct regarding Urban Mobility India Conference 2021?

	 1. This conference is 14th edition of Urban Mobility India Conference

	 2. The theme of the conference is Mobility For All

	 3. The 15th Edition of Urban Mobility Conference will be held in Ahmedabad

	 (A) 1, 2 and 3	 (B) 2 and 3 only	 (C) 1 and 2 only	 (D) 1 and 3 only

179.	� Which of the following statements are correct regarding World Meteorological Organization’s 
report titled “State of the Global Climate 2021 report”?

	 1. According to the report last seven years from 2015 to 2021 are the warmest years

	 2. �This increase in temperature is caused mainly due to the increase in atmospheric greenhouse 
gas concentrations

	 3. Top 2000 meter layer of the ocean reached a record high temperature on 2020

	 (A) 1, 2 and 3	 (B) 2 and 3 only	 (C) 1 and 3 only	 (D) 1 and 2 only

180.	 Which of the following statements are correct regarding Indian Navy?

	 1. Indian navy received its first indigenous Project 15 bravo class destroyer

	 2. This is a stealth guided missile destroyer developed by Mazagaon Dock Shipyard Limited

	 3. This destroyer is named as INS Amaravati

	 (A) 1, 2 and 3	 (B) 1 and 2 only	 (C) 2 and 3 only	 (D) 1 and 3 only

181.	 Which of the following statements are correct regarding E-Sarkar of the Government of Gujarat?

	 1. �At present this app was launched on pilot basis, full scale app will be launched on good  
governance day

	 2. �E-Sarkar will be combined with existing Integrated Workflow and Document Management 
System (IWDMS)

	 3. �The E-Sarkar app will be applicable to all district collectors, DDOs, all government offices, 
Secretariat, District and taluk levels

	 4. The App will not cover the civic services

	 (A) 1, 2 and 3 only	 (B) 2, 3 and 4 only	 (C) 1 and 4 only	 (D) 1, 2, 3 and 4

182.	� Which of the following statements are correct regarding Indian Oil Corporation (IOC)’s India’s 
first mega Maleic Anhydride Plant?

	 1. This Mega Maleic Anhydride Plant is going to be set up at Bharuch, Gujarat

	 2. The proposed project will have the capacity of 120000 tonnes per annum

	 3. �The Maleic Anhydride is used to make speciality chemicals like polyester resins and surface 
coating plasticizers etc.

	 (A) 1, 2 and 3	 (B) 2 and 3 only	 (C) 1 and 3 only	 (D) 1 and 2 only
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183.	 National Sports Awards 2021 rðþu Lke[uLkk Ãkife fÞkt rðÄkLkku Mkk[kt Au ?

	 1. National Sports Awards 2021 ytíkøkoík fw÷ 12 ¾u÷ híLk yuðkuzo yuLkkÞík fhðk{kt ykÔÞk níkk.

	 2. National Sports Awards 2021 ytíkøkoík 10 ÿkuýk[kÞo yuðkuzo yuLkkÞík fhðk{kt ykÔÞk.

	 3. �National Sports Awards 2021Lke ÃkMktËøke Mkr{ríkLkk yæÞûk ¼qíkÃkqðo nkufe ¾u÷kze ÄLkhks rÃkÕ÷Þ  
(Dhanraj Pillay) níkk.

	 (A) 1, 2 yLku 3	 (B) Võík 2 yLku 3	 (C) Võík 1 yLku 2	 (D) Võík 1 yLku 3

184.	 íkksuíkh{kt Ãkheûký fhðk{kt ykðu÷ SAAW rðþu Lke[uLkk Ãkife fÞkt rðÄkLkku Mkk[kt Au ?

	 1. �yk Smart Anti Airfield Weapon (SAAW) Ãkheûký DRDO yLku IAF îkhk MkV¤íkkÃkqðof nkÚk Ähðk{kt  
ykÔÞwt níkwt.

	 2. yk Ãkheûký suMk÷{uh{kt [tËLk huLs ¾kíku nkÚk Ähðk{kt ykÔÞwt níkwt.

	 3. �SAAW yu 1000 rf.{e.Lkk [kufMkkEðk¤k ÷ûÞ (precision target) MkkÚku 1250 rf÷kuLkk ðkuhnuz ðnLk  
fhðkLke ûk{íkk Ähkðu Au.

	 (A) 1, 2 yLku 3	 (B) Võík 2 yLku 3	 (C) Võík 1 yLku 3	 (D) Võík 1 yLku 2

185.	 íkksuíkh{kt ÷køkw fhðk{kt ykðu÷ RBI Retail Direct rðþu Lke[uLkk Ãkife fÞkt rðÄkLkku Mkk[kt Au ?

	 1. �RBI retail direct ÞkusLkk yu Mkhfkhe ò{eLkøkehe (securities){kt LkkLkk hkufkýfkhku {kxu hkufkýLkk Mk÷k{ík  
{kæÞ{ íkhefu fk{ fhþu.

	 2. �hkufkýfkhku RBI MkkÚku Mkh¤íkkÚke yLku rðLkk{qÕÞu Mkhfkhe ò{eLkøkehe ¾kíkk ¾ku÷kðe þfþu yLku íkuLke ò¤ðýe  
fhe þfþu.

	 3. LkkLkk hkufkýfkhku fuLÿ MkhfkhLke ò{eLkøkehe{kt MkeÄk s hkufký fhe þfu Au.

	 (A) Võík 1 yLku 2	 (B) Võík 2 yLku 3	 (C) Võík 1 yLku 3	 (D) 1, 2 yLku 3

186.	 MðåA Mkðuoûký yuðkuzTMko 2021 rðþu Lke[uLkk Ãkife fÞkt rðÄkLkku Mkk[kt Au ?

	 1. MðåA Mkðuoûký 2021 ÷øk¼øk 4320 þnuhkuLkwt Mkðuoûký fheLku rðïLkwt MkkiÚke {kuxwt MðåAíkk Mkðuoûký çkLÞwt Au.

	 2. �Íkh¾tzLku 100 Úke ykuAe þnuhe MÚkkrLkf MktMÚkkyku Ähkðíkk hkßÞku{kt ©uc «ËþoLk fhLkkh hkßÞ íkhefu ÃkwhMfkh yuLkkÞík 
fhðk{kt ykÔÞku Au.

	 3. MkkiÚke MðåA hkßÞLke ©uýe{kt A¥keMkøkZu «Úk{ MÚkkLk ò¤ðe hkÏÞwt Au.

	 (A) Võík 1 yLku 2	 (B) Võík 2 yLku 3	 (C) Võík 1 yLku 3	 (D) 1, 2 yLku 3

187.	 ¼khík MkhfkhLkk fkÞo¢{ Wings India 2022 rðþu Lke[uLkk Ãkife fÞkt rðÄkLkku Mkk[kt Au ?

	 (A) yk fkÞo¢{ “India @ 2030 : New Horizon for Aviation Industry” rð»kÞ Ãkh ÞkuòÞku níkku.

	 (B) �Wings India, 2022 yu yurþÞk{kt Lkkøkrhf WœÞLk (ÔÞkÃkkhe, Mkk{kLÞ yLku ÔÞðMkkrÞf WœÞLk) (Commercial, 
General and Business Aviation) WÃkhLkku MkkiÚke {kuxku fkÞo¢{ Au.

	 (C) (A) yLku (B) çktLku

	 (D) (A) yLku (B) çktLku Ãkife yufÃký Lknª
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183.	 Which of the following statements are correct regarding national Sports Awards 2021?
	 1. Total 12 Khel Ratna Awards were awarded under National Sports Awards 2021
	 2. 10 Dronacharya awards were awarded under National Sports Awards 2021
	 3. �The selection committee of the National Sports Awards 2021 was headed by the former hockey 

player Dhanraj Pillay
	 (A) 1, 2 and 3	 (B) 2 and 3 only	 (C) 1 and 2 only	 (D) 1 and 3 only

184.	 Which of the following statements are correct regarding recently test-fired SAAW?
	 1. This Smart Anti Airfield Weapon (SAAW) was successfully carried out by the DRDO and IAF
	 2. The test was conducted at the Chandan ranges in Jaisalmer
	 3. The SAAW is capable of carrying a warhead of 1250 KGs with precision target of 1000 Kms
	 (A) 1, 2 and 3		  (B) 2 and 3 only
	 (C) 1 and 3 only		  (D) 1 and 2 only

185.	 Which of the following statements are correct regarding recently launched RBI Retail Direct?
	 1. �RBI retail direct scheme will act as a safe medium of investment for small investors in government 

securities
	 2. �Investors will be able to open and maintain government securities account online easily & free 

of cost with the RBI.
	 3. Small investors can invest in the Central Government Securities only
	 (A) 1 and 2 only		  (B) 2 and 3 only
	 (C) 1 and 3 only		  (D) 1, 2 and 3

186.	 Which of the following statements are correct regarding Swachh Survekshan Awards 2021?
	 1. �Swachh Survekshan 2021 has become the world’s largest cleanliness survey by surveying around 

4320 cities.
	 2. �Jharkhand has been awarded as the best-performing state among states with less than 100 

urban local bodies
	 3. �Chhattisgarh retained the first position in the Cleanest State Category.
	 (A) 1 and 2 only		  (B) 2 and 3 only
	 (C) 1 and 3 only		  (D) 1, 2 and 3

187.	� Which of the following statement(s) is/are correct regarding Wings India 2022, A government of 
India’s programme?

	 (A) The event was held under the theme: “India@2030: New Horizon for Aviation Industry”
	 (B) �Wings India, 2022 is the largest event on Civil Aviation (Commercial, General and Business 

Aviation) in Asia
	 (C) Both (A) and (B)
	 (D) Neither (A) nor (B)
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188.	� ¼khíkLkku Mkðo«Úk{ Laser Interferometer Gravitational-Wave Observatory (LIGO) WÃk¢{ yu .......... 
¾kíku MÚkÃkkLkkh Au.

	 (A) fýkoxf	 (B) økwshkík	 (C) {nkhk»xÙ	 (D) fuh¤

189.	� Food Safety and Standards (Genetically Modified or Engineered Foods) Regulations, 2021 (¾kã 
Mkwhûkk yLku Äkuhýku (ykLkwðtrþf heíku MktþkurÄík yÚkðk yuLSLkeÞzo ¾kuhkf) rLkÞ{Lkku, 2021) Ëh¾kMík rðþu Lke[uLkk Ãkife 
fÞkt rðÄkLkku Mkk[kt Au ?

	 1. �íku ykLkwðtrþf heíku MktþkurÄík Sðku (Genetically Modified Organisms (GMOs)), ykLkwðtrþf heíku yuLSLkeÞzo 
Sðku yLku Sðtík MktþkurÄík SðkuLku ÷køkw Ãkzu Au.

	 2. �fkuEÃký ÔÞÂõík Ãkqðo {tsqhe rðLkk ykLkwðtrþf heíku MktþkurÄík Sðku{ktÚke {u¤ðu÷k fkuEÃký ¾kãÃkËkÚko, yÚkðk ¾kã 
Mkk{økúeLkwt WíÃkkËLk, Mktøkún, ðu[ký, rðíkhý yÚkðk ykÞkík fhe þfu Au.

	 3. �Food Safety and Standards Act, 2006Lke f÷{ 43 (Section 43)Úke fkuEÃký ÷uçkLku ykLkwðtrþf heíku MktþkurÄík 
¾kã rLkheûký ÷uçk (Genetically Modified Foods Testing Lab) íkhefu rLkÞwõík fhe þfkÞ Au.

	 (A) 1, 2 yLku 3	 (B) Võík 2 yLku 3	 (C) Võík 1 yLku 2	 (D) Võík 1 yLku 3

190.	 Lke[uLkk Ãkife fÞk MktÞwõík hk»xÙLkk ‘Clean Ocean Manifesto’ (MðåA {nkMkkøkh ½ku»kýkÃkºk)Lkk çku æÞuÞku Au ?

	 1. ËrhÞkE f[hku (marine debris) 20 Úke 50 xfk ½xkzðku.

	 2. �ðirïf rðMíkkh y™u rLkheûkfLke ykÄwrLkf xufLkku÷kuSðk¤e «ýk÷e (Globe circling & high-tech system of 
monitors)

	 3. ykforxf yLku yuLxkforxfLku Ãkeøk¤íkk yLku Mk{wÿLkk MíkhkuLku Ÿ[k síkk yxfkððk.

	 (A) Võík 1 yLku 2	 (B) Võík 2 yLku 3	 (C) Võík 1 yLku 3	 (D) 1, 2 yLku 3

191.	 UNESCO fkhkuçkkhe Mk¼k rðþu Lke[uLkk Ãkife fÞkt rðÄkLkku Mkk[kt Au ?

	 1. ¼khík 164 {íkku MkkÚku UNESCO Lke fkhkuçkkhe Mk¼k{kt VheÚke [qtxkÞwt.

	 2. fkhkuçkkhe Mk¼k 10 sqÚkku Ähkðu Au, ¼khík sqÚk VI {kt ykðu Au.

	 3. òÃkkLk, rðÞuxLkk{, Ve÷eÃkkELMk, fqf (Cook) rîÃk Mk{qnku yLku [eLk Ãký [qtxkÞk níkk.

	 (A) 1, 2 yLku 3	 (B) Võík 1 yLku 3	 (C) Võík 2 yLku 3	 (D) Võík 1 yLku 2

192.	� hrþÞk îkhk fhðk{kt ykðu÷ yuLxe-Mkuxu÷kEx Ãkheûký (Anti-Satellite test) rðþu Lke[uLkk Ãkife fÞwt / fÞkt rðÄkLk / 
rðÄkLkku Mkk[wt / Mkk[kt Au ?

	 (A) �hrþÞk îkhk direct-ascent anti-satellite (DA-ASAT) r{MkkE÷ Ãkheûký fhðk{kt ykÔÞwt yLku COSMOS 
1408 Lkk{Lkk WÃkøkún MkkÚku xfhkE níke.

	 (B) �hrþÞkLke «Úk{ direct ascent anti-satellite missile PL-19 Nudol íkhefu yku¤¾kÞ Au íkuLkwt 2020{kt Ãkheûký 
fhðk{kt ykÔÞwt.

	 (C) (A) yLku (B) çktLku

	 (D) (A) yLku (B) çktLku Ãkife yufÃký Lknª
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188.	� India’s first Laser Interferometer Gravitational-Wave Observatory (LIGO) venture is going to be 
established in _______.

	 (A) Karnataka		  (B) Gujarat

	 (C) Maharashtra		  (D) Kerala

189.	� Which of the following statements are correct regarding Draft Food Safety and Standards 
(Genetically Modified or Engineered Foods) Regulations, 2021?

	 1. �It is applicable to Genetically Modified Organisms (GMOs), Genetically engineered organisms 
and living modified organisms

	 2. �Any person can manufacture, store, sell, distribute, or import any food or food ingredient 
derived from Genetically Modified Organisms without prior approval

	 3. �The Section 43 of Food Safety & Standards Act, 2006 can designate any lab as Genetically 
Modified Foods Testing lab

	 (A) 1, 2 and 3		  (B) 2 and 3 only

	 (C) 1 and 2 only		  (D) 1 and 3 only

190.	 Which of the following are the two aims of “Clean Ocean Manifesto” of United Nations?

	 1. Reducing marine debris by 20-50 per cent

	 2. Globe circling & high-tech system of monitors

	 3. Protecting the Arctic and Antarctica from melting and preventing ocean high levels

	 (A) 1 and 2 only		  (B) 2 and 3 only

	 (C) 1 and 3 only		  (D) 1, 2 and 3

191.	 Which of the following statements are correct regarding UNESCO Executive board?

	 1. India got reelected to UNESCO executive board with 164 votes.

	 2. There are total 10 groups of executive board, India belongs to group VI

	 3. Japan, Vietnam, Philippines, Cook Islands and China were also elected

	 (A) 1, 2 and 3		  (B) 1 and 3 only

	 (C) 2 and 3 only		  (D) 1 and 2 only

192.	 Which of the following statement(s) is/are correct regarding Anti-Satellite test by Russia?

	 (A) �A direct-ascent anti-satellite (DA-ASAT) missile was tested by Russia and stuck the satellite 
called COSMOS 1408

	 (B) Russia’s First ever direct ascent anti-satellite missile called PL-19 Nudol, was test-fired in 2020

	 (C) Both (A) and (B)

	 (D) Neither (A) nor (B)
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193.	 ¼khík MkhfkhLkk E-Shram rðþu Lke[uLkk Ãkife fÞkt rðÄkLkku Mkk[kt Au ?

	 1. íku ¼khíkLkk yMktøkXeík fk{Ëkhku (unorganised workers)Lkku «Úk{ fuLÿeÞf]ík zuxkçkuÍ Au.

	 2. LkðuBçkh 2021 MkwÄe{kt ytËksu 8 fhkuz LkkUÄýe ÚkE [qfe Au.

	 3. LkkUÄýe{kt 40.5% OBC, 27.4% General, 23.7% SC yLku 8.3% ST fuxuøkheLkk Au.

	 4. yk LkkUÄýe{kt 50%Úke ðÄw LkkUÄýe ykiãkurøkf ûkuºk{kt Au.

	 (A) 1, 2, 3 yLku 4		  (B) Võík 2, 3 yLku 4

	 (C) Võík 1, 2 yLku 3		  (D) Võík 1 yLku 4

194.	� ¼khík MkhfkhLkk ED íkÚkk CBILkk ðzkyku rðþu íkksuíkh{kt òhe fhkÞu÷k ðxnwf{ çkkçkíku Lke[uLkk Ãkife fÞwt / fÞkt rðÄkLk 
/ rðÄkLkku Mkk[wt / Mkk[kt Au ?

	 (A) �fuLÿeÞ Mkíkfoíkk ykÞkuøk (MkwÄkhk) ðxnwf{, 2021 yLkwMkkh EDLkk rLkËuoþfLkku fkÞofk¤ yuf Mk{Þu 2 ð»ko MkwÄe ÷tçkkðe 
þfkÞ Au.

	 (B) �ðxnwf{ CBI yLku EDLkk ðzkLku 2 ð»koLkku hkçkuíkk {wsçkLkku fkÞofk¤ Ãkqhku fÞko ÃkAe ðÄw{kt ðÄw ºký ð»ko MkwÄe (allow 
the extension of up to a maximum of three years to the CBI and ED chiefs after the completion 
of their normal tenure of 2 years) ÷tçkkððkLke {tsqhe ykÃku Au.

	 (C) (A) yLku (B) çktLku

	 (D) (A) yLku (B) çktLku Ãkife yufÃký Lknª

195.	 Smart Policing Index 2021 rðþu Lke[uLkk Ãkife fÞkt rðÄkLkku Mkk[kt Au ?

	 1. yk Mkðuo Indian Police Foundation fu su rçkLk Mkhfkhe MktMÚkk Au íkuLkk îkhk nkÚk Ähðk{kt ykÔÞku níkku.

	 2. yk Mkq[fktf (Index){kt yktÄú«Ëuþ yLku íku÷tøkkýk xku[Lkk «Úk{ yLku rîíkeÞ ¢{u ykÔÞk níkk.

	 3. fuh¤ MkkiÚke ytrík{ MÚkkLku níkwt.

	 4. 2015{kt LkhuLÿ {kuËe îkhk Smart PolicingLke MktfÕÃkLkk þY fhðk{kt ykðe níke.

	 (A) 1, 2, 3 yLku 4		  (B) Võík 2, 3 yLku 4

	 (C) Võík 3 yLku 4		  (D) Võík 1 yLku 2

196.	� «ÄkLk{tºke LkhuLÿ {kuËeyu Sydney Dialogue 2021Lku MktçkkurÄík fÞko. yk MktçkkuÄLkLkku {wÏÞ rð[kh (theme) ........ 
níkk.

	 (A) ¼khíkLke íkfLkefe Wí¢ktrík yLku ¢ktrík (India’s Technology Evolution and revolution)

	 (B) �rðïLkwt {qÕÞktfLk fhðk {kxu ¼khíkLke íkfLkefe Wí¢ktrík (India’s Technological Evolution to evaluate the 
world)

	 (C) yktíkhhk»xÙeÞ rðfkMk {kxu ¼khíkLke íkfLkefe (India’s Technology for International Development)

	 (D) yktíkhhk»xÙeÞ Wí¢ktrík {kxu ¼khíkLke íkfLkefe (India’s Technology for International Evolution)
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193.	 Which of the following statements are correct regarding E-Shram of Government of India?

	 1. It is India’s first centralised database of unorganised workers

	 2. Approximately 8 crore registrations have been made till November 2021

	 3. �In the registrations 40.5% belong to OBCs, 27.4% General category, 23.7% SCs and  
8.3% to STs.

	 4. In this registrations more than 50% registrations are in the Industrial sector

	 (A) 1, 2, 3 and 4

	 (B) 2, 3 and 4 only

	 (C) 1, 2 and 3 only

	 (D) 1 and 4 only

194.	� Which of the following statement(s) is/are correct regarding recent Ordinances regarding ED and 
CBI chiefs by government of India?

	 (A) �According to The Central Vigilance Commission (Amendment) Ordinance, 2021, the tenure of 
the director of ED can be extended upto 2 years at a time.

	 (B) �The ordinances allow the extension of up to a maximum of three years to the CBI and ED 
chiefs after the completion of their normal tenure of 2 years

	 (C) Both (A) and (B)

	 (D) Neither (A) nor (B)

195.	 Which of the following statements are correct regarding Smart Policing Index 2021?

	 1. This survey was done by Indian Police Foundation which is a Non governmental organization

	 2. In this index Andhra Pradesh and Telangana topped 1st and 2nd

	 3. Kerala Stood in the last position

	 4. The Smart policing idea was initiated by Narendra Modi in 2015

	 (A) 1, 2, 3 and 4

	 (B) 2, 3 and 4 only

	 (C) 3 and 4 only

	 (D) 1 and 2 only

196.	� Prime Minister Narendra Modi has addressed the Sydney Dialogue 2021, the address was on the 
theme of _______.

	 (A) India’s Technology Evolution and Revolution

	 (B) India’s Technological Evolution to evaluate the world

	 (C) India’s Technology for International Development

	 (D) India’s Technology for International Evolution
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197.	� Badminton World Federation îkhk yuLkkÞík fhkÞu÷ Life time Achievement 2021 yuðkuzo íkksuíkh{kt fÞk 
¼khíkeÞ Badminton ¾u÷kzeyu «kÃík fÞkuo Au ?

	 (A) {nuþ ¼qÃkrík (Mahesh Bhupati)	 (B) ÷eyuLzh ÃkuMk (Leander Paes)

	 (C) MkkÞLkk Lkunðk÷ (Saina Nehwal)	 (D) WÃkhkuõík Ãkife fkuE Lknª.

198.	 World Children’s Day 2021 rðþu Lke[uLkk Ãkife fÞkt rðÄkLkku Mkk[kt Au ?

	 1. Ëh ð»kuo 20{e LkðuBçkh MktÞwõíkhk»xÙ World Children’s Day íkhefu {Lkkðu Au.

	 2. World Children’s Day 2021Lkku {wÏÞ rð[kh “A better future for every child” Au.

	 3. 1960Úke «ríkð»ko 20{e LkðuBçkhLkk hkus World Children’s Day ðkŠ»kf heíku {Lkkððk{kt ykðu Au.

	 (A) 1, 2 yLku 3		  (B) Võík 1 yLku 2

	 (C) Võík 2 yLku 3		  (D) Võík 1 yLku 3

199.	 Lke[uLkk Ãkife fÞkt rðÄkLkku Mkk[kt Au ?

	 1. �Jaguar Aircraft SimulatorsLkk WíÃkkËLk {kxu ¼khík Mkhfkhu Hindustan Aeronautics Limited MkkÚku fhkh 
WÃkh nMíkkûkh fÞko Au.

	 2. «Úk{ Simulator ò{Lkøkh ¾kíku yLku çkeswt økkuh¾Ãkwh ¾kíku MÚkÃkkþu.

	 3. yk Simulators yu Euro Fighter Typhoon Lke MknkÞÚke rðfMkkððk{kt ykðþu.

	 (A) Võík 2 yLku 3		  (B) Võík 1 yLku 3

	 (C) Võík 1 yLku 2		  (D) 1, 2 yLku 3

200.	� World Bank’s Remittance Prices Worldwide database (rðï çkUfLkku «ur»kík hf{ ®f{íkkuLkku rðï¼hLkku 
zuxkçkuÍ) rðþu Lke[uLkk Ãkife fÞkt rðÄkLkku Mkk[kt Au ?

	 1. �yk ynuðk÷ yLkwMkkh 2021{kt 87 rçk÷eÞLk zku÷hLke «ur»kík hf{ (remittances) «kÃík fheLku ¼khík rðïLkku MkkiÚke 
{kuxku «ur»kík hf{ (remittances) «kÃík fhLkkh Ëuþ çkLÞku Au.

	 2. yk ¼tzku¤Lkk 20% Vk¤k MkkÚku Þw.yuMk.yu. MkkiÚke {kuxku Mºkkuík Au.

	 3. ¼khík ÃkAe [eLk, {uõMkefku, rV÷eÃkkELMk yLku ESÃíkLkku ¢{ ykðu Au.

	 (A) 1, 2 yLku 3		  (B) Võík 2 yLku 3

	 (C) Võík 1 yLku 2		  (D) Võík 1 yLku 3
________________________
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197.	� Who among the following Indian Badminton players recently received the Lifetime Achievement 
Award 2021 by the Badminton World Federation?

	 (A) Mahesh Bhupati		  (B) Leander Paes

	 (C) Saina Nehwal		  (D) None of the above

198.	 Which of the following statements are correct regarding World Children’s Day 2021?

	 1. The United Nations observes the World Children’s Day on 20th November of every year

	 2. The theme of the world Children’s day 2021 is “-A better future for every child”

	 3. World children’s day is annually observed on 20th November of every year since 1960

	 (A) 1, 2 and 3		  (B) 1 and 2 only

	 (C) 2 and 3 only		  (D) 1 and 3 only

199.	 Which of the following statements are correct?

	 1. �Indian Government has signed an agreement with Hindustan Aeronautics Limited to produce 
Jaguar Aircraft simulators

	 2. The first simulators will be established at Jamnagar and second will be at Gorakhpur

	 3. These simulators will be developed with the help of Euro fighter Typhoon

	 (A) 2 and 3 only		  (B) 1 and 3 only

	 (C) 1 and 2 only		  (D) 1, 2 and 3

200.	� Which of the following statements are correct regarding World Bank’s Remittance Prices 
Worldwide database?

	 1. �According to the report India became the world’s largest recipient of remittances by receiving 
87 billion dollars in 2021

	 2. The USA is the biggest source accounting for 20% of these funds

	 3. India is followed by China, Mexico, Philippines and Egypt

	 (A) 1, 2 and 3		  (B) 2 and 3 only

	 (C) 1 and 2 only		  (D) 1 and 3 only

_____________________
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